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Section-I : 60 minutes 

Mathematical Abilities  

1. After striking a floor, a rubber ball rebound (4/5th) of 
the height from which it has fallen. Find the total 
distance (in meters) that it covers before coming to 
rest, if it is gently dropped from a height of 100 
meters. 
(A) 900 metres  (B) 800 metres 
(C) 720 metres  (D) 640 metres 
 

2. A and B can do a task alone in 25 and 40 days, 
respectively. Now according to a new method, they 
work on alternate days with A starting the work and 
after every 2 days of work, they take 1 day holiday 
and after holiday the person who worked on the last 
day before holiday resumes the work. With this 
method, how many days will they take to complete 
whole task? 
(A) 45 days  (B) 46 days 
(C) 54 days  (D) 53 days 
 

3. Four numbers are such that when average of any of 
the three numbers is added with the remaining fourth 
number, the numbers obtained are 348, 380, 420 and 
364 respectively find the largest number among them. 
(A) 192   (B) 252 
(C) 168   (D) 144 
 

4. A trader bought an article for Rs. 900. He sells this 
article at a discount of 10% and thereby makes a 
profit of 25%. What was the marked price of the 
article? 
(A) Rs. 1250  (B) Rs. 1650 
(C) Rs. 1125  (D) Rs. 1450 
 

5. The price of wheat goes down by 10% and so a 
customer is able to buy 5 kg more wheat for Rs 270. 
What was the difference between the original and 
reduced price of wheat per kg? 
(A) 80-paise  (B) Rs. 1.2 
(C) 40-paise  (D) 60-paise 
 

6. Rajiv took a loan of certain amount from a bank 
offering a compound interest of 12% p.a. 
compounded annually, for 3 years. At the end of 
second year, he paid Rs. 5197 and cleared all his 
dues by paying Rs. 1204 at the end of third year. Find 
the amount of loan taken by Rajiv. 
(A) Rs. 4500  (B) Rs. 8000 
(C) Rs. 5000  (D) Rs. 6000 
 

7. In the given figure ABCD is a rectangle in which AB = 
8 cm and AD = 2 cm. What is the area of the shaded 
region? 

 
(A) 8 cm2  (B) 4 cm2 
(C) 6.4 cm2  (D) 7.2 cm2 

 
8. A tangent of length 16 cm, drawn from point P, is 

touching a circle at point Q, and the distance between 
the point P and the centre of circle is 20 cm, find the 
radius of the circle. 
(A) 15 cm  (B) 12 cm 
(C) 18 cm  (D) 22 cm 

9. If a right rectangular prism has faces with areas 35 
cm2 and 56 cm2, and volume of the prism being 280 
cm3, then what is the surface area (in cm2) of the 
prism? 
(A) 262 cm2  (B) 254 cm2 
(C) 264 cm2  (D) 248 cm2 

 
10. A regular hexagon has side 20 cm each. What is the 

enclosed area of the largest equilateral triangle which 
will fit inside this hexagon? 
(A) 300√3 cm2  (B) 240√3 cm2 
(C) 200√3 cm2  (D) 360√3 cm2 

 
11. The value of [secx(1 – sinx)(sinx + cosx)(secx + 

tanx)]/[sinx(1 + tanx) + cosx(1 + cotx)]. 
(A) sinxcosx  (B) 2sinx 
(C) cosecxsecx  (D) 2cosx 
 

12. If x3 – 3x2 + 4x + 2 = 0 has roots p, q and r, then what 
is the value of 1/p + 1/q + 1/r? 
(A) -2   (B) 0 
(C) 2   (D) -1 
 

Direction: (13-15): The given bar graph shows the imports (in 
kg) and exports (in kg) of steel by a country from 
2013 to 2017. 

 

 
 

13.  What is the ratio of total imports of steel in 2013 and 
2015 together to total exports of steel in 2014 and 
2016 together? 
(A) 7:8   (B) 8:7 
(C) 7:6   (D) 6:7 
 

14.  Total amount of imports of steel in 2014 and 2016 
together is how much percent more/less than total 
amount of export of steel in 2017? 
(A) 43.33%  (B) 46.67% 
(C) 42.44%  (D) 45.67% 
 

15. What is the difference between average quantity of 
imports and exports of the steel between 2013 and 
2017? 
(A) 22/3 kg  (B) 32/3 kg 
(C) 0 kg   (D) 9 kg 
 

16. The coordinates of a triangle are A(2, 5), B(-2, 3) and 
C (0, -3); then find the equation of the median AD? 
(A) 8x – 5y + 3 = 0 (B) 6x – 3y + 4 = 0 
(C) 5x – 3y + 5 = 0 (D) 4x – 2y + 7 = 0 
 

17. The smallest integer for which the inequality {(x – 
5)/(x2 + 2x – 35)} > 0 is true is: 
(A) 0   (B) -6 
(C) -5   (D) -7 
 

http://bit.ly/TesMusPrime
https://tesmus.com/


SSC_CGL_MAINS_ 2023                             TEST ID – LBL - 897013232 

 

 

 

App :- http://bit.ly/TesMusPrime                       3 | P a g e                 Web :- https://tesmus.com  

18. A ladder 3.8 metres long is standing against a wall 
and the foot of the ladder is 3.2 metres away from the 
foot of the wall. If the top of the ladder now slips by 
0.6 metres, then the foot of the ladder shifts 
approximately by: 
(A) 0.16 metres  (B) 0.31 metres 
(C) 0.88 metres  (D) 1.02 metres 
 

19. A boat is being rowed away in still water, from a 420 
m high cliff at the speed of 6 km/h, what is the 
approximate time taken for the angle of depression of 
the cliff of the boat to change from 60º to 45º? (Take 
√3 = 1.732) 
(A) 2 minutes  (B) 5 minutes 
(C) 8 minutes  (D) 12 minutes 
 

20. If a = 997, b = 998 and c = 999 then, find the value of 
a3 + b3 + c3 – 3abc. 
(A) 8982   (B) 10000 
(C) 7925   (D) 9999 
 

21.  The height, length and width of room is 8 metres, 12 
metres and 6 metres, respectively. Find the cost 
painting the four walls of the room if the cost of 
painting an area of 12 m2  is Rs. 100. 
(A) Rs. 28,800  (B) Rs, 14,400 
(C) Rs. 2,400  (D) Rs. 4,200 
 

22.  Find the ratio of mean proportional of ‘4’ and ‘9’ to the 
fourth proportional of ‘3’, ‘5’ and ‘6’. 
(A) 5:6   (B) 1:4 
(C) 2:3   (D) 3:5 
 

23. A number leaves 17 as remainder when divided by 
754. If the same number is divided by 13, then which 
of the following would be the remainder? 
(A) 4   (B) 8 
(C) 2   (D) 0 
 

24. A sum when invested at compound interest of 20% 
p.a., compounded annually amounts to Rs. 9,936 
after (11/4) years. Find the sum invested. 
(A) Rs. 5,400  (B) Rs. 6,000 
(C) Rs. 7,200  (D) Rs. 6,400 
 

25.  Ratio of marked price and cost price of an article is 
5:4, respectively. If the article is sold after giving a 
discount of 12% such that there is a profit of Rs. 40, 
then find the marked price of the article. 
(A) Rs. 800  (B) Rs. 500 
(C) Rs. 750  (D) Rs. 660 
 

26.  Find the simplified value of: 

√41 + 12√5 v 
(A) (6 – √5)  (B) (6 + √5) 
(C) (2 + √3)  (D) (3 – √2) 
 

27.  If length of the diagonal BD of a square ABCD is 12.5 
cm, then find the area of the square. 
(A) 75.525 cm2  (B) 82.50 cm2 
(C) 78.125 cm2  (D) 80.125 cm2 

 
28.  Find the value of {cot10o × cot200o × cot 60o × cot 

80o × cot70o} 
(A) (1/√3)  (B) 1 
(C) √3   (D) 0 
 

29.  Rakesh spends 50% of his income. If his income is 
increased by 20% while his expense is increased by 
8%, then find the percentage change in his savings. 
(A) 12%   (B) 32% 
(C) 25%   (D) 18% 

30.  ABCD is an isosceles trapezium where AB||DC. If AB 
= 4 cm, DC = 8 cm and area of trapezium is 9 cm2, 
then find the height of the trapezium. 
(A) 1.25 cm  (B) 1.50 cm 
(C) 1.75 cm  (D) 2.00 cm 

Reasoning and General Intelligence 

31. Select the option that most correctly resembles the 
mirror image of the given figure when a mirror is 
placed to its right side. 

 

(A)    

(B)  

(C)    

(D)  
 

32. Find out from amongst the four alternatives I, II, III 
and IV, as to how the pattern would appear on the 
sheet when the sheet is folded at the dotted line 
and is punched as shown. 

 

(A)  (B)  

(C)  (D)  
 

33. Select the option that is related to the fifth number 
in the same way as the second number is related 
to the first number and the fourth number is related 
to the third number. 
27:53:: 84:80::96:? 
(A) 117   (B) 105 
(C) 140   (D) 118 
 

34. Select the option that is related to the third letter 
cluster in the same way as the second letter cluster 
is related to first letter cluster. 
EGIK: HKNQ:: JLNP:? 
(A) LORU  (B) MPRV 
(C) MRSU  (D) MPSV 
 

35. Alex walked for 4 m towards the north from point A 
then he took a right turn and walked for 6 m. Finally 
he took a right turn and reached point C which is to 
the east of point A. Ron started walking to the 
south from point B and walked for the half of the 
shortest distance between points A and C. He took 
a right turn and walked for 9m. Finally he took a 
right turn to reach point C which is to the west of B. 
What is the difference of distances walked by both? 
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(A) 15 m   (B) 1 m 
(C) 7 m   (D) 11 m 
 

36. K's father G is A's brother. M, who is A's sister-in-
law, is R's daughter. T has two sons only. K is 
granddaughter of R. A, who is a male, has only one 
sibling. How is M related to T? 
(A) Sister  (B) Niece 
(C) Granddaughter (D) Daughter-in-law 
 

37. In a certain code language, 'cure and heal' is coded 
as '219', 'heal the scar' is coded as '509', then what 
is the code for the word 'heal'? 
(A) 2   (B) 1 
(C) 0   (D) 9 
 

38. In a coded language, RETAIN is coded as 24, 
BESIDES is coded as 35 and PROCEDURE is 
coded as 63, then what is the code for GIVEN ? 
(A) 8   (B) 15 
(C) 24   (D) 80 
 

39. In the following question, correct the equation by 
interchanging two numbers on the same side. 
120 ÷ 3 + 14 x 4 - 11 = 100 - 15 x 26 ÷ 13 
(A) 11 and 14  (B) 15 and 13 
(C) 3 and 4  (D) 100 and 26 

 
40. What day of the week was 17 September, 2012? 

(A) Saturday  (B) Thursday 
(C) Sunday  (D) Monday 
 

41. In the following question, a dice has six faces 4, 6, 
8, s, t and u. Four positions of the same cube are 
given. What will be on the bottom face if '6' is at the 
top of the cube? 

 
  (A) 8   (B) u 

(C) t   (D) 4 
 

42. In the question below, two statements are given 
followed by conclusions: I, II and III. You have to 
take the given statements to be true even if they 
seem to be at variance from commonly known 
facts. Read the conclusions and decide which of 
the given conclusions logically follows from the 
given statements disregarding commonly known 
facts. 
Statements: All wants are wishes. 
No need is a want. 
Conclusions: I. Some wishes are not needs. 
II. No need is a wish. 
(A) Only I follows (B) Only II follows 
(C) Both I and II follow (D) Either I or II follows 
 

43. In the question below, two statements are given 
followed by conclusions: I, II and III. You have to 
take the given statements to be true even if they 
seem to be at variance from commonly known 
facts. Read the conclusions and decide which of 
the given conclusions logically follows from the 
given statements disregarding commonly known 
facts. 
Statements: Some leaflets are pamphlets. 
No pamphlet is a page. 
Conclusions: I. All pamphlets are leaflets. 
II. No page is a leaflet. 
III. Some leaflets are pages. 
 

(A) Only I follows (B) Either I or III follows 
(C) Only I and II follow (D) Either II or III follows 
 

44. Select the term that will replace the question mark 
(?) in the following series. 
BEF, HIJ, ? , TQR, ZUV 
(A) OLM   (B) LNO 
(C) NMN  (D) LMN 
 

45. Select the missing number from the given options. 

 
(A) 10   (B) 9 
(C) 7   (D) 5 
 

46. Six different coloured boxes have different sizes. Red 
is larger than at least two boxes. Black is smaller than 
both green and white ones. Orange is smaller than 
red and yellow. White is larger than green. Only two 
boxes are larger than black one. Which of the 
following is correct? 
(A) Orange box is larger than green box 
(B) White box is smaller than only one box 
(C) Green box is smaller than red box  
(D) Yellow box is larger than only one box 
 

47. Three of the following four number-pairs are alike 
in a certain way and one is different. Find the odd 
one out. 
(A) 8 : 70  (B) 13: 175 
(C) 9 : 90  (D) 11 : 127 
 

48. In the question below, a statement is given followed 
by two conclusions. You have to take the given 
statements to be true even if they seem to be at 
variance from commonly known facts. Decide which 
of the conclusions logically follows. 
Most of the athletes are swimmers. Some swimmers 
are artists. 
Conclusion I: No athlete can be an artist. 
Conclusion II: Some swimmers are athletes. 
(A) Only conclusion I follows   
(B) Only conclusion II follows 
(C) Both conclusions follow   
(D) Neither conclusion I nor conclusion II follows 
 

49. Arrange the following words in a logical and 
meaningful order: 
(1) Prescription  (2) Physiotherapist 
(3) Accident  (4) Rest 
(5) Medicine  (6) Injury 
(A) 3,6,2,5,1,4  (B) 3,6,2,1,4,5 
(C) 3,6,2,1,5,4  (D) 3,6,4,2,1,5 

 
50. A series is given with one term missing. Choose 

the correct alternative from the given ones that will 
complete the series. 
BBBBBBOB, BBBOBBBB, BBBBBOBB, 
BBOBBBBB, BBBBOBBB 
(A) BBBBBOBB  (B) BBBBBBOB 
(C) BBBBBBBO  (D) BOBBBBBB 
 

51. 110 soldiers are standing in a queue from front to 
end. A's position from the front is 56 th. What is A's 
position from the end of the given queue? 
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(A) 55th   (B) 54th 
(C) 56th   
(D) Cannot be determined 
 

52. In the question below, three statements are given 
followed by conclusions: I and II. You have to take 
the given statements to be true even if they seem 
to be at variance from commonly known facts. 
Read the conclusions and decide which of the 
given conclusions logically follows from the given 
statements disregarding commonly known facts. 
Statements: All mats are toys. 
No gloss are mats. 
Conclusions: I. Some toys are mats. 
II. Some toys are not gloss. 
(A) Only I follows.   
(B) Both I and II follow. 
(C) Either I or II follows.   
(D) None of the conclusions follow 
 

53. In the question below, there are two statements 
followed by an inference. Mark the correct option 
accordingly. 
(a) It is easier to move goods from foreign 
countries to India than to move goods from state to 
state within India itself.  
(b) Indian government has reduced tariffs for 
imported goods. 
Inference: Foreign companies are investing a lot in 
India. 
(A) The inference is definitely true.  
(B) The inference is definitely false. 
(C) The inference is probably true or false. 
(D) The inference cannot be drawn. 

 
54. Three of the following letter pairs are similar in 

some manner and one is different. Find the odd 
one. 
(A) CFI   (B) EJO 
(C) BDF   (D) DHP 
 

55. Three sisters and three brothers of a family are sitting 
in a linear row such that the sisters are facing north 
while the brothers are facing south. W is sitting to the 
immediate right of her brother. H is sitting at one of 
the corners. G is not facing south direction. O is 
sitting second to the left of Y. O is facing south. Two 
persons are sitting to the right of G. G is not the 
brother of W. Y is adjacent to neither H nor N. One 
person is sitting in between N and G who are facing 
toward opposite directions. Which of the following is 
the set of sisters? 
(A) H, W and G  (B) N, O and H 
(C) Y, G and W  (D) G, W and N 
 

56. Two positions of the same cube are shown below. 
Which number appears on the face opposite to the 
number 2? 

 
(A) 2   (B) 3 
(C) 1   (D) 4 
 

57. Arrange the following words as per the order in the 
dictionary. 
1. Wagnor  2. Wagged 
3. Wabash  4. Waggon 
5. Wackily 
(A) 3 5 2 1 4  (B) 3 5 1 4 2 
(C) 3 2 1 4 5  (D) 3 5 2 4 1 

58. A word is represented by only one set of numbers 
as given in any one of the alternatives. The sets of 
numbers given in the alternatives are represented 
by two classes of alphabets as in two matrices 
given below. The columns and rows of Matrix I are 
numbered from 0 to 4 and that of Matrix II are 
numbered from 5 to 9. A letter from these matrices 
be represented first by its row and next by its 
column. e.g. 'A' can be represented by 01, 14 etc. 
and 'M' can be represented by 56, 68 etc. Similarly, 
you have identify the set for the word 'GRAVEL'. 
(MATRIX) 

MATRIX I 

 0 1 2 3 4 

0 M G R O L 

1 O R L G M 

2 G O M L R 

3 R L O M G 

4 L M G R O 

 
MATRIX II 

 5 6 7 8 9 

5 P A D V E 

6 V E P A D 

7 A P E D V 

8 E D V P A 

9 D V A E P 

(A) 20,24,97,66,65,40 (B) 01, 02,75,79,96,31 
(C) 13,02,65,89,75,40 (D) 42,24,75,58,59,23 
 

59. Kritika is as many years older than Shikha as she 
is younger than Mukul. Sum of present ages of 
Kritika, Shikha and Mukul is 63 years. If age of 
Mukul after 11 years is 39 years, then what is the 
difference between present ages of Mukul and 
Shikha? 
(A) 12 years  (B) 10 years 
(C) 14 years  (D) 16 years 
 

60.  Which of the following will be a leap year? 
(A) 3402  (B) 3156 
(C) 3398  (D) 3262 
 

Space For Rough Work 
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Section-II : 60 minutes 

English Language and Comprehension 

61. In the following question, one part of the sentence 
may have an error. Find out which part of the 
sentence has an error and select the appropriate 
option. If a sentence is free from error, select ‘No 
Error’ as your answer. 
He made a few (A)/ extra money by writing (B)/ 
stories for a local (C)/ science fiction magazine. (D) 
(A) A   (B) C 
(C) B   (D) D 
 

Directions: (62-66): Read the following passage carefully and 
answer the questions. 

 
Civil, foreign and World Wars were fought in a period 
when even the toughest armor could not stop the 
most lethal weapon. At the turn of the century, it is 
observed that protective gear was greatly scaled 
back, retreating once more from full-body armor to 
strategically placed metal plates. As battlefields grew 
farther apart and cannon fire spelled imminent death, 
and as the fighting grew less personal and more 
distanced (like the relationship between the men who 
called the orders to those who marched to them), 
men wore metal plates over their uniforms and 
donned metal helmets to protect against gunfire. 
These plates were placed over the heart, which often 
beat with a fear that was hardly aided by the 
presence of a thin metal sheet and, later, a tightly-
woven polymer simply known as Kevlar. 
Kevlar, or light and ultra-strong plastic polymers that 
are tightly woven into a flexible fabric, became 
popular after its discovery and implementation in the 
1960s. It is now used in everything from sporting 
equipment—tennis rackets, Formula 1 cars, boating 
sails—to personal protective equipment like 
bulletproof vests. Despite all the advances in 
chemical compounds that form some of the strongest 
materials on Earth, and which are often used to 
mitigate the damage wrought by firearms or natural 
disasters, the science that has gone into the 
fireproofing and weaponization of simple polymers 
has more recently returned to its Arizona roots. Two 
years ago, researchers at the Air Force Research 
Laboratory announced that they would be looking into 
an age-old fiber to more fully explore its cooling and 
temperature regulation properties, and its use toward 
strengthening current synthetic fibers. That fiber was 
silk. Artificial spider silk, the researchers suggested, 
could make for a lighter, stronger and more 
breathable body armor than even Kevlar. 

 
62.  Apart from bulletproof vests, which of the following is 

Kevlar not used in today? 
(A) Formula 1 cars (B) boating sails 
(C) tennis rackets  (D) mattresses 

 
63.  Which of the following has recently been suggested 

by researchers as a new fiber that can be better than 
Kevlar for body armour purposes? 
(A) Artificial spider silk (B) Wool 
(C) Japanese seaweed (D) Eggshells 
 

64.  It can be understood from the passage that prior to 
Kevlar, which of the following was used to protect 
against gunfire? 
(A) Wood  (B) Glass 
(C) Metal  (D) Cloth 
 

65.  Which of the following statements about Kevlar is 
false? 
(A) It is made of ultra-strong plastic polymers  
(B) It was discovered and implemented in the 1960s. 
(C) It is woven into a flexible fabric that acts as a 
bulletproof vest.     
(D) It can withstand high temperatures. 

 
66.  Which of the following do researchers wish to explore 

when examining an age-old fiber’s potential for body 
armour? 
(A) its cooling and temperature regulation properties 
(B) its tensile strength 
(C) its elasticity    
(D) its weight 
 

Directions: (67-71): Read the following passage carefully and 
answer the questions. 

 
Beginning roughly 2,000 years ago, the Calusa 
enjoyed centuries of dominance as the undisputed 
rulers of southwest Florida. Theirs was a complex 
society with trade routes spanning hundreds of miles; 
a powerful military; and built works including wide 
canals, islands made of shells and towering buildings. 
Unlike the Maya, Aztecs and Inca, the Calusa built 
their kingdom, which stretched from modern Tampa 
Bay to Ten Thousand Islands and as far east as Lake 
Okeechobee, without agriculture. 
Researchers have long wondered how a society that 
collected all of its food by fishing, hunting and 
gathering was able to secure enough food to support 
its ambitious construction projects and military might. 
Now, a new study published in the Proceedings of the 
National Academy of Sciences reveals details of how 
the Calusa stockpiled live fish in massive holding 
pens, or “watercourts,” built out of oyster shells. The 
idea that these waters courts held fish is not new, 
writes George Dvorsky for Gizmodo, but the paper is 
the first to conduct a systematic analysis of the 
ancient structures. The remains of these 
watercourts—the largest of which is seven times 
larger than an NBA basketball court—are located 
near Fort Myers in Mound Key, where the Calusa’s 
capital city of Calos stood for 500 years. 
Radiocarbon dating placed the construction of the 
watercourts between 1300 and 1400 A.D. This 
timeframe coincided with the second phase of 
construction of Calusa king Caalus’ manor—a 
massive building that could hold 2,000 people at the 
time of its completion, according to Spanish 
documents. The watercourts could also have been an 
innovation prompted by a drop in sea level that 
occurred around 1250, potentially impacting “fish 
populations enough to help inspire some engineering 
innovation,” says Karen Walker, study co-author and 
an archaeologist at the Florida Museum, in a 
statement. Bones and scales excavated from the 
ancient holding pens belonged to mullet, pinfish and 
herring, all schooling species that might have been 
easily herded inside. 

 
67.  As per the passage, which of the following tribes built 

their empire without agriculture? 
(A) Incas  (B) Aztecs 
(C) Maya  (D) Calusa 
 

68.  Which of the following is not a feature of the Calusa 
empire? 
(A) a powerful navy    
(B) Trade routes spanning hundreds of miles 
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(C) Islands made of shells   
(D) Wide canals 
 

69.  As per the passage, why did the Calusa people build 
watercourts? 
(A) for recreational purposes   
(B) for storing fish 
(C) for drowning enemies   
(D) for aesthetic purposes 
 

70.  Which of the following statements about watercourts 
is false as per the passage? 
(A) They were built out of oyster shells. 
(B) They held mullet, pinfish and herring. 
(C) Their remains are located near Fort Myers. 
(D) They were located on the outskirts of the empire. 

 
71.  Which of the following could have played a 

contributing role in the construction of watercourts by 
the Calusa people? 
(A) A drop in sea level that occurred around 1250 
(B) A change in ocean currents 
(C) A change in wind patterns   
(D) A change in ocean temperatures 
 

Directions: (72-76): Read the following passage carefully and 
answer the questions. 

 
Abu Hureyra is an important archaeological site in 
Syria, known for artifacts documenting early adoption 
of agriculture in the region. It may also be recognized 
as the only known human settlement to have been hit 
by a fragment of a comet. The site, now under the 
waters of Lake Assad, was quickly excavated 
between 1972 and 1973 before construction of the 
Tabqa Dam flooded the area. During the excavation, 
archaeologists realized that there were really two 
sites, one on top of the other. The first was a 
Paleolithic settlement of hunter-gatherers, and the 
second was a farming town, with new buildings of a 
different style. 
A new analysis of samples of soil and artifacts 
salvaged from the original excavation has revealed a 
surprising finding: The Paleolithic village at Abu 
Hureyra was indirectly hit and destroyed by fragments 
of a comet that slammed into Earth about 12,800 
years ago. The researchers think that upon entering 
Earth’s atmosphere, the already-fractured comet 
likely broke up into several more pieces, many of 
which didn’t reach the ground. Instead, they produced 
a string of explosions in the atmosphere known as 
airbursts. Each airburst was as powerful as a nuclear 
blast, instantaneously vaporizing the soil and 
vegetation underneath and producing powerful shock 
waves that destroyed everything for tens of kilometers 
around. The village at Abu Hureyra was hit by one of 
these shock waves. 

 
72.  What are artifacts of Abu Hureya known for? 

(A) documenting the early domestication of animals 
(B) documenting the invention of the wheel 
(C) documenting the early adoption of agriculture 
(D) documenting the early use of tools 
 

73.       As per the passage, what is an airburst? 
(A) a nuclear blast   
(B) a supersonic wave 
(C) an explosion in the atmosphere caused by a 
comet   
(D) an explosion in the atmosphere caused by a 
meteor 
 

74.  During the excavation of the archaeological site, what 
did the researchers realise? 
(A) that there were two sites atop each other 
(B) that there were three sites atop each other 
(C) that the site was older than they had thought 
(D) that the site was the only one to be hit by a comet 

 
75.  How was it discovered that the site of Abu Hureya 

was hit by a comet? 
(A) during the excavation process  
(B) after an analysis of soil and artifact samples 
(C) after repeated excavation process  
(D) after the construction of the dam flooded the area 
and threw up previously unknown artifacts 

 
76.  Which of the following statements about Abu Hureya 

is false as per the passage? 
(A) It is now under the waters of Lake Assad.  
(B) It was flooded by the construction of the Tabqa 
Dam. 
(C) It used to be a Paleolithic settlement of hunter-
gatherers.    
(D) It was one of the few human settlements to be hit 
by a comet. 

 
77. In the following question, out of the four alternatives, 

choose the one which best expresses the meaning of 
the given word. 
Irreverence 
(A) Restive  (B) Disrespect 
(C) Avarice  (D) Amity 
 

78. In the following question, out of the four alternatives, 
choose the one which can be substituted for the given 
words/sentence. 
Kindness shown to somebody when they are being 
punished 
(A) Chutzpah  (B) Chronic 
(C) Clemency  (D) Citation 
 

79. In the following question, four different spellings of a 
word are given, out of which only one is correct. Find 
the correct spelling of the given word. 
(A) anxious  (B) anxous 
(C) anxuous  (D) anxiuous 
 

80. In the following question, a sentence is given with a 
phrase or idiom in brackets. Select the option given 
below that can replace the bracketed phrase. 
This confirms that the group has not only (run out) of 
money, but has exhausted its political capital, too. 
(A) run after  (B) run into 
(C) run over  (D) No Improvement 
 

81. In the following question, one part of the sentence 
may have an error. Find out which part of the 
sentence has an error and select the appropriate 
option. If a sentence is free from error, select ‘No 
Error’ as your answer. 
She had to practice (A)/ flying in various weather (B)/ 
conditions before she (C)/ could got her pilot's 
license. (D) 
(A) B   (B) D 
(C) A   (D) C 
 

82. In the following question, a sentence has been given 
in Active/ Passive Voice. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Passive/Active Voice. 
The authorities had sanitised the park benches. 
(A) The park benches were being sanitised by the 
authorities.    
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(B) The park benches had been sanitised by the 
authorities. 
(C) The park benches were sanitised by the 
authorities.     
(D) The park benches have been sanitised by the 
authorities. 
 

Directions: (83-87): In the following passage, some of the 
words have been left out and replaced by a blank. 
First read the passage and try to understand what it is 
about. Then fill in the blanks as per the questions 
given. 

 
Throughout the world, from the humblest ______ to 
the most lavish mansion, our homes have always 
been a respite from the world. For many of us, our 
daily lives now ________ by quarantine, our homes 
have suddenly become our world. When we think of 
the technology that makes our homebound life 
bearable, we call to mind those electronic devices 
that allow us to remain connected to the outside 
world. However, it might _________ us to know that, 
for our ancestors, many of the objects we take for 
granted, like napkins, forks and mattresses, were also 
once marvels of comfort and technology—available to 
only the few. Our temperature-controlled homes filled 
with comfortable furniture and lights that turn on at the 
flick of a switch are luxuries __________ to the kings 
and queens of the past. Those things that were once 
only the purview of royalty—chandeliers, comfortable 
seating, bed pillows—have become such a part of our 
everyday lives that we forget that all but the basic 
necessities for survival were once out of reach for all 
but the upper _________ of society. Our homes are 
castles beyond what they could have ever imagined. 

 
83.      the humblest ______ to the most lavish  

(A) abode  (B) abide 
(C) adept  (D) adopt 
 

84.  our daily lives now ________ by quarantine 
(A) averted  (B) apprised 
(C) upended  (D) undertaken 
 

85.  it might _________ us to know that, 
(A) suppose  (B) surprise 
(C) command  (D) convince 

 
86.  are luxuries __________ to the kings and queens 

(A) understandable (B) urged 
(C) cynical  (D) unfathomable 

 
87.  but the upper _________ of society. 

(A) echelons  (B) eons 
(C) aliens  (D) allures 

 
88. In the question below, an idiom is given, followed by 

four options. Select the option that gives the correct 
meaning of the idiom. 
My experiment was a failure, so I'm back to the 
drawing board. 
(A) something unexpected and unpleasant 
(B) full of hope and enthusiasm 
(C) back to the beginning because the current attempt 
was unsuccessful  
(D) a controversial issue or situation that is awkward 
or unpleasant to deal with. 

 
89. In the following question, out of the four alternatives, 

choose the one which can be substituted for the given 
words/sentence. 
One who is a centre of attraction 
(A) Cynosure  (B) Crescendo 

(C) Counterfeit  (D) Demagogue 
 
90. In the following question, a sentence has been given 

in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
“Do you have some extra money?” I said to her. 
(A) I asked her if she had some extra money. 
(B) I asked her do you have some extra money. 
(C) I asked her did she have some extra money. 
(D) I asked her if she has some extra money. 
 

91. In the following question, a sentence has been given 
in Active/ Passive Voice. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Passive/Active Voice. 
The countries face a lot of rainfall during the summer 
months. 
(A) A lot of rainfall has been faced by the countries 
during the summer months.  
(B) A lot of rainfall had been faced by the countries 
during the summer months. 
(C) A lot of rainfall is faced by the countries during the 
summer months.   
(D) A lot of rainfall will be faced by the countries 
during the summer months. 

 
92. In the question given below, rearrange the sentences 

in the correct order, and choose the correct option. 
The first and sixth (last) statements are given in the 
right sequence and are fixed. 
1. Opera refers to a dramatic art form. 
P. The drama in opera is presented using the primary 
elements of theater such as scenery, costumes, and 
acting. 
Q. By contrast, in musical theater an actor's dramatic 
performance is primary, and the music plays a lesser 
role. 
R. It originated in Europe. 
S. It involves the display of emotional content to the 
audience as much through music as through the 
lyrics. 
6. However, the words of the opera are sung rather 
than spoken. 
(A) PQRS  (B) RSQP 
(C) QPRS  (D) PSQR 

 
93. In the question below, an idiom is given, followed by 

four options. Select the option that gives the correct 
meaning of the idiom. 
I go to visit my grandfather only once in a blue moon 
as he lives in a remote farmhouse. 
(A) whenever one feels appropriate  
(B) at a rapid pace 
(C) very rarely     
(D) fairly often 
 

94. In the following question, a sentence has been given 
in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
“I will not go with John,” said the boy. 
(A) The boy said that he would not go with John. 
(B) The boy said that he will not go with John. 
(C) The boy said that he would not be going with 
John.     
(D) The boy said that he would not be going without 
his uncle. 

 
95. In the following question, a sentence is given with a 

phrase or idiom in brackets. Select the option given 
below that can replace the bracketed phrase. 
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At the dairy case, choose lower-fat products while at 
the meat counter, (go into) lean or extra-lean beef 
and pork. 
(A) go off  (B) go out 
(C) go for  (D) No Improvement 

 
96. In the following question, choose the word opposite in 

meaning to the given word. 
Dormant 
(A) Illicit   (B) Mild 
(C) Active  (D) Rigid 
 

97. In the following question, a sentence has been given 
in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
“I went to the store after the movie,” said the woman. 
(A) The woman said that she went to the store after 
the movie.     
(B) The woman said that she had gone to the store 
after the movie. 
(C) The woman said that she has gone to the store 
after the movie.    
(D)  The woman said that she goes to the store after 
the movie. 

 
Directions: (98-102): In the following passage, some of the 

words have been left out and replaced by a blank. 
First read the passage and try to understand what it is 
about. Then fill in the blanks as per the questions 
given.The Drimolen Paleocave System is part of 
South Africa’s Unesco World Heritage Site called the 
Cradle of Humankind, a collection of limestone caves 
near Johannesburg that are one of Africa’s two great 
_______ of hominid fossils. More than 900 have been 
found, representing at least 5 different species, during 
________ that began nearly a century ago. The big 
problem in South Africa has been dating all these 
finds. East Africa’s rift valleys, the continent’s other 
great hominin fossil source, feature layers of volcanic 
ash that can be dated by ________ the decay of 
radioactive elements, thereby dating the fossils within. 
In many South African caves, by contrast, older, 
fossil-filled sections have ________ into lower areas. 
Modern humans operated mines in the area, too. The 
result is a confusing and complicated landscape that 
_________ easy reconstruction. 

 
98.  two great _______ of hominid fossils. 

(A) sources  (B) spurs 
(C) surmises  (D) spears 
 

99.  during ________ that began nearly 
(A) expirations  (B) excitement 
(C) excavations  (D) expeditions 
 

100.  can be dated by ________ the decay 
(A) calculation  (B) measuring 
(C) ensuring  (D) seizing 
 

101.  sections have ________ into lower areas. 
(A) descent  (B) categorized 
(C) collapsed  (D) conspired 
 

102.  landscape that _________ easy reconstruction. 
(A) denigrates  (B) divides 
(C) deploys  (D) defies 
 

103. In the question given below, rearrange the sentences 
in the correct order, and choose the correct option. 
The first and sixth (last) statements are given in the 
right sequence and are fixed. 
1. Steve was born in Tokyo in 1950. 

P. Steve then moved to Cyprus to study at the 
Mediterranean University. 
Q. He moved to London with his parents when he 
was 5 years old. 
R. Steve started school there and his father began 
work at the hospital. 
S. He lived in England for 2 years then moved to 
Jordan where he lived there for 10 years. 
6. Unfortunately, he did not succeed and returned to Jordan. 

(A) PQRS  (B) QRSP 
(C) QPRS  (D) PSQR 
 

104. In the following question, out of the four alternatives, 
choose the one which best expresses the meaning of 
the given word. 
Laconic 
(A) Conceited  (B) Pomp 
(C) Concise  (D) Demented 
 

105. In the given sentence, a blank is given indicating that 
something is missing. From the given four options, 
choose the one that provides the correct word to be 
filled in the blank, thereby making the sentence 
grammatically and contextually correct. 
The criminal begged for parole, but the judge 
remained _______ for a life sentence 
(A) onerous  (B) adamant 
(C) timid   (D) dauntless 

General Awareness 

106. Which River demarcated the Mahajanpadas of 
Magadha and Anga? 
(A) Gandak  (B) Kosi 
(C) Assi   (D) Champa 

 
107. How much is the difference of time between any two 

consecutive longitudes? 
(A) 10 minutes  (B) 14 minutes 
(C) 4 minutes  (D) 30 minutes 

 
108. Under which pardoning power of the President, one 

form of punishment is substituted by a lighter form? 
(A) Commutation  (B) Remission 
(C) Respite  (D) Reprieve 

 
109. Champaran Satyagraha was against which of the 

following? 
(A) Tinkathiya System (B) High rent 
(C) Outsiders  (D) Illegal transfer of land 

 
110. Who is the author of the book titled “The Fractured 

Himalaya”? 
(A) Nirupama Rao (B) Radhika Menon 
(C) Robin Sharma (D) Hermann Hesse 

 
111. Which of the following is the apex banking institution 

of India that regulates the monetary policy? 
(A) Reserve Bank of India (B) Union Bank of India 
(C) State Bank of India (D) Bank of India 

 
112. To promote the welfare of Anganwadi workers in the 

state which government will equip Anganwadi 
workers with smartphones? 
(A) Punjab  (B) Karnataka 
(C) Tamil Nadu  (D) Uttar Pradesh 
 

113. Which of the following is NOT one of the books 
written by Mahatma Gandhi? 
(A) The Story of My Experiments with Truth  
(B) Hind Swaraj 
(C) The Discovery of India   
(D) Satyagraha in South Africa 

http://bit.ly/TesMusPrime
https://tesmus.com/


SSC_CGL_MAINS_ 2023                             TEST ID – LBL - 897013232 

 

 

 

App :- http://bit.ly/TesMusPrime                       10 | P a g e                 Web :- https://tesmus.com  

114.  In which country political theory of 'Fascism' started? 
(A) Japan  (B) Russia 
(C) Italy   (D) China 
 

115.  Which OTT platform, in collaboration with the Ministry 
of Information & Broadcasting, has launched a short 
video series ‘Azadi Ki Amrit Kahaniya’? 
(A) Amazon Prime (B) Disney + Hotstar 
(C) Netflix  (D) Sony LIV 
 

116.  The Raleigh Commission (1902) was appointed to 
recommend reforms in: 
(A) The education system (B) Draught management 
(C) The judicial system (D) The police system 
 

117.  Who is the director of the recently released movie 
“Shershah”? 
(A) Anurag Kashyap (B) Vishal Bhardwaj 
(C) Ashutosh Gowariker (D) Vishnuvardhan 
 

118.  What is the sex ratio of Kerala as per census 2011? 
(A) 1024   (B) 1084 
(C) 1044   (D) 1064 
 

119.  Identify the INCORRECT statement about Public 
Distribution System (PDS) in India. 
(A) From 1997, PDS became Targeted Public 
Distribution System (TPDS) for targeted consumers. 
(B) Revamped Public Distribution System (RPDS) 
was launched in June 1992 
(C) Those living below the poverty line get food grains 
at subsidized prices. 
(D) PDS has been abandoned in the country since 
2007 
 

120.  Lord Curzon placed the question of setting up a 
'stately' memorial for Queen Victoria, on her death in 
January 1901 to the public. The princes and people of 
India responded generously to his appeal for funds 
and Lord Curzon derived the total cost of construction 
of this monument amounting to _________ of rupees 
from their voluntary subscriptions. 
(A) One Crore, five lakhs 
(B) One Crore, fifteen lakhs 
(C) One Crore, twenty-five lakhs   
(D) One Crore, fifty lakhs 
 

121.  The part of the Himalayas lying between Satluj and 
Kali rivers is known as __________. 
(A) Punjab Himalaya (B) Nepal Himalayas 
(C) Kumaon Himalayas (D) Assam Himalayas 
 

122.  Which country will host the World Dairy Summit 
2022? 
(A) United Kingdom (B) Ireland 
(C) South Korea  (D) India 
 

123.  The song ‘Jana-Gana-Mana’ composed by Rabindra 
Nath Tagore was first published in January 1912 
under the title of __________. 
(A) Matribhoomi   
(B) Jay Hey 
(C) Rashtra Jagriti  
(D) Bharat Bhagya Vidhata 
 

124.  Who was the founder of Satya Shodak Sabha in 
Maharashtra? 
(A) Gopal Baba Wala  
(B) Dr. Baba Saheb Ambedkar 
(C) Dr. Atmaram Pandurang   
(D) Jyotiba Phule 
 

125.  Mount Merapi volcano is located in which country? 
(A) NewZealand  (B) Japan 
(C) Indonesia  (D) China 
 

126.  Which organization publishes the report “World 
Economic Outlook”? 
(A) Economist Intelligence Unit (EIU) 
(B) Asian Development Bank (ADB) 
(C) New Development Bank (NDB) 
(D) International Monetary Fund (IMF) 
 

127.  In which of the following market forms a firm does not 
exercise control over price? 
(A) Mixed Competition (B) Monopoly 
(C) Oligopoly  (D) Perfect Competition 
 

128. Name the disease with which Edward Jenner is 
associated. 
(A) Cholera  (B) Typhoid 
(C) Smallpox  (D) Paralysis 
 

129. Who is the only scientist in the world to have won the 
Nobel Prize in Chemistry twice? 
(A) Linus Carl Pauling (B) Roger D. Kornberg 
(C) Madame Curie (D) Frederick Sanger 
 

130. What is Marble Cancer? 
(A) Disease in animals due to marble mines 
(B) Soil degradation due to marble mines 
(C) Cancer in human due to working in mines 
(D) Corrosion of marble due to acid rain 
 

Space For Rough Work 
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Section-III : 15 minutes 

Computer Knowledge 

131.  A pathway within a computer that carries data 
between hardware components is called_________. 
(A) Digital signal  (B) Carrier signal 
(C) Switching  (D) Data bus 
 

132.  In database terms, ________is a request for data or 
information from a database table or combination of 
tables. 
(A) Query  (B) Rollback 
(C) Form  (D) Report 
 

133.  Which is a pen-shaped handheld instrument used 
with touch screen input devices or graphics tablets? 
(A) Case  (B) Stylus 
(C) Printer  (D) Plotter 
 

134.  In MS Excel, if we want to select the entire column, 
which of the following shortcut key must be used? 
(A) Ctrl + Alt  (B) Ctrl + Alt + Del 
(C) Shift + Ctrl  (D) Ctrl + Space 
 

135.  In Computer Terminology, what is the full form of 
SMPS? 
(A) Switched Mode Power Supply  
(B) Settled Mode Power Supply 
(C) Switch Mode Packet Switch  
(D) Supply Mode Packet Switch 
 

136.  Which among the following is a free open-source 
operating system (OS) based on UNIX? 
(A) Windows  (B) Linux 
(C) DOS   (D) Python 
 

137.  The topology which has highest reliability and are 
typically used for things like home automation, smart 
HVAC control, and smart buildings is__________. 
(A) Ring topology  (B) Bus topology 
(C) Mesh topology (D) Star topology 
 

138.  ________ has officially launched its new Windows 
operating system ‘Windows 11’, recently. 
(A) Microsoft  (B) Google 
(C) Adobe  (D) Facebook 
 

139.  _________refers to the measurement of data that is 
transferred between two points within a set amount of 
time. 
(A) Latency  (B) Bandwidth 
(C) Meta-data  (D) Stack 
 

140.  Which among the following are the small toggle 
switches used to configure the hardware devices? 
(A) Headers  (B) Beacons 
(C) Packets  (D) Jumpers 
 

141.  Which of the following statements about a Null 
character is true? 
(A) It is a character with all its bits set to zero 
(B) It always has the same value as FALSE 
(C) It can be entered by pressing SHIFT key 
(D) As an integer, it is represented as -1 

 
142.  What is the term used for a file that contains 

specifications for another file? 
 
(A) Minifile  (B) Microfile 
(C) Masterfile  (D) Metafile 

 

143.  Which among the following was the largest social 
networking site in the world in early 2000s? 
(A) OurSpace  (B) Sharespace 
(C) MySpace  (D) Orkut 
 

144.  Third generation computers emerged due to the 
development of which of the following technology? 
(A) Semiconductor (B) VLSI 
(C) Vacuum tubes (D) Integrated circuits 
 

145.  Which is a type of malicious code or software that 
looks legitimate but can take control of your 
computer? 
(A) Trojan horse  (B) Worm 
(C) Virus   (D) Time bomb 
 

146.  In windows computer, which among the following acts 
a 'holding bay' for deleted items, such as files and 
folders? 
(A) Recycle bin  (B) Junk 
(C) Spam  (D) Draft 
 

147.  Which one of the following is NOT a High-level 
Language (HLL)? 
(A) JAVA  (B) BASIC 
(C) Assembly language (D) FORTRAN 
 

148.  __________ is an error in the source code of a 
program that can be pointed out by the Compiler. 
(A) Logical errors  (B) Semantic errors 
(C) Syntax errors  (D) Runtime errors 
 

149.  Which among the following is the pictorial 
representation that depicts a process, system or 
computer algorithm? 
(A) Algorithm  (B) Loop 
(C) Array  (D) Flowchart 
 

150.  A small piece of software that is used to remove a 
bug, within an operating system or software program 
is called as___________. 
(A) Stack  (B) Version 
(C) Patch  (D) Index  
 

Space For Rough Work 

 

http://bit.ly/TesMusPrime
https://tesmus.com/


SSC_CGL_MAINS_ 2023                             TEST ID – LBL - 897013232 

 

 

 

App :- http://bit.ly/TesMusPrime                       12 | P a g e                 Web :- https://tesmus.com  

 

 

  

http://bit.ly/TesMusPrime
https://tesmus.com/


SSC_CGL_MAINS_ 2023                             TEST ID – LBL - 897013232 

 

 

 

App :- http://bit.ly/TesMusPrime                       1 | P a g e                 Web :- https://tesmus.com  

Mathematical Abilities  

1. Answer: (A) 
The total distance it travels would be given by the 
infinite sum of the series: 
100 + 2 [100 × (4/5) + 100 × (4/5)² + 100 × (4/5)³.......] 
100 + 160 × [1/(1 – 4/5)] = 100 + 160 × 5 = 900 
meters 
Hence, option a. 

2. Answer: (B) 
Let total work be 200 units (LCM of 25 and 40). 
Efficiency of A = 200/25 = 8 units per day 
And, efficiency of B = 200/40 = 5 units per day 
Total work done in first 3 days = 8 + 5 = 13 units 
In 45 days, 13 × 15 = 195 units were done. 
On 46th day, B works and completes it in the 46th day. 
So, total time taken = 46 days 
Hence, option b. 

3. Answer: (B)  
Let the four numbers be A, B, C and D respectively. 
According to question; 
3A + B + C + D = 3 × 348 = 1044 ---(1) 
3B + C + D + A = 3 × 380 = 1140 -----(2) 
3C + D + A + B = 3 × 420 = 1260 ------(3) 
3D + A + B + C = 3 × 364 = 1092 ------(4) 
Adding (1), (2), (3) and (4), we get 
6 × (A + B + C + D) = 4536 
A + B + C + D = 756 
So, we get A = 144, B = 192, C = 252 and D = 168 
Hence, option b. 

4. Answer: (A) 
Selling price of the article = 1.25 × 900 = Rs. 1125 
Marked price of the article = 1125/0.90 = Rs. 1250 
Hence, option a. 

5. Answer: (D) 
Let us assume that the price of wheat be Rs. ‘x’ and 
the quantity be ‘y’ kg. 

  Price Quantity Total Expenditure 

Original x y 270 

Changed 0.9x y + 5 270 

According to question; 
x × y = 270 …………………….(i) 
And, 0.9x × (y + 5) = 270 …………………..(ii) 
By solving equation (i) and (ii), we get 
x = 6 
So, the changed price would be equal to 5.4 
So, the difference between the original and reduced 
price is 60-paise. 
Hence, option d. 

6. Answer: (C) 
Let Rajiv took a loan of Rs. ‘x’ from the bank. 
According to question; 
1.12 × (1.2544 × x – 5197) = 1204 
1.2544 × x – 5197 = 1075 
1.2544 × x = 6272 
So, x = 5000 
Hence, option c. 

7. Answer: (B) 
Area of the rectangle = 8 × 2 = 16 cm2 
In triangle DEH and triangle BEG: 
Angle EDH = angle EBG 
Angle DEH = angle BEG 
DE = BE 
So, triangle DEH is congruent to triangle BEG. (AAS 
rule) 
Similarly, and triangle HEC is congruent triangle AEG. 
So, the area of the shaded region is equal to the sum 
of area of triangle DEH and triangle AEG which one- 
fourth of total area of the rectangle = 1/4 × 16 = 4 cm2 
Hence, option b. 

8. Answer: (B) 

 
Since, PQ is a tangent to the circle, and the distance 
between them is 20 cm. 
Radius of the circle can be calculated using 
Pythagoras theorem 
So, OP2 = QP2 + OQ2 
400 = 256 + OQ2 
OQ2 = 144 
OQ = 12 cm 
Hence, option b. 

9. Answer: (A) 
Let the dimensions of the rectangular prism be x cm, 
y cm and z cm. 
So, areas of separate faces are xy cm2, xz cm2 and 
yz cm2 
So, (xy) × (xz) × (yz) = (xyz)2 
35 × 56 × yz = 280 × 280 
So, yz = (280 × 280)/(35 × 56) = 40 cm2 
The surface area = 2 × (35 + 56 + 40) = 2 × 131 = 
262 cm2 
Hence, option a. 

10. Answer: (A) 

 
In regular hexagon PQRSTU, length of each side is 
20 cm. 
So, the length of PT = 20√3 cm 
So, the largest equilateral triangle will be of the side 
of length 20√3 cm 
Desired area = √3/4 × 20√3 × 20√3 = 300√3 cm2 
Hence, option a. 

11. Answer: (A) 
[secx(1 – sinx)(sinx + cosx)(secx + tanx)]/[sinx(1 + 
tanx) + cosx(1 + cotx)] 
= [secx(1 – sinx)(sinx + cosx)(secx + tanx)]/[sinx(1 + 
sinx/cosx) + cosx(1 + cosx/sinx)] 
= [secx(1 – sinx)(sinx + cosx)(secx + tanx) × 
sinxcosx]/[(sin2x + cos2x)(sinx + cosx)] 
= sinxcosx 
Hence, option a. 

12. Answer: (A) 
For cubic equation; x3 – 3x2 + 4x + 2 = 0 
Roots = p, q and r 
Sum of the roots = p + q + r = 3………………….(i) 
Product of the roots = p × q × r = -2 ………….(ii) 
Sum of product of two roots at a time; 
pq + qr + pr = 4 ……(iii) 
Dividing equation (iii) by equation (ii) we get 
(pq + qr + pr)pqr = -4/2 = -2 
1/p + 1/q + 1/r = -2 
Hence, option a. 

13.  Answer: (A) 
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Desired Ratio = (768 + 576):(704 + 832) = 1344:1536 
= 7:8 
Hence, option a. 

14.  Answer: (A) 
Desired Percentage = [(512 + 864 – 960)/960] × 100 
= 43.33% 
Hence, option a. 

15. Answer: (B) 
Desired Average = [(512 + 576 + 864) – (704 + 384 + 
832)]/3 = 32/3 kg 
Hence, option b. 

16. Answer: (C) 
According to the question, 

 
Therefore, 
D is the mid-point of BC, then its co-ordinates are 
{(-2 + 0)/2}, {(-3 + 3)/2} = D(-1, 0) 
For line AD, 
The equation of the line can be given as: {(y – 
y1)/(y2 – y1)} = {(x – x1)/(x2 – x1)} 
Or, (y – 5)/(0 – 5) = (x – 2)/(-1 – 2) 
Or, 5x – 3y + 5 = 0 
Hence, option c. 

17. Answer: (B) 
{(x – 5)/(x2 + 2x – 35)} > 0 
Or, {(x – 5)/(x2 + 7x – 5x – 35)} > 0 
Or, {(x – 5)/(x + 7)(x – 5)} > 0 
Therefore, Inequality is true for x ∈ (-7, 5) ∪ (5, 0) 
Least integer satisfying the inequality is ‘-6’ 
Hence, option b. 

18. Answer: (B) 

 
According to the question, 
BC is the ladder whose length is 3.8 metres 
AC is distance between foot of the wall and foot of the 
ladder = 3.2 metres 
BD is distance by which the ladder slipped = 0.6 
metres 
In right angle triangle ABC 
BC² = AB² + CA² [Using Pythagoras Theorem] 
(3.8)² = (AD + BD)² + (3.2)² 
14.44 = (AD + 0.6)² + 10.24 
(AD + 0.6)² = 14.44 – 10.24 = 4.2 
AD + 0.6 = 2.04 
AD = 2.04 – 0.60 = 1.44 
Now, in right angle triangle ADE, 
DE² = AD² + EA² 
(3.8)² =(1.44)² + (3.2 + EC)² 
14.44 = 2.07 + (3.2 + EC)² 
√12.37 = 3.2 + EC 
EC = 3.51 – 3.20 = 0.31 metres 
Hence, option b. 

19. Answer: (A) 

 
Let AB represent the cliff of height 420 m and C, D 
represent the two positions of the boat 
In triangle ABC 
tan60º = (AB/BC) 
Or, BC = 420/√3 
Also, in triangle ABD, 
tan45º = AB/BD 
Or, BD = AB = 420m 
Distance covered = CD = BD – BC 
= 420 – (420/√3) = {420(√3 – 1)/√3} metres 
Speed = 6 km/h = (6 × 1000)/60 m/min = 100 
m/minute 
We know that, 
Time = Distance/Speed = {420(√3 – 1)/√3} ÷ 100 = 
1.77 ~ 2 min (Taking √3 = 1.732) 
Hence, option a. 

20. Answer: (A) 
a3 + b3 + c3 – 3abc = (a + b + c) × (1/2) × {(a – b)2 + (b 
– c)2 + (c – a)2} 
So, required value = (997 + 998 + 999) × (1/2) × {(997 
– 998)2 + (998 – 999)2 + (999 – 997)2} 
= 2994 × (1/2) × {1 + 1 + 4} 
= 2994 × 3 = 8982 
Hence, option a. 

21.  Answer: (C) 
Area of four walls = 2 × (length + width) × height 
Area of four walls = 2 × (12 + 6) × 8 = 16 × 18 = 288 
m2 
Cost of painting the walls of the room = (288/12) × 
100 = Rs. 2400 
Hence, option c. 

22.  Answer: (D) 
Mean proportional of ‘4’ and ‘9’ = √(4 × 9) = √36 = 6 
And, fourth proportional of ‘3’, ‘5’ and ‘6’ = {(5 × 6)/3} 
= 10 
Required ratio = 6:10 = 3:5 
Hence, option d. 

23. Answer: (A) 
Let the quotient obtained when the said number is 
divided by 754 be ‘x’ 
Therefore, number = 754x + 17 = (754x + 13 + 4) 
Remainder obtained when the given number is 
divided by 17 = (754x + 13 + 4)/13 
Since, ‘754x + 13’ is completely divisible by ‘13’. So, 
remainder = 4 
Hence, option a. 

24. Answer: (B) 
Let the sum invested be Rs. ‘S’. 
Time period of investment = (11/4) years = 2 years 
and 9 months 
Effective rate of interest for 9 months = (9/12) × 20 = 
15% 
ATQ; 
9936 = S × 1.20 × 1.20 × 1.15 
Or, 9936 = S × (1.44) × (1.15) 
So, S = 6000 
Therefore, the sum invested = Rs. 6,000. 
Hence, option b. 

25.  Answer: (B) 
Let marked price of the article be Rs. ‘5x’ 
Then, cost price of the article = (4/5) × 5x = Rs. ‘4x’ 
Selling price of the article = (0.88 × 5x) = Rs. ‘4.4x’ 
ATQ; 
4.4x – 4x = 40 
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Or, 0.4x = 40 
Or, x = 100 
Cost price of the article = 4x 4 × 100 = Rs. 400 
Marked price of the article = 5x = 5 × 100 = Rs. 500 
Hence, option b. 

26.  Answer: (B) 

√41 + 12√5  

= √41 + 2 × 6 × √5  

= √36 + 5 + 2 × 6 × √5 

= √(6 + √5)2 

= (6 + √5) 
Hence, option b. 

27.  Answer: (C) 

 
Let side of square ABCD = ‘a’ cm 
Length of diagonal ‘BD’ = a√2 cm 
So, a√2 = 12.5 
Or, a = (12.5/√2) 
Area of square ABCD = (a2) = (6.25√2)2 = 78.125 cm2 
Hence, option c. 

28.  Answer: (A) 
cot10o × cot 200o × cot 60o × cot 80o × cot70o 
= cot10o × cot(180o + 20o) × cot60o × cot(90o – 10o) × 
cot(90o – 20o) 
= cot10o × cot20o × cot60o × tan10o × tan20o 
Using, cotx × tanx = 1 
= cot60o = (1/√3) 
Hence, option a. 

29.  Answer: (B) 
Let initial income of Rakesh = Rs. ‘100x’ 
Initial expenditure of Rakesh = 0.50 × 100x = Rs. 
‘50x’ 
So, initial savings of Rakesh = (100 – 50x) = Rs. ‘50x’ 
Increased income of Rakesh = 1.20 × 100x = Rs. 
‘120x’ 
Increased expenditure of Rakesh = 1.08 × 50x = Rs. 
‘54x’ 
Increased savings of Rakesh = (120x – 54x) = Rs. 
‘66x’ 
Percentage increased in savings = {(66x – 50x)/50x} 
× 100} = 32% 
Hence, option b. 

30.  Answer: (B) 
Let the height of the trapezium be ‘h’ cm 
Area of trapezium = (1/2) × sum of length of its 
parallel sides × height 
So, {(4 + 8) × h}/2 = 9 
Or, h = 18/12 = 1.50 
So, height of trapezium = 1.50 cm 
Hence, option b. 

Reasoning and General Intelligence 

31. Answer: (C) 
(C) is the correct mirror image. 

 
32. Answer: (B) 

B gives the correct pattern that will be obtained on 
unfolding the given cut paper. 

33. Answer: (A) 
22+72= 53 
82+42= 80 
92+62= 117 

34. Answer: (D) 
E+3=H 
G+4=K 
I+5=N 
K+6=Q 
So for JLNP 
J+3=M 
L+4=P 
N+5=S 
P+6=V 

35. Answer: (B) 
From the directions, we get, 

 
Here, A"C = 4 m. 
BB' = B"C = (AC)/2 = 6/2 = 3 m. 
Hence, the difference of distances walked by both 
= (3 + 3 + 9) - (6 + 4 + 4) = 15 - 14 = 1 m. 

36. Answer: (D) 
K's father G is A's brother. 
A, who is a male, has only one sibling. 
We get, 

 
M, who is A's sister-in-law, is R's daughter. 
And, K is granddaughter of R. 
Hence, R must be the parent of either G or K's 
mother. 
Thus, M is G's wife and K's mother. 

 
T has two sons only. 
Hence, T is parent of G and A. 

 
Thus, M is daughter-in-law of T. 
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37. Answer: (D) 
cure and heal = 2 1 9 
heal the scar = 5 0 9 
heal = 9 
So, the code for 'heal' is '9'. 

38. Answer: (B) 
RETAIN has six letters - (6 x 6) - (6 + 6) = 36 - 12 = 
24. 
BESIDES has seven letters - (7 x 7) - (7 + 7) = 49 - 
14 = 35. 
PROCEDURE has nine letters - (9 x 9) - (9 + 9) = 
81 - 18 = 63. 
Similarly, 
GIVEN has five letters - (5 x 5) - (5 + 5) = 25 - 10 = 
15. 
Alternate solution: 
RETAIN has six letters - 6*4 = 24 
BESIDES has seven letters - 7*5 = 35 
PROCEDURE has nine letters - 9*7 = 63 
Similarly, 
GIVEN has five letters - 5*3 =15 

39. Answer: (A) 
After interchanging, we get: 
120 ÷ 3 + 11 x 4 - 14 = 100 - 15 x 26 ÷ 13 
LHS= 120 ÷ 3 + 11 x 4 - 14 
= 40 + 44 -14 
= 70 
RHS= 100 - 15 x2 
= 70 = LHS. 

40. Answer: (D) 
17 September, 2012 = (2011 years + Period from 
1/1/2012 to 17/9/2012) 
No. of odd days in 400 years = 0 
Therefore, 
No. of odd days in 2000 years = 0 
11 years = 9 ordinary years + 2 leap years (as leap 
year occurs every four years) 
No. of odd days in 11 years = 9 x 1 + 2 x 2 = 13 
2012 was a leap year. 

Jan Feb Mar Apr May Jun Jul Aug Sep 

31 29 31 30 31 30 31 31 17 

31 + 29 + 31 + 30 + 31 + 30 + 31 + 31 + 17 = 261 
days 
261 days = 37 weeks + 2 days = 2 odd days 
Total number of odd days = 0 + 13 + 2 = 15 = 7 * 2 
+ 1 = 1 odd day 
So, the given day was a Monday. 

41. Answer: (D) 
Every face is adjacent to four other faces in a cube. 
In the given combinations, 6 is adjacent to u, 8, s 
and t. Hence, '4' will be on the bottom face if '6' is 
at the top of the cube. 

42. Answer: (A) 
All wants are wishes. No need is a want. 

 
Some wishes are not needs is true as no need is a 
want. So, I follows. 
No need is a wish is not definitely true. So, II does 
not follow. 

43. Answer: (D) 
Some leaflets are pamphlets. No pamphlet is a 
page. 

 
All pamphlets are leaflets is a possibility but not a 
definite truth. So, I does not follow. 
No page is a leaflet can be true. Some leaflets are 
pages can be true. So, either II or III follows. 

44. Answer: (C) 
B _ _ _ _ _ H _ _ _ _ _ N _ _ _ _ _ T _ _ _ _ _ Z 
E _ _ _ I _ _ _ M _ _ _ Q _ _ _ U 
F _ _ _ J _ _ _ N _ _ _ R _ _ _ V 
NMN is the missing term. 

45. Answer: (C) 
12+6 = 18, sum of digits = 1+8 = 9 
56+2 = 58, sum of digits = 5+8 = 13 
Similarly, 
17+8 = 25, sum of digits = 2+5 = 7 

46. Answer: (D) 
Only two boxes are larger than black one. 
White is larger than green. 
Black is smaller than both green and white ones. 
We get, 
________ < ________ < ________ < black < green < 
white 
Red is larger than at least two boxes. 
Orange is smaller than red and yellow. 
We get, 
Orange < yellow < Red < black < green < white 

47. Answer: (C) 
Option (c) is odd as it doesn't follow the same logic 
as followed by other three options. 
82 + 6 = 64 + 6 = 70 
132 + 6 = 169 + 6 = 175 
112 + 6 = 121 + 6 = 127 

48. Answer: (B) 
Most of the athletes are swimmers and some 
swimmers are artists. So, some athletes may or may 
not be an artist. (I) cannot be concluded for sure. 
Since most of the athletes are swimmers, some 
swimmers are definitely athletes. So, (II) can be 
concluded. Hence, (b) is the correct choice. 

49. Answer: (C) 
Accident-Injury-physiotherapist-prescription-
medicine-rest. 

50. Answer: (D) 
There are _ _ _ _ _ _ _ _ (eight) positions. 
O is shifting three places to the left, then two 
places to the right, then again three places to the 
left, and so on. 
So, the next term is: BOBBBBBB (shifting 3 places 
to the left from BBBBOBBB). 

51. Answer: (A) 
A's position from front = 56 
Total = 110 
A's position from end of queue = 110 - 56 + 1 = 
55th from the end. 

52. Answer: (B) 
All mats are toys. No gloss are mats. 
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Some toys are mats is true. So, I follows. 
Some toys are not gloss is true as no mat is gloss. 
So, II follows. 
Hence, both I and II follow. 

53. Answer: (D) 
It may be easier to move goods from foreign 
countries to India than to move them from state to 
state within the country, but nothing can be inferred 
about the investment by foreign firms from the 
above two statements. Hence, (d) is the correct 
choice. 

54. Answer: (D) 
C(3)- F(6)- I(9) consecutive multiples of 3. 
E(5)-J(10)-O(15) consecutive multiples of 5. 
B(2)-D(4)-F(6) consecutive multiples of 2. 
D(4)-H(8)-P(16) 

55. Answer: (A) 
The sisters are facing north while the brothers are 
facing south. Two persons are sitting to the right of G. 
G is not the brother of W. G is not facing South 
direction. So, G must be the sister of W. Hence, G is 
not facing south direction, so it should be facing the 
north. 

 
H is sitting at one of the corners. One person is sitting 
in between N and G who are facing toward opposite 
directions. 

 
O is sitting second to the left of Y. O is facing south. 
W is sitting to the immediate right of her brother. So, 
W is a female. 

 
Y is adjacent to neither H nor N. So, cases 2(i) and 
2(ii) are invalid. H, W and G is the set of sisters. 

56. Answer: (B) 
1 is opposite to 5 
2 is opposite to 3 
6 is opposite to 4 

 
57. Answer: (D) 

Wabash > Wackily > Wagged > Waggon > Wagnor 
is the correct form as per the order in dictionary. 

58. Answer: (D) 
From the matrix, we have G = 01,13,20,34,42 
R = 02,11,24,30,43 
A = 56,68,75,89,97 
V = 58,65,79,87,96 
E =59,66,77,85,98 
L = 04,12,23,31,40 
Only the option 42,24,75,58,59,23 has the codes of 
the letters in the same sequence. 

59. Answer: (C) 

Let Kritika is n years older than Shikha. Then, 
Kritika = n + Shikha = Mukul - n 
Kritika + Shikha + Mukul = 63...(i) 
And, Mukul = 39 - 11 = 28 
Then, Kritika = 28 - n 
And, Shikha = 28 - n - n = 28 - 2n 
Now, equation (i) becomes, 
28 - n + 28 - 2n + 28 = 63 
n = 7 
Therefore, difference between present ages of 
Mukul and Shikha 
= 28 - 28 - 2n 
= 2n 
= 2 * 7 
= 14 years 

60.  Answer: (B) 
The century divisible by 400 is a leap year and the 
year (other than century) divisible by 4 is a leap 
year. 
3402 is not divisible by 4. 
3156 is divisible by 4, hence a leap year. 
3398 is not divisible by 4. 
3262 is not divisible by 4. 
So, 3156 will be a leap year. 

English Language and Comprehension 

61. Answer: (A) 
(a) is right answer. Replace FEW with LITTLE. 
FEW is used to modify countable nouns such as 
houses, books, etc. while LITTLE is used to modify 
uncountable nouns such as knowledge, wisdom, etc. 
Here, the noun ‘money’ is uncountable so LITTLE will 
be used. 

62.  Answer: (D) 
All except D are mentioned in the passage. Refer to 
the lines: “It is now used in everything from sporting 
equipment—tennis rackets, Formula 1 cars, boating 
sails—to personal protective equipment like 
bulletproof vests.” Thus, (d) is the right answer. 

63.  Answer: (A) 
Refer to the line: “Artificial spider silk, the researchers 
suggested, could make for a lighter, stronger and 
more breathable body armor than even Kevlar.” Thus, 
(a) is the right answer. 

64.  Answer: (C) 
Refer to the lines: “As battlefields grew farther apart 
and cannon fire spelled imminent death, and as the 
fighting grew less personal and more distanced (like 
the relationship between the men who called the 
orders to those who marched to them), men wore 
metal plates over their uniforms and donned metal 
helmets to protect against gunfire. These plates were 
placed over the heart, which often beat with a fear 
that was hardly aided by the presence of a thin metal 
sheet and, later, a tightly-woven polymer simply 
known as Kevlar.” Thus, (c) is the right answer. 

65.  Answer: (D) 
All except D are true. Refer to the lines: “Kevlar, or 
light and ultra-strong plastic polymers that are tightly 
woven into a flexible fabric, became popular after its 
discovery and implementation in the 1960s.” Thus, (d) 
is the right answer. 

66.  Answer: (A) 
Refer to the lines: “Two years ago, researchers at the 
Air Force Research Laboratory announced that they 
would be looking into an age-old fiber to more fully 
explore its cooling and temperature regulation 
properties, and its use toward strengthening current 
synthetic fibers.” Thus, (a) is the right answer. 

67.  Answer: (D) 
Refer to the line: “Unlike the Maya, Aztecs and Inca, 
the Calusa built their kingdom, which stretched from 
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modern Tampa Bay to Ten Thousand Islands and as 
far east as Lake Okeechobee, without agriculture.” 
Thus, (d) is the right answer. 

68.  Answer: (A) 
All except A are mentioned in the passage as a 
feature of the Calusa empire. Refer to the lines: 
“Beginning roughly 2,000 years ago, the Calusa 
enjoyed centuries of dominance as the undisputed 
rulers of southwest Florida. Theirs was a complex 
society with trade routes spanning hundreds of miles; 
a powerful military; and built works including wide 
canals, islands made of shells and towering 
buildings.” Thus, (a) is the right answer. 

69.  Answer: (B) 
Refer to the passage: “Now, a new study published in 
the Proceedings of the National Academy of Sciences 
reveals details of how the Calusa stockpiled live fish 
in massive holding pens, or “watercourts,” built out of 
oyster shells.” Thus, (b) is the right answer. 

70.  Answer: (D) 
All except D are true as per the passage. Refer to the 
passage: “Now, a new study published in the 
Proceedings of the National Academy of Sciences 
reveals details of how the Calusa stockpiled live fish 
in massive holding pens, or “watercourts,” built out of 
oyster shells...The remains of these watercourts—the 
largest of which is seven times larger than an NBA 
basketball court—are located near Fort Myers in 
Mound Key, where the Calusa’s capital city of Calos 
stood for 500 years...Bones and scales excavated 
from the ancient holding pens belonged to mullet, 
pinfish and herring, all schooling species that might 
have been easily herded inside.” Thus, (d) is the right 
answer. 

71.  Answer: (A) 
Refer to the passage: “The watercourts could also 
have been an innovation prompted by a drop in sea 
level that occurred around 1250, potentially impacting 
“fish populations enough to help inspire some 
engineering innovation,” says Karen Walker, study 
co-author and an archaeologist at the Florida 
Museum, in a statement.” Thus, (a) is the right 
answer. 

72.  Answer: (C) 
Refer to the lines: “Abu Hureyra is an important 
archaeological site in Syria, known for artifacts 
documenting early adoption of agriculture in the 
region.” Thus, (c) is the right answer. 

73.       Answer: (C) 
Refer to the lines: “The researchers think that upon 
entering Earth’s atmosphere, the already-fractured 
comet likely broke up into several more pieces, many 
of which didn’t reach the ground. Instead, they 
produced a string of explosions in the atmosphere 
known as airbursts.” Thus, (c) is the right answer. 

74.  Answer: (A) 
Refer to the lines: “During the excavation, 
archaeologists realized that there were really two 
sites, one on top of the other. The first was a 
Paleolithic settlement of hunter-gatherers, and the 
second was a farming town, with new buildings of a 
different style.” Thus, (a) is the right answer. 

75.  Answer: (B) 
Refer to the lines: “A new analysis of samples of soil 
and artifacts salvaged from the original excavation 
has revealed a surprising finding: The Paleolithic 
village at Abu Hureyra was indirectly hit and 
destroyed by fragments of a comet that slammed into 
Earth about 12,800 years ago.” Thus, (b) is the right 
answer. 

76.  Answer: (D) 
All except D are false. Refer to the lines: “The site, 
now under the waters of Lake Assad, was quickly 

excavated between 1972 and 1973 before 
construction of the Tabqa Dam flooded the area. 
During the excavation, archaeologists realized that 
there were really two sites, one on top of the other. 
The first was a Paleolithic settlement of hunter-
gatherers, and the second was a farming town, with 
new buildings of a different style.” This confirms that 
A, B and C are true. 
Refer to the lines: “It may also be recognized as the 
only known human settlement to have been hit by a 
fragment of a comet.” This confirms that (d) is false, 
which makes it the right answer. 

77. Answer: (B)   
(b) is the right answer. Irreverence means a lack of 
respect for people or things that are generally taken 
seriously. 
Restive- (of a person) unable to remain still, silent, or 
submissive, especially because of boredom or 
dissatisfaction. 
Avarice- extreme greed for wealth or material gain. 
Amity- friendly relations. 

78. Answer: (C) 
(c) is the right answer. 
Chutzpah-Extreme self-confidence or audacity 
(usually used approvingly) 
Chronic-Illness persisting for a long time or constantly 
recurring 
Citation-Quotations from or references to a book, 
paper, or author, especially in a scholarly work 

79. Answer: (A) 
The correct spelling of the word is ANXIOUS, and it 
means worried. Thus, (a) is the right answer. 

80. Answer: (D) 
RUN OUT (to be short of) will fit here as the sentence 
tells us how the group is short of money. Thus, (d) is 
the right answer. 
Run after - chase. Run into - encounter. Run over - 
collide. 

81. Answer: (B)   
(b) is the right answer. Replace GOT with GET. 
Modal verbs (COULD) are followed by verbs in their 
base form. 

82. Answer: (B) 
The sentence is in active voice and in past perfect 
tense (HAD SANITISED). Follow the rules below to 
convert a sentence in the indicative mood to passive 
voice: 
1. The subject clause will become the object clause. 
Here, the subject THE AUTHORITIES will change to 
the object of the verb, and the object THE PARK 
BENCHES will change into the subject and begin the 
sentence. 
2. Replace HAD PROCURED with HAD BEEN 
SANITISED. The passive voice construction for past 
perfect tense is "HAD + BEEN + past participle". 

83.       Answer: (A) 
We need a noun to be modified by the adjective 
HUMBLEST. ABODE (dwelling) will fit here as the 
sentence tells us how from the humblest dwelling to 
the most lavish mansion, our homes have been a 
respite from the world. Thus, (a) is the right answer. 
Abide (verb) - adhere to. Adept (adjective) - skilled. 
Adopt (verb) - embrace. 

84.  Answer: (C) 
We need a past participle form verb here to fit in the 
passive voice clause. UPENDED (turned upside 
down) will fit here as the sentence tells us how the 
quarantine has turned our lives upside down. Thus, 
(c) is the right answer. 
Averted - prevented. Apprised - informed. Undertaken 
- tackled. 

85.  Answer: (B) 
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We need a base form verb to follow the modal verb 
MIGHT. SURPRISE (astonish) will fit here as the 
sentence tells us of a fact that might astonish us. 
Thus, (b) is the right answer. 
Suppose - reckon. Command - order. Convince - 
persuade. 

86.  Answer: (D) 
We need an adjective to modify the noun LUXURIES. 
UNFATHOMABLE (unimaginable) will fit here as the 
sentence tells us of luxuries that were unimaginable 
by the rulers of the past. Thus, (d) is the right answer. 
Understandable - capable of being understood. Urged 
- convinced. Cynical - pessimistic. 

87.  Answer: (A) 
We need a noun to be modified by the adjective 
UPPER. ECHELONS (levels) will fit here as the 
sentence tells us of luxuries enjoyed by the upper 
classes. Thus, (a) is the right answer. 
Eons - ages. Aliens - extraterrestrial beings. Allures - 
tempts. 

88. Answer: (C) 
(c) is the right answer. The idiom BACK TO THE 
DRAWING BOARD means to start again because the 
current attempt was unsuccessful. 

89. Answer: (A) 
(a) is the right answer. 
Crescendo- A gradual increase in noise 
Counterfeit- Made to look like an exact copy of 
something in order to trick people 
Demagogue- A leader or orator who espouses the 
cause of the common people 

90. Answer: (A) 
Option (a) is the right answer. 
The sentence is in direct speech and in the 
interrogative mood. To convert this sentence to the 
indirect speech, follow these rules: 
1. Remove the comma and the inverted commas. 
2. Change the reporting verb SAID to ASKED. The 
preposition TO is redundant after ASKED, so it will be 
removed. Begin the indirect speech sentence with the 
reporting speech clause I ASKED HER. 
3. Put IF between the reporting and reported 
speeches. 
4. The second person subjective pronoun YOU will 
change to the third person subjective SHE. 
5. The simple present tense DO YOU HAVE will 
change to the simple past SHE HAD. 
6. Use the indicative mood syntax: Reporting speech 
clause (I ASKED HER) + preposition (IF) + Subject 
(SHE) + verb clause (HAD) + Object (SOME EXTRA 
MONEY). 

91. Answer: (C) 
The sentence is in active voice and in simple present 
tense (face). Follow the rules below to convert a 
sentence in the indicative mood to passive voice: 
1. The subject clause will become the object clause. 
Here, the subject (THE COUNTRIES) will change to 
the object of the verb, and the object (A LOT OF 
RAINFALL) will change into the subject and begin the 
sentence. 
2. Replace FACE with IS FACED. The passive voice 
construction for simple present tense is "is/ are + past 
participle". 
3. Add the conjunction BY before THE COUNTRIES 
to link the verb with its object. 
Option (c) is the right answer. 

92. Answer: (B)   
(b) is the right answer. 1-RSQP-6 is the correct 
sequence. (1) begins the passage by establishing the 
context: OPERA. It tells us that OPERA is a dramatic 
art form. R follows (1). It tells us about the origin of 
OPERA. S and Q form a pair. S tells us that OPERA 
involves the display of emotional content to the 

audience as through music and lyrics. Q compares 
OPERA and MUSICAL THEATER. P and (6) form a 
pair too. P tells us about the elements that are 
common between THEATER and OPERA. (6) begins 
with the conjunction HOWEVER, which is used to link 
contrasting statements. It tells us that the words in the 
opera are sung rather than spoken. 

93. Answer: (C) 
(c) is the right answer. The idiom ONCE IN A BLUE 
MOON means very rarely. 

94. Answer: (A) 
Option (a) is the right answer. 
The sentence is in direct speech and in the indicative 
mood. To convert this sentence to the indirect 
speech, follow these rules: 
1. Remove the comma and the inverted commas. 
2. Begin the indirect speech sentence with the 
reporting speech clause THE BOY SAID. 
3. Put THAT between the reporting and reported 
speeches. 
4. The first person subjective pronoun I and 
possessive pronoun MY will change to the third 
person subjective HE and possessive HIS 
respectively. 
5. The modal verb WILL will change to WOULD. 
Modal verbs such as will, would, can, etc. always take 
the base form of the main verb, so GO will remain 
unchanged. 

95. Answer: (C) 
GO FOR (choose) will fit here as the sentence tells us 
what kind of meat products to choose. Thus, (c) is the 
right answer. 
Go off - explode. Go out - leave. Go into - enter. 

96. Answer: (C) 
DORMANT-temporarily inactive. ACTIVE is the 
antonym. 
ILLICIT-forbidden by law, rules, or custom; MILD- not 
severe, serious, or harsh; RIGID-unable to bend or be 
forced out of shape; not flexible. 

97. Answer: (B) 
Option (b) is the right answer. 
The sentence is in direct speech and in the indicative 
mood. To convert this sentence to the indirect 
speech, follow these rules: 
1. Remove the comma and the inverted commas. 
2. Begin the indirect speech sentence with the 
reporting speech clause THE WOMAN SAID. 
3. Put THAT between the reporting and reported 
speeches. 
4. The first person subjective pronoun I will change to 
the third person subjective SHE. 
5. Replace the simple past tense WENT TO THE 
STORE AFTER THE MOVIES with the past perfect 
HAD GONE TO THE STORE AFTER THE MOVIES. 

98.  Answer: (A) 
We need a noun to be modified by the adjective 
GREAT. SOURCES (origins) will fit here as the 
sentence tells us how the caves are one of Africa’s 
greatest sites where fossils have been found. Thus, 
(a) is the right answer. 
Spurs - pushes. Surmises - speculates. Spears - a 
long pointed weapon. 

99.  Answer: (C) 
We need a noun here to form the subject of the verb 
BEGAN. EXCAVATIONS (the act of digging up 
something in search of fossils or remains) will fit here 
as the sentence tells us of the species discovered 
during the digs. Thus, (c) is the right answer. 
Expirations - terminations. Excitement - intrigue. 
Expeditions - trips. 

100.  Answer: (B) 
We need a gerund to form the object of the 
preposition BY. MEASURING (calculating) will fit here 
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as the sentence tells us how the decay of radioactive 
elements is calculated to date the fossils. Thus, (b) is 
the right answer. 
CALCULATION is a noun. Ensuring - making sure of 
something. Seizing - grabbing. 

101.  Answer: (C) 
We need a past participle form verb to fit in the 
present perfect tense construction HAVE + VERB. 
COLLAPSED (fallen) will fit here as the sentence tells 
us how the older fossil-filled sections have fallen into 
lower areas. Thus, (c) is the right answer. 
DESCENT is a noun. Categorized - sorted. Conspired 
- plotted secretly. 

102.  Answer: (D) 
We need a verb here to link the subject and the 
object. DEFIES (goes against) will fit here is the 
sentence tells us how the landscape does not favour 
easy reconstruction. Thus, (d) is the right answer. 
Denigrates - criticises. Divides - fragments. Deploys - 
makes use of. 

103. Answer: (B)  \ 
(B) is the right answer. 1-QRSP-6 is the correct 
sequence. (1) establishes the subject of the passage: 
STEVE. It tells us that Steve was born in Tokyo in 
1950. Q follows (1). It tells us that he moved to 
LONDON with his parents when he was 5 years old. 
R follows Q. The pronoun THERE tells us that the 
sentence talks about LONDON. It tells us that Steve 
started going to school in London. S follows R. It tells 
us that he lived in England for 2 years and then went 
to Jordan where he stayed for the next ten years. P 
follows S. It tells us that he moved to Cyprus where 
he took admission in the Mediterranean University. 6 
tells us that he did not succeed academically so he 
returned to Jordan. 

104. Answer: (C) 
(c) is the right answer. LACONIC means (of a person, 
speech, or style of writing) using very few words. 
CONCISE is the synonym. 
CONCEITED- excessively proud of oneself; vain. 
POMP- ceremony and splendid display. 
DEMENTED- behaving irrationally due to anger, 
distress, or excitement. 

105. Answer: (B)   
(B) is the right answer. We need an adjective to 
modify the noun JUDGE. The sentence seeks to 
convey that the criminal asked the judge to grant him 
parole but the judge did not listen to him and gave 
him a life sentence. ADAMANT fits contextually. If 
someone is ADAMANT about something, they are 
determined not to change their mind about 
it.ONEROUS- (of a task or responsibility) involving a 
great deal of effort, trouble, or difficulty. 
TIMID- showing a lack of courage or confidence; 
easily frightened. 
DAUNTLESS- showing fearlessness and 
determination. 

General Awareness 

106. Answer: (D) 
Champa River demarcated the Mahajanpadas of 
Magadha and Anga. 
Anga is mentioned in the Atharvaveda for the first 
time. Brahmadatta, the last independent ruler of 
ancient Anga, was killed by Bimbisara. 

107. Answer: (C) 
4 minutes is the difference of time between any two 
consecutive longitudes. 

108. Answer: (A) 
Under Article 72 of the Constitution, the President 
shall have the power to grant pardons, reprieves, 
respites or remissions of punishment or to suspend, 

remit or commute the sentence of any person 
convicted of any offence where the sentence is a 
sentence of death. 
Pardon: It removes both the sentence and the 
conviction and completely absolves the convict from 
all sentences, punishments and disqualifications. 
Commutation: It denotes the substitution of one form 
of punishment for a lighter form. For example, a death 
sentence may be commuted to rigorous 
imprisonment, which in turn may be commuted to a 
simple imprisonment. 
Remission: It implies reducing the period of sentence 
without changing its character. For example, a 
sentence of rigorous imprisonment for two years may 
be remitted to rigorous imprisonment for one year. 
Respite: It denotes awarding a lesser sentence in 
place of one originally awarded due to some special 
fact, such as the physical disability of a convict or the 
pregnancy of a woman offender. 
Reprieve: It implies a stay of the execution of a 
sentence (especially that of death) for a temporary 
period. Its purpose is to enable the convict to have 
time to seek pardon or commutation from the 
President. 

109. Answer: (A) 
Champaran Satyagarha was against . Under the 
Tinkathiya System, tenant had to cultivate indigo on 
three Kathas per bigha (3/20th of the land) of his 
holding during a long period and was entitled to get 
the price for it according to written agreements. 
Champaran is an area of historic significance. It was 
here in Champaran that Mahatma Gandhi, after his 
return from South Africa, tested his new weapon of 
Satyagraha on Indian Soil, which he had forged 
abroad. Tinkathiya System 

110. Answer: (A) 
Former foreign secretary Nirupama Rao has 
authored a new book titled “The Fractured Himalaya: 
How the Past Shadows the Present in India-China 
Relations”. The book is published by Viking Press, 
Penguin Random. 
The book depicts how the origins of the dispute 
between India and China form part of a living history 
that shapes their fractious relationship today. 

111. Answer: (A) 
Monetary policy refers to the policy of the central 
bank with regard to the use of monetary instruments 
under its control to achieve the goals specified in the 
Act. The Reserve Bank of India (RBI) is vested with 
the responsibility of conducting monetary policy. 

112. Answer: (D) 
Anganwadi workers have played an important role in 
controlling covid in Uttar Pradesh. So, to make their 
work more efficient and easier the state government 
has decided to provide them the smartphones. 
This move will expedite the functioning of Anganwadi 
workers to work and will give maximum transparency 
in the implementation of the schemes. 

113. Answer: (C) 
The Discovery of India was written by India's 
first Prime Minister Pandit Jawaharlal Nehru during 
his imprisonment in 1942–1945 at Ahmednagar fort in 
the present day Indian state of Maharashtra by the 
colonial authorities during the British Raj before the 
independence of India. 
Some Important books written by Mahatma 
Gandhi are: 

• Hind Swaraj or Indian Home Rule (1909) 

• Satyagraha in South Africa (1924, English Translation 
1928) 

• An Autobiography or The Story of My Experiments 
with Truth (1927) 

• Truth is God 
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• All Men are Brothers 

• Diet and Diet Reform 

• Gandhi's Autobiography- Abridged 

• Satyagraha in South Africa 
114.  Answer: (C) 

Fascism was founded during World War I by Italian 
national syndicalists who drew upon both left-wing 
organizational tactics and right-wing political views. 
Italian Fascism gravitated to the right in the early 
1920s. 

115.  Answer: (C) 
The Union Ministry of Information & 
Broadcasting has launched ‘Azadi Ki Amrit 
Kahaniya’, a short video series created in 
collaboration with Netflix to bring out beautiful stories 
of inspirational Indians on various themes including 
Women Empowerment, Environment & Sustainability, 
and others. Both have collaborated to produce the 
first set of videos featuring seven Women 
Changemakers from across India who share their 
experiences in breaking the glass ceiling. 
Seven women change-makers: 

• Basanti Devi, Padma-award winning 
environmentalist from Pithoragarh known for her 
contribution towards revitalizing the Kosi River. 

• Anshu Jamsenpa, a Padma Shri awardee for being 
the first woman in the world to summit Mount Everest 
twice in five days in 2017. 

• Harshini Kanhekar, the first female firefighter in 
India, were also present at the launch. 

• Poonam Nautiyal, a healthcare worker who walked 
miles across the Bageshwar district in Uttarakhand to 
vaccinate everyone. 

• Tessy Thomas, the first woman scientist to head a 
missile project in India. 

• Tanvi Jagadish, India's first competitive woman 
stand-up paddleboarder. 

• Aarohi Pandit, the world's youngest and first woman 
pilot to cross the Atlantic Ocean and the Pacific 
Ocean solo in a light-sport aircraft. 

116.  Answer: (A) 
Raleigh Commission was appointed under the 
presidency of Sir Thomas Raleigh on 27 January 
1902 to inquire into the condition and prospects of 
universities in India and to recommend proposals 
for improving their constitution and working. 

117.  Answer: (D) 
Union Minister for Information and Broadcasting Shri 
Anurag Thakur has recently inaugurated the first 
Himalayan Film Festival. This five-day-long festival is 
being organized in Leh, Ladakh from 24 to 28 
September 2021. 
Shershah is the opening feature film of the festival. 
The film is based on Param Vir Chakra Awardee 
Capt. Vikram Batra. The Director of the Shershah 
movie Vishnuvardhan and the lead actor Siddharth 
Malhotra have attended the inaugural session of the 
festival. 

118.  Answer: (B) 
As per the results of Census 2011, the sex ratio of the 
State of Kerala is 1084. When compared to the 2001 
Census, the sex ratio has improved by 26 points. The 
highest sex ratio is in the Kannur district (1136) 
whereas the lowest sex ratio is reported in the Idukki 
district (1006). 

119.  Answer: (D) 
Public Distribution System (PDS): 
The Public Distribution System (PDS) evolved as a 
system of management of scarcity through the 
distribution of food grains at affordable prices. Over 
the years, PDS has become an important part of the 

Government’s policy for the management of food 
economy in the country. 
As the national agricultural production had grown in 
the aftermath of the Green Revolution, the outreach 
of PDS was extended to tribal blocks and areas of 
high incidence of poverty in the 1970s and 1980s. 
In June, 1997, the Government of India launched 
the Targeted Public Distribution System (TPDS) 
with focus on the poor. 
The Revamped Public Distribution System (RPDS) 
was launched in June, 1992 with a view to strengthen 
and streamline the PDS as well as to improve its 
reach in the far-flung, hilly, remote and inaccessible 
areas where a substantial section of the poor live. 

120.  Answer: (A) 
Victoria Memorial: 
Victoria Memorial is one of the famous and beautiful 
monuments of Kolkata. It was built between 1906 and 
1921 to commemorate Queen Victoria's 25-year reign 
in India. After the Sepoy Mutiny of 1857, the British 
government gathered the reins of control of the 
country directly, and in 1876 the British parliament 
made Victoria the Empress of India. Her reign ended 
with her death in 1901. 
Lord Curzon, who was then the Viceroy of India, 
placed the question of setting up a 'stately' memorial 
for Queen Victoria, on her death in January 1901 to 
the public. The princes and people of India responded 
generously to his appeal for funds and Lord Curzon 
derived the total cost of construction of this 
monument amounting to one Crore, five lakhs of 
rupees (Rs.1,05,00,000) from their voluntary 
subscriptions. The Prince of Wales, King George V, 
laid the foundation stone on January 4, 1906 and it 
was formally opened to the public in 1921. 

121.  Answer: (C) 
Punjab Himalaya: 
Western Himalayas, also called Punjab Himalayas, 
westernmost section of the vast Himalayas mountain 
range. It lies mainly in the disputed Kashmir region of 
the northern Indian subcontinent—including portions 
administered by India and Pakistan—and also in the 
northwestern part of Himachal Pradesh state, India. 
Nepal Himalayas: 
Nepal Himalayas, east-central section and highest 
part of the Himalayan mountain ranges in south-
central Asia, extending some 500 miles (800 km) from 
the Kali River east to the Tista River. 
Kumaon Himalayas: 
Kumaun Himalayas, west-central section of the 
Himalayas in northern India, extending 200 miles (320 
km) from the Sutlej River east to the Kali River. 
Assam Himalayas: 
Assam Himalayas, eastern section of the Great 
Himalayas, extending eastward across Sikkim state 
(India) and Bhutan, into northern Assam and 
Arunachal Pradesh states (India), and along the 
border with the Tibet Autonomous Region (China). 

122.  Answer: (A) 
India will host the World Dairy Summit (WDS) 
2022 in Delhi from 12th to 15th September 2022. It will 
be organised by the International Dairy Federation 
(IDF) under the theme 'Dairy for nutrition and 
livelihood'. This summit is going to be held after a 
two-year gap due to the Covid-19 pandemic. 
Note: India had last hosted the International Dairy 
Congress in the year 1974. 

123.  Answer: (D) 
Jana-Gana-Mana: 
The poem was published in January 1912, under the 
title Bharat Bhagya Bidhata in the Tatwabodhini 
Patrika, which was the official publication of the 
Brahmo Samaj with Tagore then the Editor. 
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124.  Answer: (D) 
Satyashodhak Samaj is a social reform society 
established by Mahatma Jyotiba Phule in Pune, 
India, on 24 September 1873. 
Its purpose was to liberate the Shudra and 
Untouchable castes from exploitation and oppression. 

125.  Answer: (C) 
Mount Merapi, is an active stratovolcano located on 
the border between Central Java and Special Region 
of Yogyakarta provinces, Indonesia. It is Indonesia's 
most active volcano which erupted recently. 

126.  Answer: (D) 
The World Economic Outlook (WEO) is a report by 
the International Monetary Fund (IMF) that analyzes 
key parts of the IMF's surveillance of economic 
developments and policies in its member countries. 

127.  Answer: (D) 
Perfect Competition: 
Perfect competition is an ideal type of market 
structure where all producers and consumers have 
full and symmetric information, no transaction costs, 
where there are a large number of producers and 
consumers competing with one another. 
Perfect competition is theoretically the opposite of a 
monopolistic market. 
Since all real markets exist outside of the plane of the 
perfect competition model, each can be classified as 
imperfect. 

128. Answer: (C) 
Edward Jenner was an English physician and 
scientist who was the pioneer of smallpox vaccine, 
the world's first vaccine. 

129. Answer: (D) 
Frederick Sanger is the only person to have been 
awarded the Nobel Prize in Chemistry twice, and one 
of only four two-time Nobel laureates. 

130. Answer: (D) 
The marble cancer refers to the corrosion of building 
and statues made up of marbles by action of sulfuric 
acid and nitric acid. The SO2 and NOx present in 
pollution get deposited on these buildings. These 
oxides absorb moisture from the air and get 
converted into respective acids and cause corrosion. 

Computer Knowledge 

131.  Answer: (D) 
A data bus is a system within a computer or device, 
consisting of a connector or set of wires, that provides 
transportation for data. 
A bus is a pathway for digital signals to rapidly move 
data. 
There are three internal buses associated with 
processors: the data bus, address bus, and control 
bus. 
Each data bus is designed to handle so many bits of 
data at a time. 
The amount of data a data bus can handle is called 
bandwidth. 

132.  Answer: (A) 
A query is a request for data or information from a 
database table or combination of tables. 
This data may be generated as results returned by 
Structured Query Language (SQL) or as pictorials, 
graphs or complex results. 
One of several different query languages may be 
used to perform a range of simple to complex 
database queries. 
SQL, the most well-known and widely-used query 
language, is familiar to most database administrators 
(DBAs). 
Query languages generate different data types 
according to function. 

For example, SQL returns data in neat rows and 
columns and is very similar to Microsoft Excel in 
appearance. 

133.  Answer: (B) 
A stylus is an instrument shaped like a pen, designed 
to be used with graphics tablets or devices that use 
touch screen input. It is used to write or draw on a 
screen, similar to how you would on a sheet of paper. 
The stylus has the same function as a mouse or 
touchpad as a pointing device. 
The first use of a stylus in a computing device was 
the Styalator, demonstrated by Tom Dimond in 1957. 
A plotter is a computer hardware device much like a 
printer that is used for printing vector graphics. 
Printer is a peripheral machine which makes a 
persistent representation of graphics or text, usually 
on paper. 
A joystick is an input device that is commonly used 
to control gaming applications and used in graphics 
applications. 

134.  Answer: (D) 
In Microsoft Excel and other spreadsheet programs, 
pressing ‘Ctrl + Space’ selects the entire column 
containing the active cell. 
Consider the following steps to select one or more 
rows and columns: 
Step: #1 Select the letter at the top to select the entire 
column or click on any cell in the column and then 
press Ctrl + Space. 
Step: #2 Select the row number to select the entire 
row or click on any cell in the row and then press Shift 
+ Space. 
Step: #3 To select non-adjacent rows or columns, 
hold Ctrl and select the row or column numbers. 

135.  Answer: (A) 
SMPS stands for Switched-Mode Power Supply. It 
is an electronic power supply that uses a switching 
regulator to convert electrical power efficiently. It is 
also known as Switching Mode Power Supply. 
It is power supply unit (PSU) generally used in 
computers to convert the voltage into the computer 
acceptable range. 
This device has the power handling electronic 
components that converts electrical power efficiently. 
SMPS uses a great power conversion technique to 
reduce overall power loss. The device uses switching 
regulators that switches the load current on and off to 
regulate and stabilize the output voltage. 

136.  Answer: (B) 
Linux is a free open-source operating system (OS) 
based on UNIX that was created in 1991 by Linus 
Torvalds. 
Linux is typically packaged in a Linux distribution. It is 
the leading operating system on servers and other big 
iron systems such as mainframe computers, and the 
only OS used on TOP500 supercomputers. 
The most common use of Linux is as a server, but it is 
also used in desktop computers, smartphones, e-
book readers and gaming consoles. 

137.  Answer: (C) 
A mesh topology is a network setup where each 
computer and network device is interconnected with 
one another. 
This topology setup allows for most transmissions to 
be distributed even if one of the connections goes 
down. 
It is a topology commonly used for wireless networks 
and has the highest reliability. 
It is a local network topology in which the 
infrastructure nodes connect directly, dynamically and 
non-hierarchically to as many other nodes as 
possible. 
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They are typically used for things like home 
automation, smart HVAC control, and smart buildings. 

138.  Answer: (A) 
Microsoft has officially launched its new Windows 
operating system ‘Windows 11’ on June 24, 2021. It is 
being called the “next generation” of Windows. 

139.  Answer: (B) 
Bandwidth is defined as the potential of the data that 
is to be transferred in a specific period of time. 
It is the data carrying capacity of the network or 
transmission medium. 
It is usually expressed in bits, megabits, or gigabits 
per second. 
In telecommunications, bandwidth refers to the range 
that carries a signal within a band of frequencies. 
This type of bandwidth is measured in Hertz (Hz) and 
is calculated by finding the difference between the 
upper and lower frequency limits of a signal. 

140.  Answer: (D) 
A jumper is a tiny metal connector that is used to 
close or open part of an electrical circuit. It may be 
used as an alternative to a dual in-line package (DIP) 
switch. Jumpers are found in computer hardware as 
well as other types of electronic devices. 
A jumper has two or more connecting points, which 
regulate an electrical circuit board. 
It is a small metal connector that acts as an on/off 
switch. 
Multiple jumpers are often used together to configure 
settings for a hardware device. 

141.  Answer: (A) 
A null character is a character with all its bits set to 
zero. 
It has a numeric value of zero and can be used to 
represent the end of a string of characters, such as a 
word or phrase. 
A null character is also known as a null terminator. 
It is available in most major programming languages 
and many major character sets, including ASCII and 
Unicode. 
Null character has wide implementation in 
programming languages and applications. 
In practical applications, such as database and 
spreadsheet programs, null characters are used as 
fillers for spaces. 

142.  Answer: (D) 
A metafile is a file that contains specifications for 
another file. 
Metafiles are commonly associated with digital 
graphics, particularly vector images. 
A metafile can refer to two different types of computer 
files. 
The first is a file that describes the contents of other 
files. 
This type of metafile may contain metadata, which 
defines a group other files and gives a summary of 
what data they contain. 
The second type of metafile is most often used in 
computer graphics. 
These files define objects and images using a list of 
coordinates. 

143.  Answer: (C) 
Myspace is an American social networking service 
which was the largest social networking site in the 
world from 2005-2008. 
Myspace was first created by Tom Anderson and 
Chris DeWolfe in July 2003. 
It was created as an online community for anyone to 
connect and share their journals, pictures, music, and 
interests with friends. 
Myspace was acquired by News Corporation in July 
2005. 

It was the first social network to reach a global 
audience. 

144.  Answer: (D) 
The third generation of computers used integrated 
circuits instead of transistors technology that was 
used in computers of second-generation. Its time 
period was around 1964 to 1970. 
An integrated circuit is a small chip that was the 
trademark of the computers of third generation. 
The integrated circuit used in 3rd generation 
computers can work as computer memory, 
microprocessor or even an amplifier. 
The technology used in the 3rd generation computers 
made them more reliable, efficient and smaller in size 
as compared to first and second generations of 
computers. 

145.  Answer: (A) 
A Trojan horse is a type of malicious code or 
software that looks legitimate but can take control of 
your computer. 
It is designed to damage, disrupt, steal, or in general 
inflict some other harmful action on your data or 
network. 
It acts like a bona fide application or file to trick you. 
It seeks to deceive you into loading and executing the 
malware on your device. 
When the user executes the program, the malware 
can spread to other files and damage your computer. 

146.  Answer: (A) 
Recycle Bin is a location where deleted files or 
folders are temporarily stored in every version of 
Microsoft Windows since Windows 95. 
Recycle Bin allows users to recover files that were 
deleted in Windows. 
Deleted files are not permanently removed from the 
hard drive but are sent instead to the Recycle Bin, 
unless they are too large. The files in the Recycle Bin 
can be restored to their original location. 
They cannot be used directly while they are in the 
Recycle Bin. 

147.  Answer: (C) 
A high-level language (HLL) is a programming 
language that enables a programmer to write 
programs that are more or less independent of a 
particular type of computer. 
Such languages are considered high-level because 
they are closer to human languages and further from 
machine languages. High-level languages are 
designed to be used by the human operator or the 
programmer. 
BASIC, C/C++, FORTRAN, PROLOG and Java are 
popular examples of high-level languages. 
Assembly languages are considered low-level 
because they are very close to machine languages. 

148.  Answer: (C) 
A syntax error is an error in the syntax of a coding or 
programming language, entered by a programmer. 
Syntax errors are caught by a software program 
called a compiler. 
The programmer must fix them before the program is 
compiled and then run. 
Syntax errors are different from errors that affect 
programs during run time. 
Syntax errors are small grammatical mistakes, 
sometimes limited to a single character. 
For example, a missing semicolon at the end of a line 
or an extra bracket at the end of a function may 
produce a syntax error. 

149.  Answer: (D) 
A flow chart is a type of diagram representing a 
process using different symbols containing 
information about steps or a sequence of events. 
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Each of these symbols is linked with arrows to 
illustrate the flow direction of the process. 
It is a methodology used to analyse, improve, 
document and manage a process or program. 
Flowcharts are commonly used in developing 
business plans, designing algorithms and determining 
troubleshooting steps. 
The purpose of a flow chart is to provide people with 
a common language or reference point when dealing 
with a project or process. 

150.  Answer: (C) 
A patch is a software update comprised code 
inserted into the code of an executable program. 
It is a small piece of software that is used to correct a 
problem, usually called a bug, within an operating 
system or software program. 
Skipping over these important updates can leave your 
computer, phone, or other device open to malware 
attacks that the patch is intended to prevent. 
In Windows, most patches, fixes, and hotfixes are 
made available via Windows Update. 
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            उम्मीदवारो ों को निदेश   

प्रश्ो ों को हल करिे से पहले निम्ननलखित निदेशो ों को ध्याि से पढ़ें। 

(1) इस पुस्तिका में 150 Questions हैं, जो कक निम्ननलखित तीि Section में शानमल हो ोंगे नििमें प्रते्यक में दो Module हो ोंगे: 

  

Section-I : 60 minutes Section-II : 60 minutes Section-III : 15 minutes 

Module-I: Mathematical 
Abilities (30 Questions) 

Module-I: English Language and 
Comprehension  
(45 Questions) 

Module-I: Computer 
Knowledge Test  
(20 Questions) 

Module-II: Reasoning and 
General Intelligence.  
(30 Questions) 

Module-II: General Awareness  
(25 Questions) 

 

(2) सभी प्रश् अनिवार्य हैं तथा सबके बराबर अोंक हैं। उम्मीदवारो ों के नलए पेपर- I  के सभी वगों को उत्तीर्य करिा अनिवार्य होगा। 

(3) प्रश्ोों को हल करना प्रारम्भ करने से पहले आपको इस पुस्तिका की जाोंच करनी चाकहए और यह सुकनकित करना चाकहए कक इसमें सभी पृष्ठ 

उपस्तथित हैं और कोई पृष्ठ कम या बदला हुआ नही ों है। अगर आपको इस पुस्तिका में कोई दोष कमलता है, तो आपको तुरोंत इसे बदलना 

होगा। 

(4) प्रते्यक प्रश् में िकारात्मक अोंकि होता है क्ोोंनक प्रते्यक गलत उत्तर के नलए 1/3 अोंक काट नदर्ा िाएगा। 

(5) उत्तर केवल पेंनसल र्ा बै्लक  /बू्ल बॉल पेि  द्वारा उत्तर -  पुस्तिका प्रासोंकगक प्रश् सोंख्या के सम्बोंकित गोले को पूरी तरह से बै्लक करके 

कदखाया जाना चाकहए। 

(6) OMR उत्तर पुस्तिका को एक मशीन द्वारा जाोंचा जायेगा। यकद ककसी स्तथिकत में उपलब्ध जानकारी , आवेदन पत्र में दी गयी जानकारी से अलग 

पायी गयी, तो आवेदक का आवेदन कनरि कर कदया जायेगा।  

(7) कनरीक्षक की अनुमकत कमलने के बाद ही कोई परीक्षा कक्ष छोड़ सकता है। 

(8) उपरोक्त में से ककसी भी कनदेश का अनुपालन करने में कवफल उम्मीदवार को उपयुक्त काययवाही /जुमायना के कलए उत्तरदायी समझा जा 

सकता है।   

(9)  कजतनी जल्दी हो सके उतनी जल्दी और साविानी से प्रश्ोों का उत्तर दें। कुछ सवाल ककिन हो सकते हैं और दूसरे आसान हो सकते हैं। 

ककसी भी प्रश् पर ज्यादा समय नही ों कबताएों ।  

(10)  मोबाइल फोन और वायरलेस सोंचार उपकरण, परीक्षा कक्ष /कमरे में पूरी तरह से प्रकतबोंकित  हैं। कोई भी आवेदक अपने मोबाइल का या 

ककसी वायरलेस सोंचार उपकरण को बोंद करके भी अपने पास नही ों रख सकता। कनयम का उल्लोंघन करने पर आवेदक के कवरूद्ध उकचत 

काययवाही की जायेगी और उसका आवेदन भी कनरि ककया जा सकता है। 

(11)  उत्तर-पत्र पर कोई रफ काम नही ों ककया जाना चाकहए। 

(12)  कोई भी उम्मीदवार परीक्षा पूरा होने से पहले परीक्षा कक्ष नही ों छोड़ सकता है। 

        

िब तक आपको र्ह परीक्षर् पुखिका िोलिे को ि कहा िाए तब तक ि िोलें । 

टेस्ट फॉमय िोंबर 
अनिकतम अोंक  : 450 

कुल प्रश्    : 150 

नििायररत समर्  : 135 नम.   

परीक्षाथी का िाम:..................................................... 

नदिााँक:............... परीक्षा कोड ................................. 

अिुक्रमाोंक:............................................................... 

 

 

Maximum Marks : 100 

Total Questions : 100 

Time Allowed :   90 Min. 
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Section-I : 60 minutes 

Mathematical Abilities  

1. एक फशय पर कगरने के बाद, एक रबर की गेंद उस ऊों चाई 

के (4/5)th तक वापस उछलती है, कजस ऊों चाई से इसे 

कगराया जाता है | स्तथिर होने के पहले गेंद द्वारा तय की गई 

दुरी ज्ञात करें  (मीटर में) यकद इसे आराम से 100 मीटर की 

ऊों चाई से कगराया जाता है|  

(A) 900 मीटर  (B) 800 मीटर 

(C) 720 मीटर  (D) 640 मीटर 

 

2. A और B अकेले एक कायय को क्रमशः  25 और 40 कदन में 

कर सकते हैं | अब एक नए प्रकक्रया के अनुसार, वे A से 

शुरू होते हुए एक के बाद एक कदन छोड़ कर कायय करते 

हैं और प्रते्यक 2 कदन के कायय के बाद वे 1 कदन का 

अवकाश लेते हैं और अवकाश के बाद वह व्यस्तक्त कायय 

शुरू करता है जो अवकाश के एक कदन पहले कायय करता 

है | इस प्रकक्रया से, पुरे कायय को समाप्त करने में ककतने 

कदन लगेंगे?   

(A) 45 कदन  (B) 46 कदन 

(C) 54 कदन  (D) 53 कदन 

 

3. चार सोंख्याएों  इस तरह हैं कक जब ककसी तीन सोंख्याओों के 

औसत को शेष चौिे सोंख्या में जोड़ा जाता है तो प्राप्त 

सोंख्या क्रमशः  348, 380, 420 और 364 है| इन सभी में 

सबसे बड़ी सोंख्या ज्ञात करें  |   

(A) 192   (B) 252 

(C) 168   (D) 144 

 

4. एक कवके्रता Rs. 900 में एक विु को खरीदता है | वह इस 

विु को 10% की छुट प्रदान कर 25% लाभ पर बेचता है| 

विु का अोंककत मूल्य ककतना है? 

(A) Rs. 1250  (B) Rs. 1650 

(C) Rs. 1125  (D) Rs. 1450 

 

5. गेंहू की कीमत में 10% की कगरावट आने के कारण एक 

ग्राहक Rs. 270 में 5 ककलो अकिक गेंहू को खरीद सकता 

है | गेंहू के प्रकत ककलो वािकवक और घटे हुए मूल्य के बीच 

का अोंतर ककतना है? 

(A) 80-पैसे  (B) Rs. 1.2 

(C) 40-पैसे  (D) 60-पैसे 

 

6. राजीव एक बैंक से 3 वषों के कलए 12% प्रकतवषय वाकषयक 

देय चक्रवृस्तद्ध ब्याज पर उिार लेता है | दुसरे वषय के अोंत 

में, वह Rs. 5197 का भुगतान करता है और तीसरे वषय के 

अोंत में Rs. 1204 का भुगतान कर सभी ऋण चुकता कर 

देता है| Rajiv द्वारा कलए गए ऋण की मात्रा ज्ञात करें | 

(A) Rs. 4500  (B) Rs. 8000 

(C) Rs. 5000  (D) Rs. 6000 

 

7. कदए गए आोंकड़े में ABCD एक आयत है कजसमें AB = 8 

सेमी और AD = 2 सेमी है। छायाोंककत के्षत्र का के्षत्रफल 

ककतना है? 

 
(A) 8 सेमी2  (B) 4 सेमी2 

(C) 6.4 सेमी2  (D) 7.2 सेमी2 

 

8. कबोंदु P से एक 16सेमी लम्बी स्पशयरेखा खी ोंची जाती है जो 

कबोंदु Q पर वृत्त को स्पशय करता है और कबोंदु P और वृत्त के 

कें द्र के बीच की दुरी 20सेमी है, वृत्त की कत्रज्या ज्ञात करें | 

(A) 15 सेमी  (B) 12 सेमी 

(C) 18 सेमी  (D) 22 सेमी 

 

9. यकद एक समकोण आयताकार कप्रज़्म के फलक का 

के्षत्रफल 35 सेमी2 और 56 सेमी2 है, और कप्रज्म का 

आयतन 280 सेमी3 है, तो कप्रज़्म के समू्पणय पृष्ठ का 

के्षत्रफल (सेमी2 में) ककतना है? 

(A) 262 सेमी2  (B) 254 सेमी2 

(C) 264 सेमी2  (D) 248 सेमी2 

 

10. एक कनयकमत षट्भुज की प्रते्यक भुजा 20 सेमी है।उस 

सबसे बड़े समबाहु कत्रकोण का सोंलग्न के्षत्र ककतना है जो 

इस षट्भुज के अोंदर कफट होगा? 

(A) 300√3 सेमी2  (B) 240√3 सेमी2 

(C) 200√3 सेमी2  (D) 360√3 सेमी2 

 

11. [secx(1 – sinx)(sinx + cosx)(secx + tanx)]/[sinx(1 

+ tanx) + cosx(1 + cotx)] का मान ज्ञात करें? 

(A) sinxcosx  (B) 2sinx 

(C) cosecxsecx  (D) 2cosx 

 

12. यकद x3 – 3x2 + 4x + 2 = 0 के सूत्र p, q और r हैं, तो 1 

/ p + 1 / q + 1 / r का मान ककतना है? 

(A) -2   (B) 0 

(C) 2   (D) -1 

 

Direction: (13-15): कदए गए दोंड आरेख 2013 से 2017 तक 

एक देश द्वारा steel के आयात (ककलो में) और कनयायत 

(ककलो में) को दशायता है। 

 

 
 

13.  2013 और 2015 में steel के कुल आयात और 2014 

और 2016 में steel के कुल कनयायत का अनुपात ककतना 

है? 
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(A) 7:8   (B) 8:7 

(C) 7:6   (D) 6:7 

 

14.  2014 और 2016 में steel के आयात की कुल मात्रा 2017 

में steel के कुल कनयायत से ककतना प्रकतशत अकिक / कम 

है? 

(A) 43.33%  (B) 46.67% 

(C) 42.44%  (D) 45.67% 

 

15. 2013 और 2017 के बीच steel के आयात और कनयायत 

की औसत मात्रा के बीच अोंतर ज्ञात करें? 

(A) 22/3 ककलो  (B) 32/3 ककलो 

(C) 0 ककलो  (D) 9 ककलो 

 

16. एक कत्रभुज के कनदेशाोंक A (2, 5), B (-2, 3) और C (0, -

3) हैं; उसके मास्तिका AD का समीकरण ज्ञात करें? 

(A) 8x – 5y + 3 = 0 (B) 6x – 3y + 4 = 0 

(C) 5x – 3y + 5 = 0 (D) 4x – 2y + 7 = 0 

 

17. वह नू्यनतम पूणाांक कजसके कलए inequality {(x – 

5)/(x2 + 2x – 35)} > 0 सत्य है: 

(A) 0   (B) -6 

(C) -5   (D) -7 

 

18. एक 3.8 मीटर लम्बी सीढ़ी एक कदवार पर कटकी है और 

सीढ़ी का तल दीवार के तल से 3.2 मीटर की दुरी पर 

है|यकद सीढ़ी की चोटी 0.6 मीटर से स्तखसक जाती है तो 

सीढ़ी का तल लगभग ककतने मीटर से स्तखसकता है?   

(A) 0.16 मीटर  (B) 0.31 मीटर 

(C) 0.88 मीटर  (D) 1.02 मीटर 

 

19. एक नाव शाोंत जल में 6 km/h की गकत से चल रही है, 

420 km ऊँचे चोटी से नाव की अवनमन कोण को 60º से 

45º बदलने के कलए कलया गया कुल समय ककतना है?(√3 

= 1.732)  

(A) 2 कमनट  (B) 5 कमनट 

(C) 8 कमनट  (D) 12 कमनट 

 

20. यकद a = 997, b = 998 और c = 999 है, तो a3 + b3 + 

c3 - 3abc का मान ज्ञात करें। 

(A) 8982  (B) 10000 

(C) 7925  (D) 9999 

 

21.  एक कमरे की ऊों चाई, लोंबाई और चौड़ाई क्रमशः  8 मीटर, 

12 मीटर और 6 मीटर है। कमरे की चार दीवारोों को रोंगने 

की लागत ज्ञात करें , यकद 12 m2 के के्षत्र को रोंगने की 

लागत Rs. 100 है। 

(A) Rs. 28,800  (B) Rs, 14,400 

(C) Rs. 2,400  (D) Rs. 4,200 

 

22.  '4' और '9' के माि आनुपाकतक और '3', '5' और '6' के 

चौिे समानुपाती का अनुपात ज्ञात करें। 

(A) 5:6   (B) 1:4 

(C) 2:3   (D) 3:5 

 

23. एक सोंख्या को 754 से कवभाकजत करने पर 17 शेषफल 

बचता है। यकद समान सोंख्या को 13 से कवभाकजत ककया 

जाए, तो कनम्नकलस्तखत में से कौन-सा शेषफल रहेगा? 

(A) 4   (B) 8 

(C) 2   (D) 0 

 

24. एक राकश को जब 20% प्रकत वषय चक्रवृस्तद्ध ब्याज (वाकषयक 

देय पर) पर कनवेश ककया जाता है तो वह (11/4) वषों के 

बाद सोंचकयत होकर Rs. 9,936 हो जाती है। कनवेश की गई 

राकश ज्ञात करें। 

(A) Rs. 5,400  (B) Rs. 6,000 

(C) Rs. 7,200  (D) Rs. 6,400 

 

25.  एक विु के अोंककत मूल्य और क्रय मूल्य का अनुपात 

क्रमशः  5:4 है। यकद विु को 12% की छूट देकर इस 

प्रकार बेचा जाता है कक उसे Rs.40 का लाभ हो, तो विु 

का अोंककत मूल्य ज्ञात करें। 

(A) Rs. 800  (B) Rs. 500 

(C) Rs. 750  (D) Rs. 660 

 

26.  कनम्न का सरल मान ज्ञात करें : 

√41 + 12√5 v 

(A) (6 – √5)  (B) (6 + √5) 

(C) (2 + √3)  (D) (3 – √2) 

 

27.  यकद एक वगय ABCD के कवकणय BD की लोंबाई 12.5 सेमी 

है, तो वगय का के्षत्रफल ज्ञात करें। 

(A) 75.525 सेमी2  (B) 82.50 सेमी2 

(C) 78.125 सेमी2  (D) 80.125 सेमी2 

 

28.  {cot10o × cot200o × cot 60o × cot 80o × cot70o} 

का मान ज्ञात करें। 

(A) (1/√3)  (B) 1 

(C) √3   (D) 0 

 

29.  राकेश अपनी आय का 50% खचय करता है। यकद उसकी 

आय में 20% की वृस्तद्ध होती है जबकक उसके व्यय में 8% 

की वृस्तद्ध होती है, तो उसकी बचत में प्रकतशत पररवतयन 

ज्ञात करें। 

(A) 12%  (B) 32% 

(C) 25%   (D) 18% 

 

30.  ABCD एक समकद्वबाहु समलम्ब है जहाँ AB||DC है। यकद 

AB = 4 सेमी, DC = 8 सेमी और समलम्ब का के्षत्रफल 9 

सेमी2 है, तो समलोंब की ऊँचाई ज्ञात करें। 

(A) 1.25 सेमी  (B) 1.50 सेमी 

(C) 1.75 सेमी  (D) 2.00 सेमी 

Reasoning and General Intelligence 

31. उस कवकल्प का चयन कीकजए, जो दपयण के दाएँ ओर 

रखे जाने पर दी गई आकृकत की दपयण छकव से सबसे 

सही ढोंग से कमलता-जुलता है। 

 

(A)    
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(B)  

(C)    

(D)  

32. जब पेपर को कबन्दु रेखा पर मोड़ा जाता है और कदए गए 

अनवर कछकद्रत ककया जाता है, तो कदए गए चार कवकल्पोों 

I, II, III और IV में से कौन-सा पैटनय प्रदकशयत होगा? 

 

(A)  (B)  

(C)  (D)  

 

33. उस कवकल्प का चयन करें  जो पाोंचवी ों सोंख्या से उसी 

तरह से सोंबोंकित है कजस प्रकार से दूसरी सोंख्या पहली 

सोंख्या से सोंबोंकित है और चौिी सोंख्या तीसरी सोंख्या से 

सोंबोंकित है। 

27:53:: 84:80::96:? 

(A) 117   (B) 105 

(C) 140   (D) 118 

 

34. उस कवकल्प का चयन करें  जो तीसरे अक्षर समूह से उसी 

तरह से सोंबोंकित है कजस प्रकार दूसरा अक्षर-समूह पहले 

अक्षर - समूह से सोंबोंकित है। 

EGIK: HKNQ:: JLNP:? 

(A) LORU  (B) MPRV 

(C) MRSU  (D) MPSV 

 

35. एलेक्स कबोंदु A से उत्तर की ओर 4 मीटर तक चलता है, 

कफर वह दाएों  मुड़ता है और 6 मीटर चलता है। अोंत में 

वह एक दाएँ मुड़ता है और कबोंदु C तक पहँुचता है जो 

कबोंदु A के पूवय में है। रॉन कबोंदु B से दकक्षण की ओर 

चलना शुरू करता है और कबोंदु A और C के बीच की 

नू्यनतम दूरी के आिी दूरी तक चलता है। वह दाएँ मुड़ता 

है और 9 मीटर तक चलता है। अोंत में वह कबोंदु C तक 

पहँुचने के कलए दाएँ मुड़ता है जो B के पकिम में है। दोनोों 

के द्वारा पैदल चलते हुए तय की गई दूरी के बीच का 

अोंतर ककतना है? 

(A) 15 मीटर  (B) 1 मीटर 

(C) 7 मीटर  (D) 11 मीटर 

 

36. K का कपता G है जो A का भाई है। M, A की कसस्टर इन 

लॉ है, जो R की बेटी है। T को केवल दो बेटे हैं। K, R की 

पोती /नाकतन है। A, जो एक पुरुष है, उसका केवल एक 

सहोदर है। M, T से कैसे सोंबोंकित है? 

(A) बहन  (B) भाोंजी/भतीजी 

(C) पोती/नाकतन  (D) बहू 

 

37. एक कनकित कोकडत भाषा में, 'cure and heal' को 

'219' के रूप में कोकडत ककया जाता है, 'heal the 

scar' को '509' के रूप में कोकडत ककया जाता है, तो 

शब्द 'heal' का कोड क्या है? 

(A) 2   (B) 1 

(C) 0   (D) 9 

 

38. ककसी कोड भाषा में, RETAIN को 24 के रूप में कोकडत 

ककया जाता है, BESIDES को 35 के रूप में कोकडत 

ककया जाता है और PROCEDURE को 63 के रूप में 

कोकडत ककया जाता है, कफर GIVEN के कलए कोड क्या 

है? 

(A) 8   (B) 15 

(C) 24   (D) 80 

 

39. कनम्नकलस्तखत प्रश् में, समान ओर की दो सोंख्या को आपस 

में बदल कर समीकरण को सही करें । 

120 ÷ 3 + 14 x 4 - 11 = 100 - 15 x 26 ÷ 13 

(A) 11 और 14  (B) 15 और 13 

(C) 3 और 4  (D) 100 और 26 

 

40. 17 कसतम्बर, 2012 को सप्ताह का कौन-सा कदन िा? 

(A) शकनवार  (B) बृहस्पकतवार 

(C) रकववार  (D) सोमवार 

 

41. कनम्नकलस्तखत प्रश् में, एक पासे के छह फलक 4, 6, 8, s, t 

और u हैं। समान घन के चार स्तथिकतयाँ कदए गए हैं। यकद 

'6' घन के शीषय पर होता है, तो सबसे कनचले फलक पर 

क्या होगा? 

 
(A) 8   (B) u 

(C) t   (D) 4 

 

42. नीचे कदए गए प्रश् में, दो किन तिा उनका अनुसरण 

करते हुए निष्कर्य: I, II और III कदये गए हैं। आपको कदए 

गए किनोों को सत्य मानना है, भले ही वे आमतौर पर 

ज्ञात तथ्ोों से कभन्न होों। सभी कनष्कषय पढ़ें  और कनिायररत 

करें  कक कदए गए कनष्कषों में से कौन-सा कनष्कषय 

सामान्यतः  ज्ञात तथ्ोों की अवहेलना करते हुए तकय सोंगत 

रूप से कदए गए किनोों का अनुसरण करता है। 

कथि : सभी वाोंट, कवशेस हैं। 

कोई नीड, वाोंट नही ों हैं। 

निष्कर्य : I. कुछ कवशेस, नीड्स नही ों हैं। 

II. कोई नीड, कवश नही ों हैं। 

(A) केवल I अनुसरण करता है   

(B) केवल II अनुसरण करता है 

(C) I और II दोनोों अनुसरण करते हैं  

(D) या तो I या II अनुसरण करता है 

 

43. नीचे कदए गए प्रश् में, दो किन तिा उनका अनुसरण 

करते हुए निष्कर्य: I, II और III कदये गए हैं। आपको कदए 

गए किनोों को सत्य मानना है, भले ही वे आमतौर पर 
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ज्ञात तथ्ोों से कभन्न होों। सभी कनष्कषय पढ़ें  और कनिायररत 

करें  कक कदए गए कनष्कषों में से कौन-सा कनष्कषय 

सामान्यतः  ज्ञात तथ्ोों की अवहेलना करते हुए तकय सोंगत 

रूप से कदए गए किनोों का अनुसरण करता है। 

कथि: कुछ लीफलेट, पैम्फलेट हैं। 

कोई पैम्फलेट, पेज नही ों है। 

निष्कर्य: I. सभी पैम्फलेट, लीफलेट हैं। 

II. कोई पेज, लीफलेट नही ों है। 

III. कुछ लीफलेट, पेज हैं। 

(A) केवल I अनुसरण करता है।   

(B) या तो I या III अनुसरण करता है। 

(C) केवल I और II अनुसरण करता है।  

(D) या तो II या III अनुसरण करता है। 

 

44. कनम्नकलस्तखत शृ्ोंखला में उस पद का चयन करें  जो प्रश् 

कचह्न (?) को प्रकतथिाकपत करेगा। 

BEF, HIJ, ? , TQR, ZUV 

(A) OLM  (B) LNO 

(C) NMN  (D) LMN 

 

45. कदए गए कवकल्पोों में से लुप्त सोंख्या का चयन करें । 

 
(A) 10   (B) 9 

(C) 7   (D) 5 

 

46. छह अलग-अलग रोंग के बॉक्स के अलग-अलग आकार 

हैं। लाल रोंग का बॉक्स कम से कम दो बॉक्स से बड़ा है। 

काला रोंग का बॉक्स हरे और सफ़ेद दोनोों से छोटा है। 

नारोंगी रोंग का बॉक्स लाल और पीले से छोटा है। सफ़ेद रोंग 

का का बॉक्स हरे से बड़ा है। काले रोंग का बॉक्स से केवल 

दो बॉक्स बड़े हैं। कनम्नकलस्तखत में से कौन-सा सही है? 

(A) नारोंगी रोंग का बॉक्स हरे रोंग के बॉक्स से बड़ा है। 

(B) सफ़ेद रोंग का बॉक्स केवल एक बॉक्स से छोटा है। 

(C) हरे रोंग का बॉक्स लाल रोंग के बॉक्स से छोटा है। 

(D) पीले रोंग का बॉक्स केवल एक बॉक्स से बड़ा है। 

 

47. कनम्नकलस्तखत चार में से तीन सोंख्या-जोड़े एक कनकित 

तरीके से एक जैसे हैं और एक अलग है। कवषम चुनें। 

(A) 8 : 70  (B) 13: 175 

(C) 9 : 90  (D) 11 : 127 

 

48. नीचे कदए गए प्रश् में, एक किन के बाद दो कनष्कषय कदए 

गए हैं| आपको कदए गए किनोों को सत्य मानना है भले ही 

वे आम तौर पर ज्ञात तथ्ोों से कभन्न हो| कनिायररत करें  कक 

कौन-सा कनष्कषय ताककय क रूप से अनुसरण करता है| 

अकिकतर एिलीट, तैराक हैं| कुछ तैराक, कलाकार हैं| 

निष्कर्य I: कोई एिलीट, कलाकार नही ों हो सकता है| 

निष्कर्य II: कुछ तैराक, एिलीट हैं| 

(A) केवल कनष्कषय I अनुसरण करता है 

(B) केवल कनष्कषय II अनुसरण करता है 

(C) दोनोों कनष्कषय अनुसरण करते हैं   

(D) न तो कनष्कषय I और न ही कनष्कषय II अनुसरण करता 

है 

49. कनम्नकलस्तखत शब्दोों को एक ताककय क और साियक क्रम में 

व्यवस्तथित करें : 

(1) दवा की पची  (2) कफकजयोिेरेकपस्ट 

(3) दुघयटना  (4) आराम 

(5) दवा   (6) चोट 

(A) 3,6,2,5,1,4  (B) 3,6,2,1,4,5 

(C) 3,6,2,1,5,4  (D) 3,6,4,2,1,5 

 

50. एक शृ्ोंखला लुप्त पद के साि दी गई है। कदए गए 

कवकल्पोों में से सही कवकल्प चुनें जो शृ्ोंखला को पूरा 

करेगा। 

BBBBBBOB, BBBOBBBB, BBBBBOBB, BBOBBBBB, 

BBBBOBBB 

(A) BBBBBOBB  (B) BBBBBBOB 

(C) BBBBBBBO  (D) BOBBBBBB 

 

51. 110 सैकनक सामने से लेकर अोंत तक एक कतार में खड़े 

हैं। सामने से A का थिान 56 वाों है। कदए गए कतार के 

अोंत से A का थिान क्या है? 

(A) 55 वाों  (B) 54 वाों 

(C) 56 वाों   

(D) कनिायररत नही ों ककया जा सकता 

 

52. नीचे कदए गए प्रश् में, तीन किन के बाद कनष्कषय I और II 

कदए गए हैं। आपको कदए गए किनोों को सत्य मानना है, 

भले ही वे सामान्यतः  ज्ञात तथ्ोों से कभन्न प्रतीत होते होों। 

कनष्कषों को पढ़ें  और तय करें  कक कदए गए कनष्कषों में से 

कौन सा कदए गए किनोों का ताककय क रूप से अनुसरण 

करता है, सामान्यतः  ज्ञात तथ्ोों की अवहेलना करता है। 

कथि: सभी मैट्स, टॉयज हैं। 

कोई ग्लॉस, मैट्स नही ों है। 

निष्कर्य: I. कुछ टॉयज, मैट्स हैं। 

II. कुछ टॉयज, ग्लॉस नही ों है। 

(A) केवल I अनुसरण करता है।   

(B) दोनोों I और II अनुसरण करते हैं। 

(C) या तो I या II अनुसरण करता है।  

(D) कोई भी कनष्कषय अनुसरण नही ों करता है। 

 

53. नीचे कदए गए प्रश् में, दो किनो के बाद एक कनष्कषय कदया 

गया है। उसी के अनुसार उत्तर को अोंककत करें । 

(a) भारत में एक राज्य से दूसरे राज्य में विुओों को लाने 

ले जाने की तुलना में कवदेशोों से भारत में विुओों को 

लाना आसान है। 

(b) भारत सरकार ने आयाकतत विुओों के कलए शुल्क 

कम कर कदया है। 

निष्कर्य : कवदेशी कों पकनयाों भारत में अकिक कनवेश कर 

रही हैं। 

(A) कनष्कषय कनकित रूप से सत्य है।   

(B) कनष्कषय कनकित रूप से असत्य है। 

(C) कनष्कषय सोंभाकवत रूप से सत्य या असत्य है। 

(D) कनष्कषय नही ों कनकाला जा सकता है। 

 

54. कनम्नकलस्तखत वणय युग्ोों में से तीन ककसी प्रकार से एक 

समान हैं और एक अलग है। असोंगत को ज्ञात कीकजए। 
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(A) CFI   (B) EJO 

(C) BDF   (D) DHP 

55. एक पररवार की तीन बहनें और तीन भाई एक रेखीय पोंस्तक्त 

में इस प्रकार से बैिे हैं, कक बहनें उत्तर की ओर मुखररत हैं 

जबकक भाई दकक्षण की ओर मुखररत हैं। W अपने भाई के 

कनकटथि दाएँ बैिा है। H कोनोों में से एक पर बैिा है। G 

दकक्षण कदशा की ओर मुखररत नही ों है। O, Y के बाएों  से 

दूसरे थिान पर बैिा है। O दकक्षण की ओर मुखररत है। G 

के दाईों ओर दो व्यस्तक्त बैिे हैं। G, W का भाई नही ों है। Y, 

न तो H और न ही N के आसन्न बैिा है। N और G के बीच 

में एक व्यस्तक्त बैिा है जो कवपरीत कदशाओों की ओर 

मुखररत हैं। कनम्नकलस्तखत में से कौन-सा समूह बहनोों का है? 

(A) H, W और G  (B) N, O और H 

(C) Y, G और W  (D) G, W और N 

 

56. नीचे समान घन के दो फलकोों को दशायया गया है| सोंख्या 

2 के कवपरीत फलक पर कौन-सी सोंख्या कदखाई देगी? 

 
  (A) 2   (B) 3 

(C) 1   (D) 4 

 

57. कनम्नकलस्तखत शब्दोों को अोंगे्रजी शब्दकोश के क्रम अनुसार 

व्यवस्तथित करें । 

1. Wagnor  2. Wagged 

3. Wabash  4. Waggon 

5. Wackily 

(A) 3 5 2 1 4  (B) 3 5 1 4 2 

(C) 3 2 1 4 5  (D) 3 5 2 4 1 

 

58. एक शब्द को कवकल्पोों में कदए गए सोंख्याओों के समूह में 

से केवल ककसी एक के द्वारा दशायया जाता है। कवकल्पोों में 

कदए गए सोंख्याओों के समूहोों को, नीचे कदए गए दो 

आवु्यहोों में दशायये गए वणों की दो शे्कणयोों द्वारा दशायया 

गया है। आवू्यह I के िोंभ और पोंस्तक्तयोों को सोंख्या 0 से 

4 तक और आवू्यह II के िोंभ और पोंस्तक्तयोों को सोंख्या 5 

से 9 तक अोंककत ककया गया है। इन आवू्यहोों में से ककसी 

अक्षर को पहले उसकी पोंस्तक्त द्वारा और कफर उसके 

िोंभ द्वारा दशायया जाता है। उदाहरण के कलए, A को 01, 

14 आकद के द्वारा दशायया जा सकता है और 'M ' को 56, 

68 आकद के द्वारा दशायया जा सकता है। इसी प्रकार से 

आपको 'GRAVEL' शब्द के कलए समूह की पहचान 

करनी है। (आवू्यह) 

MATRIX I 

 0 1 2 3 4 

0 M G R O L 

1 O R L G M 

2 G O M L R 

3 R L O M G 

4 L M G R O 

MATRIX II 

 5 6 7 8 9 

5 P A D V E 

6 V E P A D 

7 A P E D V 

8 E D V P A 

9 D V A E P 

(A) 20,24,97,66,65,40 (B) 01, 02,75,79,96,31 

(C) 13,02,65,89,75,40 (D) 42,24,75,58,59,23 

 

59. कृकतका, कशखा से उतने वषय बड़ी है कजतने वषय कशखा, 

मुकुल से छोटी है। कृकतका, कशखा और मुकुल की 

वतयमान आयु का योग 63 वषय है। यकद 11 वषय बाद 

मुकुल की आयु 39 वषय होगी, तो मुकुल और कशखा की 

वतयमान आयु के बीच का अोंतर ककतना है? 

(A) 12 वषय  (B) 10 वषय 

(C) 14 वषय  (D) 16 वषय 

 

60.  कनम्नकलस्तखत में से कौन-सा एक लीप वषय होगा? 

(A) 3402  (B) 3156 

(C) 3398  (D) 3262 

Space For Rough Work 
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Section-II : 60 minutes 

English Language and Comprehension 

61. In the following question, one part of the sentence 
may have an error. Find out which part of the 
sentence has an error and select the appropriate 
option. If a sentence is free from error, select ‘No 
Error’ as your answer. 
He made a few (A)/ extra money by writing (B)/ 
stories for a local (C)/ science fiction magazine. (D) 
(A) A   (B) C 
(C) B   (D) D 
 

Directions: (62-66): Read the following passage carefully and 
answer the questions. 

 
Civil, foreign and World Wars were fought in a period 
when even the toughest armor could not stop the 
most lethal weapon. At the turn of the century, it is 
observed that protective gear was greatly scaled 
back, retreating once more from full-body armor to 
strategically placed metal plates. As battlefields grew 
farther apart and cannon fire spelled imminent death, 
and as the fighting grew less personal and more 
distanced (like the relationship between the men who 
called the orders to those who marched to them), 
men wore metal plates over their uniforms and 
donned metal helmets to protect against gunfire. 
These plates were placed over the heart, which often 
beat with a fear that was hardly aided by the 
presence of a thin metal sheet and, later, a tightly-
woven polymer simply known as Kevlar. 
Kevlar, or light and ultra-strong plastic polymers that 
are tightly woven into a flexible fabric, became 
popular after its discovery and implementation in the 
1960s. It is now used in everything from sporting 
equipment—tennis rackets, Formula 1 cars, boating 
sails—to personal protective equipment like 
bulletproof vests. Despite all the advances in 
chemical compounds that form some of the strongest 
materials on Earth, and which are often used to 
mitigate the damage wrought by firearms or natural 
disasters, the science that has gone into the 
fireproofing and weaponization of simple polymers 
has more recently returned to its Arizona roots. Two 
years ago, researchers at the Air Force Research 
Laboratory announced that they would be looking into 
an age-old fiber to more fully explore its cooling and 
temperature regulation properties, and its use toward 
strengthening current synthetic fibers. That fiber was 
silk. Artificial spider silk, the researchers suggested, 
could make for a lighter, stronger and more 
breathable body armor than even Kevlar. 

 
62.  Apart from bulletproof vests, which of the following is 

Kevlar not used in today? 
(A) Formula 1 cars (B) boating sails 
(C) tennis rackets  (D) mattresses 

 
63.  Which of the following has recently been suggested 

by researchers as a new fiber that can be better than 
Kevlar for body armour purposes? 
(A) Artificial spider silk (B) Wool 
(C) Japanese seaweed (D) Eggshells 
 

64.  It can be understood from the passage that prior to 
Kevlar, which of the following was used to protect 
against gunfire? 
(A) Wood  (B) Glass 
(C) Metal  (D) Cloth 
 

65.  Which of the following statements about Kevlar is 
false? 
(A) It is made of ultra-strong plastic polymers  
(B) It was discovered and implemented in the 1960s. 
(C) It is woven into a flexible fabric that acts as a 
bulletproof vest.     
(D) It can withstand high temperatures. 

 
66.  Which of the following do researchers wish to explore 

when examining an age-old fiber’s potential for body 
armour? 
(A) its cooling and temperature regulation properties 
(B) its tensile strength 
(C) its elasticity    
(D) its weight 
 

Directions: (67-71): Read the following passage carefully and 
answer the questions. 

 
Beginning roughly 2,000 years ago, the Calusa 
enjoyed centuries of dominance as the undisputed 
rulers of southwest Florida. Theirs was a complex 
society with trade routes spanning hundreds of miles; 
a powerful military; and built works including wide 
canals, islands made of shells and towering buildings. 
Unlike the Maya, Aztecs and Inca, the Calusa built 
their kingdom, which stretched from modern Tampa 
Bay to Ten Thousand Islands and as far east as Lake 
Okeechobee, without agriculture. 
Researchers have long wondered how a society that 
collected all of its food by fishing, hunting and 
gathering was able to secure enough food to support 
its ambitious construction projects and military might. 
Now, a new study published in the Proceedings of the 
National Academy of Sciences reveals details of how 
the Calusa stockpiled live fish in massive holding 
pens, or “watercourts,” built out of oyster shells. The 
idea that these waters courts held fish is not new, 
writes George Dvorsky for Gizmodo, but the paper is 
the first to conduct a systematic analysis of the 
ancient structures. The remains of these 
watercourts—the largest of which is seven times 
larger than an NBA basketball court—are located 
near Fort Myers in Mound Key, where the Calusa’s 
capital city of Calos stood for 500 years. 
Radiocarbon dating placed the construction of the 
watercourts between 1300 and 1400 A.D. This 
timeframe coincided with the second phase of 
construction of Calusa king Caalus’ manor—a 
massive building that could hold 2,000 people at the 
time of its completion, according to Spanish 
documents. The watercourts could also have been an 
innovation prompted by a drop in sea level that 
occurred around 1250, potentially impacting “fish 
populations enough to help inspire some engineering 
innovation,” says Karen Walker, study co-author and 
an archaeologist at the Florida Museum, in a 
statement. Bones and scales excavated from the 
ancient holding pens belonged to mullet, pinfish and 
herring, all schooling species that might have been 
easily herded inside. 

67.  As per the passage, which of the following tribes built 
their empire without agriculture? 
(A) Incas  (B) Aztecs 
(C) Maya  (D) Calusa 
 

68.  Which of the following is not a feature of the Calusa 
empire? 
(A) a powerful navy    
(B) Trade routes spanning hundreds of miles 
(C) Islands made of shells   
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(D) Wide canals 
 

69.  As per the passage, why did the Calusa people build 
watercourts? 
(A) for recreational purposes   
(B) for storing fish 
(C) for drowning enemies   
(D) for aesthetic purposes 
 

70.  Which of the following statements about watercourts 
is false as per the passage? 
(A) They were built out of oyster shells. 
(B) They held mullet, pinfish and herring. 
(C) Their remains are located near Fort Myers. 
(D) They were located on the outskirts of the empire. 

 
71.  Which of the following could have played a 

contributing role in the construction of watercourts by 
the Calusa people? 
(A) A drop in sea level that occurred around 1250 
(B) A change in ocean currents 
(C) A change in wind patterns   
(D) A change in ocean temperatures 
 

Directions: (72-76): Read the following passage carefully and 
answer the questions. 

 
Abu Hureyra is an important archaeological site in 
Syria, known for artifacts documenting early adoption 
of agriculture in the region. It may also be recognized 
as the only known human settlement to have been hit 
by a fragment of a comet. The site, now under the 
waters of Lake Assad, was quickly excavated 
between 1972 and 1973 before construction of the 
Tabqa Dam flooded the area. During the excavation, 
archaeologists realized that there were really two 
sites, one on top of the other. The first was a 
Paleolithic settlement of hunter-gatherers, and the 
second was a farming town, with new buildings of a 
different style. 
A new analysis of samples of soil and artifacts 
salvaged from the original excavation has revealed a 
surprising finding: The Paleolithic village at Abu 
Hureyra was indirectly hit and destroyed by fragments 
of a comet that slammed into Earth about 12,800 
years ago. The researchers think that upon entering 
Earth’s atmosphere, the already-fractured comet 
likely broke up into several more pieces, many of 
which didn’t reach the ground. Instead, they produced 
a string of explosions in the atmosphere known as 
airbursts. Each airburst was as powerful as a nuclear 
blast, instantaneously vaporizing the soil and 
vegetation underneath and producing powerful shock 
waves that destroyed everything for tens of kilometers 
around. The village at Abu Hureyra was hit by one of 
these shock waves. 

 
72.  What are artifacts of Abu Hureya known for? 

(A) documenting the early domestication of animals 
(B) documenting the invention of the wheel 
(C) documenting the early adoption of agriculture 
(D) documenting the early use of tools 
 

73.       As per the passage, what is an airburst? 
(A) a nuclear blast   
(B) a supersonic wave 
(C) an explosion in the atmosphere caused by a 
comet   
(D) an explosion in the atmosphere caused by a 
meteor 
 

74.  During the excavation of the archaeological site, what 
did the researchers realise? 

(A) that there were two sites atop each other 
(B) that there were three sites atop each other 
(C) that the site was older than they had thought 
(D) that the site was the only one to be hit by a comet 

 
75.  How was it discovered that the site of Abu Hureya 

was hit by a comet? 
(A) during the excavation process  
(B) after an analysis of soil and artifact samples 
(C) after repeated excavation process  
(D) after the construction of the dam flooded the area 
and threw up previously unknown artifacts 

 
76.  Which of the following statements about Abu Hureya 

is false as per the passage? 
(A) It is now under the waters of Lake Assad.  
(B) It was flooded by the construction of the Tabqa 
Dam. 
(C) It used to be a Paleolithic settlement of hunter-
gatherers.    
(D) It was one of the few human settlements to be hit 
by a comet. 

 
77. In the following question, out of the four alternatives, 

choose the one which best expresses the meaning of 
the given word. 
Irreverence 
(A) Restive  (B) Disrespect 
(C) Avarice  (D) Amity 
 

78. In the following question, out of the four alternatives, 
choose the one which can be substituted for the given 
words/sentence. 
Kindness shown to somebody when they are being 
punished 
(A) Chutzpah  (B) Chronic 
(C) Clemency  (D) Citation 
 

79. In the following question, four different spellings of a 
word are given, out of which only one is correct. Find 
the correct spelling of the given word. 
(A) anxious  (B) anxous 
(C) anxuous  (D) anxiuous 
 

80. In the following question, a sentence is given with a 
phrase or idiom in brackets. Select the option given 
below that can replace the bracketed phrase. 
This confirms that the group has not only (run out) of 
money, but has exhausted its political capital, too. 
(A) run after  (B) run into 
(C) run over  (D) No Improvement 
 

81. In the following question, one part of the sentence 
may have an error. Find out which part of the 
sentence has an error and select the appropriate 
option. If a sentence is free from error, select ‘No 
Error’ as your answer. 
She had to practice (A)/ flying in various weather (B)/ 
conditions before she (C)/ could got her pilot's 
license. (D) 
(A) B   (B) D 
(C) A   (D) C 
 

82. In the following question, a sentence has been given 
in Active/ Passive Voice. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Passive/Active Voice. 
The authorities had sanitised the park benches. 
(A) The park benches were being sanitised by the 
authorities.    
(B) The park benches had been sanitised by the 
authorities. 
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(C) The park benches were sanitised by the 
authorities.     
(D) The park benches have been sanitised by the 
authorities. 
 

Directions: (83-87): In the following passage, some of the 
words have been left out and replaced by a blank. 
First read the passage and try to understand what it is 
about. Then fill in the blanks as per the questions 
given. 

 
Throughout the world, from the humblest ______ to 
the most lavish mansion, our homes have always 
been a respite from the world. For many of us, our 
daily lives now ________ by quarantine, our homes 
have suddenly become our world. When we think of 
the technology that makes our homebound life 
bearable, we call to mind those electronic devices 
that allow us to remain connected to the outside 
world. However, it might _________ us to know that, 
for our ancestors, many of the objects we take for 
granted, like napkins, forks and mattresses, were also 
once marvels of comfort and technology—available to 
only the few. Our temperature-controlled homes filled 
with comfortable furniture and lights that turn on at the 
flick of a switch are luxuries __________ to the kings 
and queens of the past. Those things that were once 
only the purview of royalty—chandeliers, comfortable 
seating, bed pillows—have become such a part of our 
everyday lives that we forget that all but the basic 
necessities for survival were once out of reach for all 
but the upper _________ of society. Our homes are 
castles beyond what they could have ever imagined. 

 
83.      the humblest ______ to the most lavish  

(A) abode  (B) abide 
(C) adept  (D) adopt 
 

84.  our daily lives now ________ by quarantine 
(A) averted  (B) apprised 
(C) upended  (D) undertaken 
 

85.  it might _________ us to know that, 
(A) suppose  (B) surprise 
(C) command  (D) convince 

 
86.  are luxuries __________ to the kings and queens 

(A) understandable (B) urged 
(C) cynical  (D) unfathomable 

 
87.  but the upper _________ of society. 

(A) echelons  (B) eons 
(C) aliens  (D) allures 

 
88. In the question below, an idiom is given, followed by 

four options. Select the option that gives the correct 
meaning of the idiom. 
My experiment was a failure, so I'm back to the 
drawing board. 
(A) something unexpected and unpleasant 
(B) full of hope and enthusiasm 
(C) back to the beginning because the current attempt 
was unsuccessful  
(D) a controversial issue or situation that is awkward 
or unpleasant to deal with. 

 
89. In the following question, out of the four alternatives, 

choose the one which can be substituted for the given 
words/sentence. 
One who is a centre of attraction 
(A) Cynosure  (B) Crescendo 
(C) Counterfeit  (D) Demagogue 

 

90. In the following question, a sentence has been given 
in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
“Do you have some extra money?” I said to her. 
(A) I asked her if she had some extra money. 
(B) I asked her do you have some extra money. 
(C) I asked her did she have some extra money. 
(D) I asked her if she has some extra money. 
 

91. In the following question, a sentence has been given 
in Active/ Passive Voice. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Passive/Active Voice. 
The countries face a lot of rainfall during the summer 
months. 
(A) A lot of rainfall has been faced by the countries 
during the summer months.  
(B) A lot of rainfall had been faced by the countries 
during the summer months. 
(C) A lot of rainfall is faced by the countries during the 
summer months.   
(D) A lot of rainfall will be faced by the countries 
during the summer months. 

 
92. In the question given below, rearrange the sentences 

in the correct order, and choose the correct option. 
The first and sixth (last) statements are given in the 
right sequence and are fixed. 
1. Opera refers to a dramatic art form. 
P. The drama in opera is presented using the primary 
elements of theater such as scenery, costumes, and 
acting. 
Q. By contrast, in musical theater an actor's dramatic 
performance is primary, and the music plays a lesser 
role. 
R. It originated in Europe. 
S. It involves the display of emotional content to the 
audience as much through music as through the 
lyrics. 
6. However, the words of the opera are sung rather 
than spoken. 
(A) PQRS  (B) RSQP 
(C) QPRS  (D) PSQR 

 
93. In the question below, an idiom is given, followed by 

four options. Select the option that gives the correct 
meaning of the idiom. 
I go to visit my grandfather only once in a blue moon 
as he lives in a remote farmhouse. 
(A) whenever one feels appropriate  
(B) at a rapid pace 
(C) very rarely     
(D) fairly often 

94. In the following question, a sentence has been given 
in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
“I will not go with John,” said the boy. 
(A) The boy said that he would not go with John. 
(B) The boy said that he will not go with John. 
(C) The boy said that he would not be going with 
John.     
(D) The boy said that he would not be going without 
his uncle. 

 
95. In the following question, a sentence is given with a 

phrase or idiom in brackets. Select the option given 
below that can replace the bracketed phrase. 
At the dairy case, choose lower-fat products while at 
the meat counter, (go into) lean or extra-lean beef 
and pork. 
(A) go off  (B) go out 
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(C) go for  (D) No Improvement 
 
96. In the following question, choose the word opposite in 

meaning to the given word. 
Dormant 
(A) Illicit   (B) Mild 
(C) Active  (D) Rigid 
 

97. In the following question, a sentence has been given 
in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
“I went to the store after the movie,” said the woman. 
(A) The woman said that she went to the store after 
the movie.     
(B) The woman said that she had gone to the store 
after the movie. 
(C) The woman said that she has gone to the store 
after the movie.    
(D)  The woman said that she goes to the store after 
the movie. 

 
Directions: (98-102): In the following passage, some of the 

words have been left out and replaced by a blank. 
First read the passage and try to understand what it is 
about. Then fill in the blanks as per the questions 
given. 

 
The Drimolen Paleocave System is part of South 
Africa’s Unesco World Heritage Site called the Cradle 
of Humankind, a collection of limestone caves near 
Johannesburg that are one of Africa’s two great 
_______ of hominid fossils. More than 900 have been 
found, representing at least 5 different species, during 
________ that began nearly a century ago. The big 
problem in South Africa has been dating all these 
finds. East Africa’s rift valleys, the continent’s other 
great hominin fossil source, feature layers of volcanic 
ash that can be dated by ________ the decay of 
radioactive elements, thereby dating the fossils within. 
In many South African caves, by contrast, older, 
fossil-filled sections have ________ into lower areas. 
Modern humans operated mines in the area, too. The 
result is a confusing and complicated landscape that 
_________ easy reconstruction. 

 
98.  two great _______ of hominid fossils. 

(A) sources  (B) spurs 
(C) surmises  (D) spears 
 

99.  during ________ that began nearly 
(A) expirations  (B) excitement 
(C) excavations  (D) expeditions 
 

100.  can be dated by ________ the decay 
(A) calculation  (B) measuring 
(C) ensuring  (D) seizing 
 

101.  sections have ________ into lower areas. 
(A) descent  (B) categorized 
(C) collapsed  (D) conspired 
 

102.  landscape that _________ easy reconstruction. 
(A) denigrates  (B) divides 
(C) deploys  (D) defies 
 

103. In the question given below, rearrange the sentences 
in the correct order, and choose the correct option. 
The first and sixth (last) statements are given in the 
right sequence and are fixed. 
1. Steve was born in Tokyo in 1950. 
P. Steve then moved to Cyprus to study at the 
Mediterranean University. 

Q. He moved to London with his parents when he 
was 5 years old. 
R. Steve started school there and his father began 
work at the hospital. 
S. He lived in England for 2 years then moved to 
Jordan where he lived there for 10 years. 
6. Unfortunately, he did not succeed and returned to 
Jordan. 
(A) PQRS  (B) QRSP 
(C) QPRS  (D) PSQR 
 

104. In the following question, out of the four alternatives, 
choose the one which best expresses the meaning of 
the given word. 
Laconic 
(A) Conceited  (B) Pomp 
(C) Concise  (D) Demented 
 

105. In the given sentence, a blank is given indicating that 
something is missing. From the given four options, 
choose the one that provides the correct word to be 
filled in the blank, thereby making the sentence 
grammatically and contextually correct. 
The criminal begged for parole, but the judge 
remained _______ for a life sentence 
(A) onerous  (B) adamant 
(C) timid   (D) dauntless 

General Awareness 

106. ककस नदी ने मगि और अोंग के महाजनपदोों का सीमाोंकन 

ककया? 

(A) गोंडक  (B) कोसी 

(C) अस्सी  (D) चोंपा 

 

107. ककन्ी ों दो क्रमागत देशाोंतरोों के बीच समय का अोंतर 

ककतना है? 

(A) 10 कमनट  (B) 14 कमनट 

(C) 4 कमनट  (D) 30 कमनट 

 

108. राष्ट्र पकत की ककस क्षमादान शस्तक्त के तहत, सजा के एक 

रूप को हले्क रूप से प्रकतथिाकपत ककया जाता है? 

(A) कमू्यटेशन  (B) छूट 

(C) राहत  (D) पुनः  प्राप्त करें  

 

109. चोंपारण सत्याग्रह कनम्नकलस्तखत में से ककसके कवरुद्ध िा? 

(A) कतोंककिया प्रणाली (B) उच्च ककराया 

(C) बाहरी लोगोों   

(D) भूकम का अवैि हिाोंतरण 

 

110. "The Fractured Himalaya" नामक पुिक के लेखक 

कौन हैं? 

(A) कनरुपमा राव   (B) राकिका मेनन 

(C) रॉकबन शमाय  (D) हरमन हेसे्स 

 

111. कनम्नकलस्तखत में से कौन-सा भारत का सवोच्च बैंककों ग 

सोंथिान है जो मौकद्रक नीकत को कनयोंकत्रत करता है? 

(A) भारतीय ररजवय बैंक  

(B) यूकनयन बैंक ऑफ इोंकडया 

(C) भारतीय से्टट बैंक  

(D) बैंक ऑफ इोंकडया 
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112. राज्य में आोंगनवाड़ी काययकतायओों के कल्याण को बढ़ावा 

देने के कलए कौन-सी सरकार आोंगनवाड़ी काययकतायओों को 

स्माटयफोन देगी? 

(A) पोंजाब  (B) कनायटक 

(C) तकमलनाडू  (D) उत्तर प्रदेश 

 

113. कनम्नकलस्तखत में से कौन महात्मा गाोंिी द्वारा कलस्तखत पुिकोों 

में से एक नही ों है? 

(A) द स्टोरी ऑफ़ माय एक्सपेररमेंट्स कवद टु्रि  

(B) कहोंद स्वराज 

(C) कडस्कवरी ऑफ इोंकडया   

(D) दकक्षण अफ्रीका में सत्याग्रह 

 

114.  फासीवाद का राजनीकतक कसद्धाोंत ककस देश में शुरू हुआ? 

(A) जापान  (B) रूस 

(C) इटली  (D) चीन 

 

115.  सूचना और प्रसारण मोंत्रालय के सहयोग से ककस OTT 

पे्लटफॉमय ने एक लघु वीकडयो शृ्ोंखला ‘आजादी की अमृत 

कहाकनया’ शुरू की है? 

(A) अमेजन प्राइम  (B) कडजनी + हॉटस्टार 

(C) नेटस्तिक्स  (D) सोनी लीव 

 

116.  The Raleigh Commission (1902) को कनम्नकलस्तखत में 

से ककसमें सुिारोों की कसफाररश करने के कलए कनयुक्त 

ककया गया िा: 

(A) कशक्षा व्यवथिा  (B) प्रारूप प्रबोंिन 

(C) न्याकयक व्यवथिा (D) पुकलस व्यवथिा 

 

117.  हाल ही में ररलीज हुई कफल्म "शेरशाह" के कनदेशक कौन हैं? 

(A) अनुराग कश्यप (B) कवशाल भारद्वाज 

(C) आशुतोष ग्वाररकर (D) कवषु्णवियन 

 

118.  2011 की जनगणना के अनुसार केरल का कलोंगानुपात 

ककतना है? 

(A) 1024  (B) 1084 

(C) 1044  (D) 1064 

 

119.  भारत में सावयजकनक कवतरण प्रणाली [Public 

Distribution System (PDS)] के बारे में गलत किन की 

पहचान करें। 

(A) 1997 से, लकक्षत उपभोक्ताओों के कलए PDS लकक्षत 

सावयजकनक कवतरण प्रणाली (TPDS) बन गया। 

(B) पुनोत्थान सावयजकनक कवतरण प्रणाली [Revamped 

Public Distribution System (RPDS)] जून 1992 में 

शुरू की गई िी 

(C) गरीबी रेखा से नीचे जीवन यापन करने वालोों को 

ररयायती कीमतोों पर खाद्यान्न कमलता है।  

(D) 2007 से देश में PDS को बोंद कर कदया गया है 

 

120.  लॉडय कजयन ने जनवरी 1901 में महारानी कवक्टोररया की 

मृतु्य पर उनके कलए एक 'शानदार' स्मारक थिाकपत करने 

का सवाल जनता के सामने रखा। भारत के राजकुमारोों 

और लोगोों ने िन के कलए उनकी अपील का उदारतापूवयक 

जवाब कदया और लॉडय कजयन ने इस स्मारक के कनमायण के 

कलए  Rs._________  की राकश प्राप्त की। 

(A) एक करोड़ पाोंच लाख (B) एक करोड़ पोंद्रह लाख 

(C) एक करोड़ पच्चीस लाख (D) एक करोड़ पचास लाख 

 

121.  सतलुज और काली नकदयोों के बीच स्तथित कहमालय के 

कहसे्स को __________ के रूप में जाना जाता है। 

(A) पोंजाब कहमालय (B) नेपाल कहमालय 

(C) कुमाऊों  कहमालय (D) असम कहमालय 

 

122.  कवश्व डेयरी कशखर समे्मलन (World Dairy Summit 

2022) की मेजबानी कौन सा देश करेगा? 

(A) यूनाइटेड   (B) आयरलैंड 

(C) दकक्षण कोररया  (D) भारत 

 

123.  रवी ोंद्र नाि टैगोर द्वारा रकचत गीत 'जन-गण-मन' पहली 

बार जनवरी 1912 में __________ के शीषयक से प्रकाकशत 

हुआ िा। 

(A) मातृभूकम  (B) जय है 

(C) राष्ट्र  जागृकत  (D) भारत भाग्य कविाता 

 

124.  महाराष्ट्र  में सत्य शोिक सभा के सोंथिापक कौन िे? 

(A) गोपाल बाबा वाला  

(B) डॉ. बाबा साहेब अोंबेडकर 

(C) डॉ आत्माराम पाोंडुरोंग    

(D) ज्योकतभा फुले 

 

125.  माउोंट मेरापी ज्वालामुखी ककस देश में स्तथित है? 

(A) नू्यजीलैंड  (B) जापान 

(C) इोंडोनेकशया  (D) चीन 

 

126.  कौन-सा सोंगिन " वर्ल्य इकनोकमक आउटलुक " ररपोटय 

प्रकाकशत करता है?  

(A) अियशास्त्री खुकफया इकाई  

(B) एकशयन डेवलपमेंट बैंक  

(C) नू्य डेवलपमेंट बैंक    

(D) अोंतरायष्ट्र ीय मुद्रा कोष  

 

127.  कनम्नकलस्तखत में से ककस बाजार में एक फमय कीमत पर 

कनयोंत्रण नही ों रखती है? 

(A) कमकश्त प्रकतयोकगता (B) एकाकिकार 

(C) अल्पाकिकार  (D) योग्य प्रकतदवोंद्दी 

 

128. उस बीमारी का नाम बताइए कजसके साि एडवडय जेनर 

जुड़े हैं। 

(A) हैजा   (B) टाइफाइड 

(C) चेचक   (D) पक्षाघात 

 

129. दुकनया का एकमात्र वैज्ञाकनक कौन है कजसने दो बार 

रसायन कवज्ञान में नोबेल पुरस्कार जीता है? 

(A) कलनुस कालय पॉकलोंग (B) रोजर डी कॉनयबगय 

(C) मेडम कू्यरी  (D) फे्रडररक सेंगर 

130. माबयल कैं सर क्या है? 

(A) सोंगमरमर की खदानोों के कारण जानवरोों में बीमारी  

(B) सोंगमरमर की खदानोों के कारण कमट्टी का क्षरण  

(C) खानोों में काम करने के कारण मानव में कैं सर  

(D) अम्ल वषाय के कारण सोंगमरमर का क्षरण 
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Section-III : 15 minutes 

Computer Knowledge 

131.  कों पू्यटर के भीतर एक pathway जो हाडयवेयर घटकोों के 

बीच डेटा ले जाता है, _________ कहलाता है। 

(A) कडकजटल कसग्नल (B) कैररयर कसग्नल 

(C) स्तस्वचन  (D) डेटा बस 

 

132.  Database के सोंदभय में, ________ डेटाबेस ताकलका या 

ताकलकाओों के सोंयोजन से डेटा या सूचना के कलए एक 

अनुरोि है। 

(A) के्वरी   (B) रोलबैक 

(C) फॉमय   (D) ररपोटय  

 

133.  Touch screen input devices या graphics tablets के 

साि इिेमाल ककया जाने वाला पेन के आकार का 

handheld instrument कौन सा है? 

(A) केस   (B) स्टाइलस 

(C) कप्रोंटर   (D) प्लॉटर 

 

134.  MS Excel में, यकद हम पूरे कॉलम का चयन करना चाहते 

हैं, तो कनम्न में से कौन सी शॉटयकट कुों जी का उपयोग ककया 

जाना चाकहए? 

(A) Ctrl + Alt  (B) Ctrl + Alt + Del 

(C) Shift + Ctrl  (D) Ctrl + Space 

 

135.  कों पू्यटर शब्दावली में SMPS का पूणय रूप क्या है? 

(A) स्तस्वच्ड मोड पावर सप्लाई  

(B) सेटर्ल् मोड पावर सप्लाई 

(C) स्तस्वच मोड पैकेट स्तस्वच  

(D) सप्लाई मोड पैकेट स्तस्वच 

 

136.  कनम्नकलस्तखत में से कौन सा UNIX पर आिाररत एक free 

open-source operating system (OS) है? 

(A) कवोंडोज  (B) कलनक्स 

(C) डॉस   (D) पाइिन 

 

137.  टोपोलॉजी कजसमें उच्चतम कवश्वसनीयता है और आमतौर 

पर होम ऑटोमेशन, स्माटय एचवीएसी कों टर ोल और स्माटय 

कबस्तर्ल्ोंग जैसी चीजोों के कलए उपयोग की जाती है, वह 

__________ है। 

 

(A) ररोंग टोपोलॉजी  (B) बस टोपोलॉजी 

(C) मेष टोपोलॉजी  (D) स्टार टोपोलॉजी 

 

138.  ________ ने हाल ही में आकिकाररक तौर पर अपना नया 

कवोंडोज ऑपरेकटोंग कसस्टम 'Windows 11' लॉन्च ककया है। 

(A) माइक्रोसॉफ्ट  (B) गूगल 

(C) एडोब  (D) फेसबुक 

 

139.  _________ डेटा के माप को सोंदकभयत करता है जो एक 

कनिायररत समय के भीतर दो कबोंदुओों के बीच थिानाोंतररत 

ककया जाता है। 

(A) लेटेंसी  (B) बैंडकवड्ि 

(C) मेटा-डेटा  (D) सै्टक 

 

140.  हाडयवेयर उपकरणोों को configure करने के कलए उपयोग 

ककए जाने वाले छोटे toggle switches कनम्न में से कौन से 

हैं? 

(A) हैडर   (B) बीकन 

(C) पैकेट  (D) जोंपसय 

 

141.  एक Null character के बारे में कनम्नकलस्तखत में से कौन सा 

किन सत्य है? 

(A) यह एक ऐसा कैरेक्टर है कजसके सभी कबट्स शून्य पर 

सेट हैं     

(B) इसका हमेशा FALSE के समान मान होता है 

(C) इसे SHIFT कुों जी दबाकर दजय ककया जा सकता है 

(D) एक पूणाांक के रूप में, इसे -1 . के रूप में दशायया 

जाता है 

 

142.  एक फ़ाइल के कलए प्रयुक्त शब्द क्या है कजसमें ककसी अन्य 

फ़ाइल के कलए specifications शाकमल हैं? 

(A) कमनीफाइल  (B) माइक्रोफाइल 

(C) मास्टरफाइल  (D) मेटाफाइल 

 

143.  2000 के दशक की शुरुआत में कनम्नकलस्तखत में से कौन 

दुकनया की सबसे बड़ी सोशल नेटवककां ग साइट िी? 

(A) हमारा से्पस  (B) शेयरसे्पस 

(C) माइसे्पस  (D) ऑकुय टो 

 

144.  कनम्नकलस्तखत में से कौन सी तकनीक के कवकास के कारण 

तीसरी पीढ़ी के कों पू्यटरोों का उदय हुआ? 

(A) सेमीकों डक्टर  (B) वीएलएसआई 

(C) वैकू्यम टू्यब  (D) एकीकृत सककय ट 

 

145.  कौन सा एक प्रकार का malicious code या सॉफ़्टवेयर 

है जो वैि कदखता है लेककन आपके कों पू्यटर को कनयोंकत्रत 

कर सकता है? 

(A) टर ोजन हॉसय  (B) वमय 

(C) वायरस  (D) टाइम बम 

 

146.  Windows computer में, कनम्नकलस्तखत में से कौन कडलीट 

ककए गए आइटम, जैसे फाइल और फोर्ल्र के कलए 

'holding bay' का कायय करता है? 

(A) रीसायकल कबन (B) जोंक 

(C) सै्पम   (D) डर ाफ्ट 

 

147.  कनम्न में से कौन एक उच्च िरीय भाषा (HLL) नही ों है? 

(A) जावा   (B) बेकसक 

(C) कविानसभा भाषा (D) फोरटर ान 

 

148.  __________ प्रोग्राम के source code में एक तु्रकट है कजसे 

Compiler द्वारा इोंकगत ककया जा सकता है। 

(A) ताककय क तु्रकटयाों  (B) अियपूणय तु्रकटयाों 

(C) कसोंटेक्स तु्रकटयाों  (D) रनटाइम तु्रकटयाों 

 

149.  कनम्नकलस्तखत में से कौन सा कचत्रात्मक प्रकतकनकित्व है जो एक 

प्रकक्रया, प्रणाली या कों पू्यटर algorithm को दशायता है? 

(A) एल्गोररदम  (B) लूप 

(C) सरणी  (D) फ़्लोचाटय 
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150.  सॉफ्टवेयर का एक छोटा सा टुकड़ा जो ककसी ऑपरेकटोंग 

कसस्टम या सॉफ्टवेयर प्रोग्राम के भीतर एक bug को हटाने 

के कलए उपयोग ककया जाता है, ___________ कहलाता है। 

(A) सै्टक   (B) वशयन 

(C) पैच   (D) इोंडेक्स  

Space For Rough Work 
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Mathematical Abilities  

1. Answer: (A) 

यात्रा की जाने वाली कुल दूरी श्रृंखला के अनृंत योग द्वारा 

दी जाएगी: 

100 + 2 [100 × (4/5) + 100 × (4/5)² + 100 × 

(4/5)³.......] 

100 + 160 × [1/(1 – 4/5)] = 100 + 160 × 5 = 900 

मीटर 

इसललए लवकल्प a सही है| 

2. Answer: (B) 

माना कुल कायय 200 इकाई (25 और 40 का LCM) है। 

A की क्षमता = 200/25 = 8 यूलनट प्रलत लदन 

और, B की दक्षता = 200/40 = 5 यूलनट प्रलत लदन 

पहले 3 लदनोृं में लकया गया कुल कायय = 8 + 5 = 13 

इकाई 

45 लदनोृं में 13 × 15 = 195 यूलनट लकया गया। 

46वें लदन B काम करता है और उसे 46वें लदन पूरा करता 

है। 

अत: ललया गया कुल समय = 46 लदन 

इसललए लवकल्प b सही है| 

3. Answer: (B)  

मान लीलजए लक चार सृंख्याएँ क्रमशः  A, B, C और D हैं। 

प्रश्न के अनुसार; 

3A + B + C + D = 3 × 348 = 1044 ---(1) 

3B + C + D + A = 3 × 380 = 1140 -----(2) 

3C + D + A + B = 3 × 420 = 1260 ------(3) 

3D + A + B + C = 3 × 364 = 1092 ------(4) 

(1), (2), (3) और (4) को जोड़ने पर हमें प्राप्त होता है 

6 × (A + B + C + D) = 4536 

A + B + C + D = 756 

तो, A = 144, B = 192, C = 252 और D = 168  

इसललए लवकल्प b सही है| 

4. Answer: (A) 

वसु्त का लवक्रय मूल्य = 1.25 × 900 = रु. 1125 

वसु्त का अृंलकत मूल्य = 1125/0.90 = रु. 1250 

इसललए लवकल्प a सही है| 

5. Answer: (D) 

मान लीलजए लक गेहृं की कीमत रु. 'x' और मात्रा 'y' लकग्रा 

हो। 

  मूल्य मात्रा कुल खचय 

वास्तलवक x y 270 

बदलाव के बाद  0.9x y + 5 270 

प्रश्न के अनुसार; 

x × y = 270 ……………………….(i) 

और, 0.9x × (y + 5) = 270 ………………..(ii) 

समीकरण (i) और (ii) को हल करने पर, हम प्राप्त करते 

हैं 

X = 6 

तो, बदली हुई कीमत 5.4 के बराबर होगी। 

तो, मूल और कम कीमत के बीच का अृंतर 60 पैसे है। 

इसललए लवकल्प d सही है| 

6. Answer: (C) 

माना लक राजीव ने था। बैंक से 'x' रुपये का कजय ललया । 

प्रश्न के अनुसार; 

1.12 × (1.2544 × x - 5197) = 1204 

1.2544 × x - 5197 = 1075 

1.2544 × x = 6272 

तो, x = 5000 

इसललए लवकल्प c सही है| 

7. Answer: (B) 

आयत का के्षत्रफल = 8 × 2 = 16 सेमी2 

लत्रभुज DEH और लत्रभुज BEG में: 

कोण EDH = कोण EBG 

कोण DEH = कोण BEG 

DE = BE 

अत: लत्रभुज DEH लत्रभुज BEG के सवाांगसम है। (SSS 

लनयम) 

इसी तरह, और लत्रभुज HEC तथा लत्रभुज AEG सवाांगसम 

है। 

तो, छायाृंलकत के्षत्र का के्षत्रफल लत्रभुज DEH और लत्रभुज 

AEG के के्षत्रफल के योग के बराबर है जो आयत के कुल 

के्षत्रफल का एक-चौथाई = 1/4 × 16 = 4 सेमी2  है। 

इसललए लवकल्प b सही है| 

8. Answer: (B) 

 
चँूलक PQ वरत्त की स्पशय रेखा है और उनके बीच की दूरी 

20 सेमी है। 

पाइथागोरस प्रमेय का उपयोग करके वरत्त की लत्रज्या की 

गणना की जा सकती है 

तो, OP2 = QP2 + OQ2 

400 = 256 + OQ2 

OQ2 = 144 

OQ = 12 सेमी 

इसललए लवकल्प b सही है| 

9. Answer: (A) 

माना आयताकार लप्रज्म के आयाम x सेमी, y सेमी और z 

सेमी हैं। 

इसललए, अलग-अलग फलकोृं के के्षत्रफल xy सेमी2, xz 

सेमी2 और yz सेमी2 हैं 

तो, (xy) × (xz) × (yz) = (xyz)2 

35 × 56 × yz = 280 × 280 

तो, yz = (280 × 280)/(35 × 56) = 40 सेमी2 

परष्ठीय के्षत्रफल = 2 × (35 + 56 + 40) = 2 × 131 = 

262 सेमी2 

इसललए लवकल्प a सही है| 

10. Answer: (A) 
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लनयलमत षट्भुज PQRSTU में, प्रते्यक भुजा की लृंबाई 20 

सेमी है। 

अत: PT की लृंबाई = 20√3 सेमी 

तो, सबसे बड़ा समबाहु लत्रभुज लजसकी भुजा 20√3 सेमी 

होगी। 

वाृंलछत के्षत्रफल = √3/4 × 20√3 × 20√3 = 300√3 

सेमी2 

इसललए लवकल्प a सही है| 

11. Answer: (A) 

[secx(1 – sinx)(sinx + cosx)(secx + tanx)]/[sinx(1 

+ tanx) + cosx(1 + cotx)] 

= [secx(1 – sinx)(sinx + cosx)(secx + 

tanx)]/[sinx(1 + sinx/cosx) + cosx(1 + cosx/sinx)] 

= [secx(1 – sinx)(sinx + cosx)(secx + tanx) × 

sinxcosx]/[(sin2x + cos2x)(sinx + cosx)] 

= sinxcosx 

इसललए लवकल्प a सही है| 

12. Answer: (A) 

घन समीकरण के ललए; x3 - 3x2 + 4x + 2 = 0 

मूल = p, q और r 

मूलोृं का योग = p + q + r = 3……………….(i) 

मूलोृं का गुणनफल = p × q × r = -2 …………….(ii) 

एक बार में दो मूलोृं के गुणनफल का योग; 

pq + qr + pr = 4 …… (iii) 

समीकरण (iii) को समीकरण (ii) से लवभालजत करने पर 

हमें प्राप्त होता है 

(pq + qr + pr)pqr = -4/2 = -2 

1/p + 1/q + 1/r = -2 

इसललए लवकल्प a सही है| 

13.  Answer: (A) 

वाृंलछत अनुपात = (768 + 576):(704 + 832)  

= 1344:1536 = 7:8 

इसललए लवकल्प a सही है| 

14.  Answer: (A) 

वाृंलछत प्रलतशत = [(512 + 864 – 960)/960] × 100  

= 43.33% 

इसललए लवकल्प a सही है| 

15. Answer: (B) 

वाृंलछत औसत = [(512 + 576 + 864) – (704 + 384 + 

832)]/3 = 32/3 kg 

इसललए लवकल्प b सही है| 

16. Answer: (C) 

प्रश्न के अनुसार 

 
इसललए, 

D, BC का मध्य-लबृंदु है, तो इसके लनदेशाृंक हैं 

{(-2 + 0)/2}, {(-3 + 3)/2} = D(-1, 0) 

लाइन AD के ललए, 

रेखा का समीकरण इस प्रकार लदया जा सकता है: {(y - 

y1)/(y2 - y1)} = {(x - x1)/(x2 - x1)} 

या, (y – 5)/(0 – 5) = (x – 2)/(-1 – 2) 

या, 5x - 3y + 5 = 0 

इसललए लवकल्प c सही है| 

17. Answer: (B) 

{(x – 5)/(x2 + 2x – 35)} > 0 

या, {(x – 5)/(x2 + 7x – 5x – 35)} > 0 

या, {(x – 5)/(x + 7)(x – 5)} > 0 

इसललए, x (-7, 5) ∪ (5, 0) के ललए असमानता सत्य है। 

असमानता को सृंतुष्ट करने वाला सबसे छोटा पूणाांक '-6' 

है 

इसललए लवकल्प b सही है| 

18. Answer: (B) 

 
प्रश्न के अनुसार, 

BC सीढी है लजसकी लृंबाई 3.8 मीटर है। 

AC दीवार के पाद और सीढी के पाद के बीच की दूरी = 

3.2 मीटर 

BD वह दूरी है लजससे सीढी लफसल गई = 0.6 मीटर 

समकोण लत्रभुज ABC में, 

BC² = AB² + CA² [पाइथागोरस प्रमेय का प्रयोग करना] 

(3.8)² = (AD + BD)² + (3.2)² 

14.44 = (AD + 0.6)² + 10.24 

(AD + 0.6)² = 14.44 - 10.24 = 4.2 

AD + 0.6 = 2.04 

AD = 2.04 - 0.60 = 1.44 

अब, समकोण लत्रभुज ADE में, 

DE² = AD² + EA² 

(3.8)² =(1.44)² + (3.2 + EC)² 

14.44 = 2.07 + (3.2 + EC)² 

√12.37 = 3.2 + EC 

EC = 3.51 – 3.20 = 0.31 मीटर  

इसललए लवकल्प b सही है| 

19. Answer: (A) 

 
मान लीलजए लक AB 420 मीटर ऊृं चाई की चट्टान को 

दशायता है और C, D नाव की दो स्थथलतयोृं को दशायता है। 

लत्रभुज ABC में, 

tan60º = (AB/BC) 

या, BC = 420/√3 

साथ ही, लत्रभुज ABD में, 

tan45º = AB/BD 

या, BD = AB = 420m 

तय की गई दूरी = CD = BD - BC 
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= 420 - (420/√3) = {420(√3 - 1)/√3} मीटर 

गलत = 6 लकमी/घृंटा = (6 × 1000)/60 मीटर/लमनट = 

100 मीटर/लमनट 

हम जानते हैं लक, 

समय = दूरी/गलत = {420(√3 - 1)/√3} 100 = 1.77 ~ 2 

लमनट  

इसललए लवकल्प a सही है| 

20. Answer: (A) 

a3 + b3 + c3 – 3abc = (a + b + c) × (1/2) × {(a – 

b)2 + (b – c)2 + (c – a)2} 

तो, आवश्यक मूल्य = (997 + 998 + 999) × (1/2) × 

{(997 – 998)2 + (998 – 999)2 + (999 – 997)2} 

= 2994 × (1/2) × {1 + 1 + 4} 

= 2994 × 3 = 8982 

इसललए लवकल्प a सही है| 

21.  Answer: (C) 

चार दीवारोृं का के्षत्रफल = 2 × (लृंबाई + चौड़ाई) × 

ऊँचाई 

चार दीवारोृं का के्षत्रफल = 2 × (12 + 6) × 8 = 16 × 

18 = 288 m2 

कमरे की दीवारोृं को रृंगने का खचय = (288/12) × 100 = 

रु. 2400 

इसललए लवकल्प c सही है| 

22.  Answer: (D) 

'4' और '9' का माध्य आनुपालतक = (4 × 9) = √36 = 6 

और, '3', '5' और '6' का चौथा समानुपाती = {(5 × 6)/3} 

= 10 

आवश्यक अनुपात = 6:10 = 3:5 

इसललए लवकल्प d सही है| 

23. Answer: (A) 

मान लीलजए लक उक्त सृंख्या को 754 से लवभालजत करने 

पर प्राप्त भागफल 'x' है 

इसललए, सृंख्या = 754x + 17 = (754x + 13 + 4) 

जब दी गई सृंख्या को 17 से लवभालजत लकया जाता है तो 

शेष = (754x + 13 + 4)/13  

चँूलक, '754x + 13', '13' से पूणयतः  लवभाज्य है। अत: 

शेषफल = 4 

इसललए लवकल्प a सही है| 

24. Answer: (B) 

मान लीलजए लनवेश की गई रालश रु. 'S'। 

लनवेश की समयावलि = (11/4) वषय = 2 वषय और 9 महीने 

9 महीने के ललए प्रभावी ब्याज दर = (9/12) × 20 = 

15% 

प्रश्नानुसार; 

9936 = S × 1.20 × 1.20 × 1.15 

या, 9936 = S × (1.44) × (1.15) 

तो, S = 6000 

अत: लनवेश की गई रालश = रु.6,000  

इसललए लवकल्प b सही है| 

25.  Answer: (B) 

माना वसु्त का अृंलकत मूल्य '5x' रु है। 

तो, वसु्त का क्रय मूल्य = (4/5) × 5x = '4x'  

वसु्त का लवक्रय मूल्य = (0.88 × 5x) = '4.4x' 

प्रश्नानुसार; 

4.4x - 4x = 40  

या, 0.4x = 40 

या, x = 100 

वसु्त का क्रय मूल्य = 4x 4 × 100 = रु. 400 

वसु्त का अृंलकत मूल्य = 5x = 5 × 100 = रु. 500 

इसललए लवकल्प b सही है| 

26.  Answer: (B) 

√41 + 12√5  

= √41 + 2 × 6 × √5  

= √36 + 5 + 2 × 6 × √5 

= √(6 + √5)2 

= (6 + √5) 

इसललए लवकल्प b सही है| 

27.  Answer: (C) 

 
माना वगय ABCD की भुजा = 'a' सेमी 

लवकणय 'BD' की लृंबाई = a√2 सेमी 

अतः , a√2 = 12.5 

या, A = (12.5/√2) 

वगय ABCD का के्षत्रफल = (a2) = (6.25√2)2 = 78.125 

सेमी2 

इसललए लवकल्प c सही है| 

28.  Answer: (A) 

cot10o × cot 200o × cot 60o × cot 80o × cot70o 

= cot10o × cot(180o + 20o) × cot60o × cot(90o – 

10o) × cot(90o – 20o) 

= cot10o × cot20o × cot60o × tan10o × tan20o 

Using, cotx × tanx = 1 

= cot60o = (1/√3) 

इसललए लवकल्प a सही है| 

29.  Answer: (B) 

माना राकेश की प्रारृं लभक आय = रु. '100x' 

राकेश का प्रारृं लभक व्यय = 0.50 × 100x = '50x' रु. 

अत: राकेश की आरृं लभक बचत = (100 - 50x) = '50x' 

रु. 

राकेश की बढी हुई आय = 1.20 × 100x = '120x' रु. 

राकेश का बढा हुआ खचय = 1.08 × 50x = '54x' रु. 

राकेश की बढी हुई बचत = (120x - 54x) = '66x' रु. 

बचत में बढा प्रलतशत = {(66x - 50x)/50x} × 100} = 

32% 

इसललए लवकल्प b सही है| 

30.  Answer: (B) 

माना समलृंब की ऊृं चाई 'h' सेमी . है 

समलृंब का के्षत्रफल = (1/2) × इसकी समानाृंतर भुजाओृं 

की लृंबाई का योग × ऊँचाई 

अतः , {(4 + 8) × h}/2 = 9 

या, h = 18/12 = 1.50 

अत: समलृंब की ऊँचाई = 1.50 सेमी 
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इसललए लवकल्प b सही है| 

Reasoning and General Intelligence 

31. Answer: (C) 

(C) सही दपयण छलव है। 

 
32. Answer: (B) 

B सही पैटनय देता है जो लदए गए कट पेपर को खोलने पर 

प्राप्त होगा। 

33. Answer: (A) 

22+72= 53 

82+42= 80 

92+62= 117 

34. Answer: (D) 

E+3=H 

G+4=K 

I+5=N 

K+6=Q 

So for JLNP 

J+3=M 

L+4=P 

N+5=S 

P+6=V 

35. Answer: (B) 

 
यहाँ, A"C = 4 m 

BB' = B"C = (AC)/2 = 6/2 = 3 मी. 

अत: दोनोृं द्वारा चली गई दूररयोृं का अृंतर = (3 + 3 + 

9) - (6 + 4 + 4) = 15 - 14 = 1 मी 

36. Answer: (D) 

K का लपता G, A का भाई है। 

A, जो एक पुरुष है, उसका केवल एक भाई है। 

हम पाते हैं, 

 
M, जो A की भाभी है, R की पुत्री है। 

और, K, R की पोती/नालतन है। 

इसललए, R या तो G या K की माता का माता-लपता होना 

चालहए। 

अत: M, G की पत्नी है और K की माता है। 

 
T के केवल दो पुत्र हैं। 

अत: T, G और A के माता लपता है। 

 
अत: M, T की बह है। 

37. Answer: (D) 

cure and heal = 2 1 9 

heal the scar = 5 0 9 

heal = 9 

अतः , 'heal' का कोड = '9'. 

38. Answer: (B) 

RETAIN में छह अक्षर होते हैं - (6 x 6) - (6 + 6) = 36 

- 12 = 24 

BESIDES में सात अक्षर होते हैं - (7 x 7) - (7 + 7) = 

49 - 14 = 35 

PROCEDURE में नौ अक्षर हैं - (9 x 9) - (9 + 9) = 81 

- 18 = 63 

इसी तरह, 

GIVEN में पाँच अक्षर होते हैं - (5 x 5) - (5 + 5) = 25 

- 10 = 15 

39. Answer: (A) 

आपस में बदलने के बाद, हम प्राप्त करते हैं: 

120 ÷ 3 + 11 x 4 - 14 = 100 - 15 x 26 ÷ 13 

LHS= 120 ÷ 3 + 11 x 4 - 14 

= 40 + 44 -14 

= 70 

RHS= 100 - 15 x 2 

= 70 = LHS. 

40. Answer: (D) 

17 लसतृंबर, 2012 = (2011 वषय + 1/1/2012 से 

17/9/2012 तक की अवलि) 

400 वषों में लवषम लदनोृं की सृंख्या = 0 

इसललए, 

2000 वषों में लवषम लदनोृं की सृंख्या = 0 

11 वषय = 9 सामान्य वषय + 2 लीप वषय (जैसा लक हर चार 

वषय में लीप वषय होता है) 
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11 वषों में लवषम लदनोृं की सृंख्या = 9 x 1 + 2 x 2 = 

13 

2012 लीप ईयर था। 

जनव

री 

फरव

री 

मा

चय 

अपै्र

ल 

म

ई 

जू

न 

जुला

ई 

अग

स्त 

लसत

म्बर 

31 29 31 30 

3

1 

3

0 31 31 17 

31 + 29 + 31 + 30 + 31 + 30 + 31 + 31 + 17 = 

261 लदन 

261 लदन = 37 सप्ताह + 2 लदन = 2 लवषम लदन 

लवषम लदनोृं की कुल सृंख्या = 0 + 13 + 2 = 15 = 7 x 

2 + 1 = 1 लवषम लदन 

तो, लदया गया लदन सोमवार था। 

41. Answer: (D) 

प्रते्यक फलक एक घन में चार अन्य फलकोृं के लनकट 

है। लदए गए सृंयोजनोृं में, 6, u, 8, s और t के आसन्न है। 

अत: यलद '6' घन के शीषय पर है तो '4' लनचले फलक पर 

होगा। 

42. Answer: (A) 

 
I. कुछ लवशेस, नीड्स नही ृं हैं।तो, I अनुसरण करता है। 

II. कोई नीड, लवश नही ृं हैं। अत: II अनुसरण नही ृं करता 

है। 

43. Answer: (D) 

 
सभी पैम्फलेट के लीफलेट होने की सृंभावना है लेलकन 

लनलित सत्य नही ृं है। तो, I अनुसरण करता है। 

कोई पेज, लीफलेट नही ृं हो सकता है। कुछ लीफलेट, 

पेज भी हो सकते हैं। तो, या तो II या III अनुसरण करता 

है। 

44. Answer: (C) 

B _ _ _ _ _ H _ _ _ _ _ N _ _ _ _ _ T _ _ _ _ _ Z 

E _ _ _ I _ _ _ M _ _ _ Q _ _ _ U 

F _ _ _ J _ _ _ N _ _ _ R _ _ _ V 

NMN is the missing term. 

45. Answer: (C) 

12+6 = 18, अृंकोृं का योग = 1+8 = 9 

56+2 = 58, अृंकोृं का योग = 5+8 = 13 

इसी तरह, 

17+8 = 25, अृंकोृं का योग = 2+5 = 7 

46. Answer: (D) 

केवल दो बॉक्स काले वाले से बडे़ हैं। 

सफेद हरे से बड़ा है। 

काला हरा और सफेद दोनोृं से छोटा होता है। 

हम पाते हैं, 

________ <________ <________ <काला <हरा <सफेद 

लाल कम से कम दो बक्सोृं से बड़ा है। 

सृंतरा लाल और पीले रृंग से छोटा होता है। 

हम पाते हैं, 

नारृंगी <पीला < लाल < काला < हरा < सफेद 

47. Answer: (C) 

लवकल्प (C) लवषम है क्ोृंलक यह उसी तकय  का पालन 

नही ृं करता है जैसा लक अन्य तीन लवकल्पोृं का पालन 

करता है। 

82 + 6 = 64 + 6 = 70 

132 + 6 = 169 + 6 = 175 

112 + 6 = 121 + 6 = 127 

48. Answer: (B) 

अलिकाृंश एथलीट तैराक हैं और कुछ तैराक कलाकार हैं। 

तो, कुछ एथलीट कलाकार हो भी सकते हैं और नही ृं भी। 

(I) लनलित रूप से लनष्कषय नही ृं लनकाला जा सकता है। 

चूृंलक अलिकाृंश एथलीट तैराक हैं, कुछ तैराक लनलित रूप 

से एथलीट हैं। तो, (II) लनष्कषय लनकाला जा सकता है। 

इसललए, (B) सही लवकल्प है। 

49. Answer: (C) 

दुघयटना-चोट-लफलजयोथेरेलपस्ट-नुसे्ख-दवा-आराम। 

50. Answer: (D) 

_ _ _ _ _ _ _ _ (आठ) पद हैं। 

O तीन थथान बाईृं ओर, लफर दो थथान दाईृं ओर, लफर 

तीन थथान बाईृं ओर, और इसी तरह आगे बढ रहा है। 

तो, अगला पद है: BOBBBBBB (BBBBOBBB से 3 

थथानोृं को बाईृं ओर थथानाृंतररत)। 

51. Answer: (A) 

A का सामने से थथान = 56 

कुल = 110 

कतार के अृंत से A का थथान = 110 - 56 + 1 = अृंत 

से 55वाृं। 

52. Answer: (B) 

 
सभी मैट्स, टॉयज हैं। तो, I अनुसरण करता है। 

कोई ग्लॉस, मैट्स नही ृं है। तो, II अनुसरण करता है। 

अत: I और II दोनोृं अनुसरण करते हैं।  

53. Answer: (D) 

लवदेशोृं से भारत में माल ले जाना आसान हो सकता है, 

उन्हें देश के भीतर एक राज्य से दूसरे राज्य में ले जाना , 

लेलकन उपरोक्त दो बयानोृं से लवदेशी फमों द्वारा लनवेश 

के बारे में कुछ भी अनुमान नही ृं लगाया जा सकता है। 

इसललए, (d) सही लवकल्प है। 

54. Answer: (D) 

C(3)- F(6)- I(9) लगातार 3 के गुणज। 
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E(5)-J(10)-O(15) 5 के लगातार गुणज 

B(2)-D(4)-F(6) 2 के क्रमागत गुणज 

D(4)-H(8)-P(16) 

55. Answer: (A) 

बहनोृं का मुख उत्तर की ओर है जबलक भाइयोृं का मुख 

दलक्षण की ओर है। G के दायी ृं ओर दो व्यस्क्त बैठे हैं। G, 

W का भाई नही ृं है। G का मुख दलक्षण लदशा की ओर नही ृं 

है। इसललए, G अवश्य ही W की बहन होगी। इसललए, G 

का मुख दलक्षण लदशा की ओर नही ृं है, इसललए उसका मुख 

उत्तर की ओर होना चालहए। 

 
H लकसी एक कोने पर बैठा है। N और G के मध्य एक 

व्यस्क्त बैठा है, लजसका मुख लवपरीत लदशाओृं की ओर है। 

 
O, Y के बाएृं  से दूसरे थथान पर बैठा है। O का मुख दलक्षण 

की ओर है। W अपने भाई के ठीक दायें बैठी है। तो, W 

एक मलहला है। 

 
Y न तो H और न ही N के लनकट है। इसललए, स्थथलत 2(i) 

और 2(ii) अमान्य हैं। H, W और G बहनोृं का समुच्चय है। 

56. Answer: (B) 

1, 5 के लवपरीत है 

2, 3 के लवपरीत है 

6, 4 के लवपरीत है 

 
57. Answer: (D) 

Wabash > Wackily > Wagged > Waggon > 

Wagnor  

58. Answer: (D) 

मैलटि क्स से, G = 01,13,20,34,42 

R = 02,11,24,30,43 

A = 56,68,75,89,97 

V = 58,65,79,87,96 

E =59,66,77,85,98 

L = 04,12,23,31,40 

केवल लवकल्प 42,24,75,58,59,23 में अक्षरोृं के कूट 

समान क्रम में हैं। 

59. Answer: (C) 

माना कर लतका लशखा से n वषय बड़ी है। लफर, 

कर लतका = n + लशखा = मुकुल - n 

कर लतका + लशखा + मुकुल = 63...(i) 

और, मुकुल = 39 - 11 = 28 

तब, कर लतका = 28 - n 

और, लशखा = 28 - n - n = 28 - 2n 

अब, समीकरण (i) बन जाता है, 

28 - N + 28 – 2N + 28 = 63 

N= 7 

इसललए, मुकुल और लशखा की वतयमान उम्र के बीच का 

अृंतर 

= 28 - 28 - 2n 

= 2n 

= 2 * 7 

= 14 वषय 

60.  Answer: (B) 

400 से लवभाज्य शताब्दी एक लीप वषय है और 4 से 

लवभाज्य वषय (शताब्दी के अलावा) एक लीप वषय है। 

3402, 4 से लवभाज्य नही ृं है। 

3156, 4 से लवभाज्य है, इसललए एक लीप वषय है। 

3398, 4 से लवभाज्य नही ृं है। 

3262, 4 से लवभाज्य नही ृं है। 

तो, 3156 एक लीप वषय होगा। 

English Language and Comprehension 

61. Answer: (A) 
(a) is right answer. Replace FEW with LITTLE. 
FEW is used to modify countable nouns such as 
houses, books, etc. while LITTLE is used to modify 
uncountable nouns such as knowledge, wisdom, etc. 
Here, the noun ‘money’ is uncountable so LITTLE will 
be used. 

62.  Answer: (D) 
All except D are mentioned in the passage. Refer to 
the lines: “It is now used in everything from sporting 
equipment—tennis rackets, Formula 1 cars, boating 
sails—to personal protective equipment like 
bulletproof vests.” Thus, (d) is the right answer. 

63.  Answer: (A) 
Refer to the line: “Artificial spider silk, the researchers 
suggested, could make for a lighter, stronger and 
more breathable body armor than even Kevlar.” Thus, 
(a) is the right answer. 

64.  Answer: (C) 
Refer to the lines: “As battlefields grew farther apart 
and cannon fire spelled imminent death, and as the 
fighting grew less personal and more distanced (like 
the relationship between the men who called the 
orders to those who marched to them), men wore 
metal plates over their uniforms and donned metal 
helmets to protect against gunfire. These plates were 
placed over the heart, which often beat with a fear 
that was hardly aided by the presence of a thin metal 
sheet and, later, a tightly-woven polymer simply 
known as Kevlar.” Thus, (c) is the right answer. 

65.  Answer: (D) 
All except D are true. Refer to the lines: “Kevlar, or 
light and ultra-strong plastic polymers that are tightly 
woven into a flexible fabric, became popular after its 
discovery and implementation in the 1960s.” Thus, (d) 
is the right answer. 

66.  Answer: (A) 
Refer to the lines: “Two years ago, researchers at the 
Air Force Research Laboratory announced that they 
would be looking into an age-old fiber to more fully 
explore its cooling and temperature regulation 
properties, and its use toward strengthening current 
synthetic fibers.” Thus, (a) is the right answer. 

67.  Answer: (D) 

http://bit.ly/TesMusPrime
https://tesmus.com/


SSC_CGL_MAINS_ 2023                             TEST ID – LBL - 897013232 

 

 

 

App :- http://bit.ly/TesMusPrime                       7 | P a g e                 Web :- https://tesmus.com  

Refer to the line: “Unlike the Maya, Aztecs and Inca, 
the Calusa built their kingdom, which stretched from 
modern Tampa Bay to Ten Thousand Islands and as 
far east as Lake Okeechobee, without agriculture.” 
Thus, (d) is the right answer. 

68.  Answer: (A) 
All except A are mentioned in the passage as a 
feature of the Calusa empire. Refer to the lines: 
“Beginning roughly 2,000 years ago, the Calusa 
enjoyed centuries of dominance as the undisputed 
rulers of southwest Florida. Theirs was a complex 
society with trade routes spanning hundreds of miles; 
a powerful military; and built works including wide 
canals, islands made of shells and towering 
buildings.” Thus, (a) is the right answer. 

69.  Answer: (B) 
Refer to the passage: “Now, a new study published in 
the Proceedings of the National Academy of Sciences 
reveals details of how the Calusa stockpiled live fish 
in massive holding pens, or “watercourts,” built out of 
oyster shells.” Thus, (b) is the right answer. 

70.  Answer: (D) 
All except D are true as per the passage. Refer to the 
passage: “Now, a new study published in the 
Proceedings of the National Academy of Sciences 
reveals details of how the Calusa stockpiled live fish 
in massive holding pens, or “watercourts,” built out of 
oyster shells...The remains of these watercourts—the 
largest of which is seven times larger than an NBA 
basketball court—are located near Fort Myers in 
Mound Key, where the Calusa’s capital city of Calos 
stood for 500 years...Bones and scales excavated 
from the ancient holding pens belonged to mullet, 
pinfish and herring, all schooling species that might 
have been easily herded inside.” Thus, (d) is the right 
answer. 

71.  Answer: (A) 
Refer to the passage: “The watercourts could also 
have been an innovation prompted by a drop in sea 
level that occurred around 1250, potentially impacting 
“fish populations enough to help inspire some 
engineering innovation,” says Karen Walker, study 
co-author and an archaeologist at the Florida 
Museum, in a statement.” Thus, (a) is the right 
answer. 

72.  Answer: (C) 
Refer to the lines: “Abu Hureyra is an important 
archaeological site in Syria, known for artifacts 
documenting early adoption of agriculture in the 
region.” Thus, (c) is the right answer. 

73.       Answer: (C) 
Refer to the lines: “The researchers think that upon 
entering Earth’s atmosphere, the already-fractured 
comet likely broke up into several more pieces, many 
of which didn’t reach the ground. Instead, they 
produced a string of explosions in the atmosphere 
known as airbursts.” Thus, (c) is the right answer. 

74.  Answer: (A) 
Refer to the lines: “During the excavation, 
archaeologists realized that there were really two 
sites, one on top of the other. The first was a 
Paleolithic settlement of hunter-gatherers, and the 
second was a farming town, with new buildings of a 
different style.” Thus, (a) is the right answer. 

75.  Answer: (B) 
Refer to the lines: “A new analysis of samples of soil 
and artifacts salvaged from the original excavation 
has revealed a surprising finding: The Paleolithic 
village at Abu Hureyra was indirectly hit and 
destroyed by fragments of a comet that slammed into 
Earth about 12,800 years ago.” Thus, (b) is the right 
answer. 

76.  Answer: (D) 

All except D are false. Refer to the lines: “The site, 
now under the waters of Lake Assad, was quickly 
excavated between 1972 and 1973 before 
construction of the Tabqa Dam flooded the area. 
During the excavation, archaeologists realized that 
there were really two sites, one on top of the other. 
The first was a Paleolithic settlement of hunter-
gatherers, and the second was a farming town, with 
new buildings of a different style.” This confirms that 
A, B and C are true. 
Refer to the lines: “It may also be recognized as the 
only known human settlement to have been hit by a 
fragment of a comet.” This confirms that (d) is false, 
which makes it the right answer. 

77. Answer: (B)   
(b) is the right answer. Irreverence means a lack of 
respect for people or things that are generally taken 
seriously. 
Restive- (of a person) unable to remain still, silent, or 
submissive, especially because of boredom or 
dissatisfaction. 
Avarice- extreme greed for wealth or material gain. 
Amity- friendly relations. 

78. Answer: (C) 
(c) is the right answer. 
Chutzpah-Extreme self-confidence or audacity 
(usually used approvingly) 
Chronic-Illness persisting for a long time or constantly 
recurring 
Citation-Quotations from or references to a book, 
paper, or author, especially in a scholarly work 

79. Answer: (A) 
The correct spelling of the word is ANXIOUS, and it 
means worried. Thus, (a) is the right answer. 

80. Answer: (D) 
RUN OUT (to be short of) will fit here as the sentence 
tells us how the group is short of money. Thus, (d) is 
the right answer. 
Run after - chase. Run into - encounter. Run over - 
collide. 

81. Answer: (B)   
(b) is the right answer. Replace GOT with GET. 
Modal verbs (COULD) are followed by verbs in their 
base form. 

82. Answer: (B) 
The sentence is in active voice and in past perfect 
tense (HAD SANITISED). Follow the rules below to 
convert a sentence in the indicative mood to passive 
voice: 
1. The subject clause will become the object clause. 
Here, the subject THE AUTHORITIES will change to 
the object of the verb, and the object THE PARK 
BENCHES will change into the subject and begin the 
sentence. 
2. Replace HAD PROCURED with HAD BEEN 
SANITISED. The passive voice construction for past 
perfect tense is "HAD + BEEN + past participle". 

83.       Answer: (A) 
We need a noun to be modified by the adjective 
HUMBLEST. ABODE (dwelling) will fit here as the 
sentence tells us how from the humblest dwelling to 
the most lavish mansion, our homes have been a 
respite from the world. Thus, (a) is the right answer. 
Abide (verb) - adhere to. Adept (adjective) - skilled. 
Adopt (verb) - embrace. 

84.  Answer: (C) 
We need a past participle form verb here to fit in the 
passive voice clause. UPENDED (turned upside 
down) will fit here as the sentence tells us how the 
quarantine has turned our lives upside down. Thus, 
(c) is the right answer. 
Averted - prevented. Apprised - informed. Undertaken 
- tackled. 
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85.  Answer: (B) 
We need a base form verb to follow the modal verb 
MIGHT. SURPRISE (astonish) will fit here as the 
sentence tells us of a fact that might astonish us. 
Thus, (b) is the right answer. 
Suppose - reckon. Command - order. Convince - 
persuade. 

86.  Answer: (D) 
We need an adjective to modify the noun LUXURIES. 
UNFATHOMABLE (unimaginable) will fit here as the 
sentence tells us of luxuries that were unimaginable 
by the rulers of the past. Thus, (d) is the right answer. 
Understandable - capable of being understood. Urged 
- convinced. Cynical - pessimistic. 

87.  Answer: (A) 
We need a noun to be modified by the adjective 
UPPER. ECHELONS (levels) will fit here as the 
sentence tells us of luxuries enjoyed by the upper 
classes. Thus, (a) is the right answer. 
Eons - ages. Aliens - extraterrestrial beings. Allures - 
tempts. 

88. Answer: (C) 
(c) is the right answer. The idiom BACK TO THE 
DRAWING BOARD means to start again because the 
current attempt was unsuccessful. 

89. Answer: (A) 
(a) is the right answer. 
Crescendo- A gradual increase in noise 
Counterfeit- Made to look like an exact copy of 
something in order to trick people 
Demagogue- A leader or orator who espouses the 
cause of the common people 

90. Answer: (A) 
Option (a) is the right answer. 
The sentence is in direct speech and in the 
interrogative mood. To convert this sentence to the 
indirect speech, follow these rules: 
1. Remove the comma and the inverted commas. 
2. Change the reporting verb SAID to ASKED. The 
preposition TO is redundant after ASKED, so it will be 
removed. Begin the indirect speech sentence with the 
reporting speech clause I ASKED HER. 
3. Put IF between the reporting and reported 
speeches. 
4. The second person subjective pronoun YOU will 
change to the third person subjective SHE. 
5. The simple present tense DO YOU HAVE will 
change to the simple past SHE HAD. 
6. Use the indicative mood syntax: Reporting speech 
clause (I ASKED HER) + preposition (IF) + Subject 
(SHE) + verb clause (HAD) + Object (SOME EXTRA 
MONEY). 

91. Answer: (C) 
The sentence is in active voice and in simple present 
tense (face). Follow the rules below to convert a 
sentence in the indicative mood to passive voice: 
1. The subject clause will become the object clause. 
Here, the subject (THE COUNTRIES) will change to 
the object of the verb, and the object (A LOT OF 
RAINFALL) will change into the subject and begin the 
sentence. 
2. Replace FACE with IS FACED. The passive voice 
construction for simple present tense is "is/ are + past 
participle". 
3. Add the conjunction BY before THE COUNTRIES 
to link the verb with its object. 
Option (c) is the right answer. 

92. Answer: (B)   
(b) is the right answer. 1-RSQP-6 is the correct 
sequence. (1) begins the passage by establishing the 
context: OPERA. It tells us that OPERA is a dramatic 
art form. R follows (1). It tells us about the origin of 
OPERA. S and Q form a pair. S tells us that OPERA 

involves the display of emotional content to the 
audience as through music and lyrics. Q compares 
OPERA and MUSICAL THEATER. P and (6) form a 
pair too. P tells us about the elements that are 
common between THEATER and OPERA. (6) begins 
with the conjunction HOWEVER, which is used to link 
contrasting statements. It tells us that the words in the 
opera are sung rather than spoken. 

93. Answer: (C) 
(c) is the right answer. The idiom ONCE IN A BLUE 
MOON means very rarely. 

94. Answer: (A) 
Option (a) is the right answer. 
The sentence is in direct speech and in the indicative 
mood. To convert this sentence to the indirect 
speech, follow these rules: 
1. Remove the comma and the inverted commas. 
2. Begin the indirect speech sentence with the 
reporting speech clause THE BOY SAID. 
3. Put THAT between the reporting and reported 
speeches. 
4. The first person subjective pronoun I and 
possessive pronoun MY will change to the third 
person subjective HE and possessive HIS 
respectively. 
5. The modal verb WILL will change to WOULD. 
Modal verbs such as will, would, can, etc. always take 
the base form of the main verb, so GO will remain 
unchanged. 

95. Answer: (C) 
GO FOR (choose) will fit here as the sentence tells us 
what kind of meat products to choose. Thus, (c) is the 
right answer. 
Go off - explode. Go out - leave. Go into - enter. 

96. Answer: (C) 
DORMANT-temporarily inactive. ACTIVE is the 
antonym. 
ILLICIT-forbidden by law, rules, or custom; MILD- not 
severe, serious, or harsh; RIGID-unable to bend or be 
forced out of shape; not flexible. 

97. Answer: (B) 
Option (b) is the right answer. 
The sentence is in direct speech and in the indicative 
mood. To convert this sentence to the indirect 
speech, follow these rules: 
1. Remove the comma and the inverted commas. 
2. Begin the indirect speech sentence with the 
reporting speech clause THE WOMAN SAID. 
3. Put THAT between the reporting and reported 
speeches. 
4. The first person subjective pronoun I will change to 
the third person subjective SHE. 
5. Replace the simple past tense WENT TO THE 
STORE AFTER THE MOVIES with the past perfect 
HAD GONE TO THE STORE AFTER THE MOVIES. 

98.  Answer: (A) 
We need a noun to be modified by the adjective 
GREAT. SOURCES (origins) will fit here as the 
sentence tells us how the caves are one of Africa’s 
greatest sites where fossils have been found. Thus, 
(a) is the right answer. 
Spurs - pushes. Surmises - speculates. Spears - a 
long pointed weapon. 

99.  Answer: (C) 
We need a noun here to form the subject of the verb 
BEGAN. EXCAVATIONS (the act of digging up 
something in search of fossils or remains) will fit here 
as the sentence tells us of the species discovered 
during the digs. Thus, (c) is the right answer. 
Expirations - terminations. Excitement - intrigue. 
Expeditions - trips. 

100.  Answer: (B) 
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We need a gerund to form the object of the 
preposition BY. MEASURING (calculating) will fit here 
as the sentence tells us how the decay of radioactive 
elements is calculated to date the fossils. Thus, (b) is 
the right answer. 
CALCULATION is a noun. Ensuring - making sure of 
something. Seizing - grabbing. 

101.  Answer: (C) 
We need a past participle form verb to fit in the 
present perfect tense construction HAVE + VERB. 
COLLAPSED (fallen) will fit here as the sentence tells 
us how the older fossil-filled sections have fallen into 
lower areas. Thus, (c) is the right answer. 
DESCENT is a noun. Categorized - sorted. Conspired 
- plotted secretly. 

102.  Answer: (D) 
We need a verb here to link the subject and the 
object. DEFIES (goes against) will fit here is the 
sentence tells us how the landscape does not favour 
easy reconstruction. Thus, (d) is the right answer. 
Denigrates - criticises. Divides - fragments. Deploys - 
makes use of. 

103. Answer: (B)  \ 
(B) is the right answer. 1-QRSP-6 is the correct 
sequence. (1) establishes the subject of the passage: 
STEVE. It tells us that Steve was born in Tokyo in 
1950. Q follows (1). It tells us that he moved to 
LONDON with his parents when he was 5 years old. 
R follows Q. The pronoun THERE tells us that the 
sentence talks about LONDON. It tells us that Steve 
started going to school in London. S follows R. It tells 
us that he lived in England for 2 years and then went 
to Jordan where he stayed for the next ten years. P 
follows S. It tells us that he moved to Cyprus where 
he took admission in the Mediterranean University. 6 
tells us that he did not succeed academically so he 
returned to Jordan. 

104. Answer: (C) 
(c) is the right answer. LACONIC means (of a person, 
speech, or style of writing) using very few words. 
CONCISE is the synonym. 
CONCEITED- excessively proud of oneself; vain. 
POMP- ceremony and splendid display. 
DEMENTED- behaving irrationally due to anger, 
distress, or excitement. 

105. Answer: (B)   
(B) is the right answer. We need an adjective to 
modify the noun JUDGE. The sentence seeks to 
convey that the criminal asked the judge to grant him 
parole but the judge did not listen to him and gave 
him a life sentence. ADAMANT fits contextually. If 
someone is ADAMANT about something, they are 
determined not to change their mind about 
it.ONEROUS- (of a task or responsibility) involving a 
great deal of effort, trouble, or difficulty. 
TIMID- showing a lack of courage or confidence; 
easily frightened. 
DAUNTLESS- showing fearlessness and 
determination. 

General Awareness 

106. Answer: (D) 

चृंपा नदी ने मगि और अृंग के महाजनपदोृं का सीमाृंकन 

लकया। 

अथवयवेद में पहली बार अृंग का उले्लख लमलता है। प्राचीन 

अृंग के अृंलतम स्वतृंत्र शासक ब्रह्मदत्त की लबृंलबसार ने हत्या 

कर दी थी। 

107. Answer: (C) 

4 लमनट लकन्ही ृं दो क्रमागत देशाृंतरोृं के बीच के समय का 

अृंतर है। 

108. Answer: (A) 

सृंलविान के अनुचे्छद 72 के तहत, राष्टि पलत को लकसी भी 

अपराि के ललए दोषी ठहराए गए लकसी भी व्यस्क्त की 

सजा को माफ करने, राहत देने, राहत देने या छूट देने या 

लनलृंलबत करने, हटाने या कम करने की शस्क्त होगी, जहाृं 

सजा मौत की सजा है। 

क्षमा: यह सजा और दोषलसस्ि दोनोृं को हटा देता है और 

अपरािी को सभी वाक्ोृं, दृंडोृं और अयोग्यताओृं से पूरी 

तरह से मुक्त कर देता है। 

कमू्यटेशन: यह हले्क रूप के ललए सजा के एक रूप के 

प्रलतथथापन को दशायता है। उदाहरण के ललए, मौत की 

सजा को कठोर कारावास में बदला जा सकता है, लजसे 

बदले में सािारण कारावास में बदला जा सकता है। 

छूट: इसका अथय है लक इसके चररत्र को बदले लबना वाक् 

की अवलि को कम करना। उदाहरण के ललए, दो साल के 

कठोर कारावास की सजा को एक साल के कठोर 

कारावास में बदला जा सकता है। 

राहत: यह लकसी लवशेष तथ्य, जैसे लकसी अपरािी की 

शारीररक अक्षमता या मलहला अपरािी की गभायवथथा के 

कारण मूल रूप से दी गई सजा के थथान पर कम सजा देने 

को दशायता है। 

ररप्राइव: इसका तात्पयय अथथायी अवलि के ललए लकसी सजा 

(लवशेषकर मरतु्य) के लनष्पादन पर रोक लगाना है। इसका 

उदे्दश्य दोषी को राष्टि पलत से क्षमा या पररवतयन प्राप्त करने 

के ललए समय देना है। 

109. Answer: (A) 

चृंपारण सत्याग्रह के लवरुि था। लतनकलठया प्रणाली के 

तहत, लकरायेदार को लृंबी अवलि के दौरान अपनी जोत के 

तीन कटे्ट प्रलत बीघा (भूलम का 3/20वाृं) पर नील की खेती 

करनी पड़ती थी और ललस्खत समझौते के अनुसार इसके 

ललए मूल्य प्राप्त करने का हकदार था। 

चृंपारण ऐलतहालसक महत्व का के्षत्र है। चृंपारण में ही 

महात्मा गाृंिी ने दलक्षण अफ्रीका से लौटने के बाद, भारतीय 

िरती पर सत्याग्रह के अपने नए हलथयार का परीक्षण 

लकया, लजसे उन्होृंने लवदेशोृं में बनाया था। लतृंकलठया 

प्रणाली 

110. Answer: (A) 

पूवय लवदेश सलचव लनरुपमा राव ने "द फै्रक्चडय लहमालय: 

हाउ द पास्ट शैडोज द पे्रजेंट इन इृंलडया-चाइना ररलेशृंस" 

नामक एक नई पुस्तक ललखी है। पुस्तक वाइलकृं ग पे्रस, 

पेंगुइन रैंडम द्वारा प्रकालशत की गई है। 

पुस्तक दशायती है लक कैसे भारत और चीन के बीच लववाद 

की उत्पलत्त एक जीलवत इलतहास का लहस्सा बनती है जो 

आज उनके टूटे हुए सृंबृंिोृं को आकार देती है। 

111. Answer: (A) 

मौलिक नीलत अलिलनयम में लनलदयष्ट लक्ष्ोृं को प्राप्त करने 

के ललए अपने लनयृंत्रण में मौलिक सािनोृं के उपयोग के 

सृंबृंि में कें िीय बैंक की नीलत को सृंदलभयत करती है। 

भारतीय ररजवय बैंक (RBI) मौलिक नीलत के सृंचालन की 

लजमे्मदारी के साथ लनलहत है। 

112. Answer: (D) 

उत्तर प्रदेश में कोलवड को लनयृंलत्रत करने में आृंगनबाडी 

काययकतायओृं ने अहम भूलमका लनभाई है. इसललए, उनके 

काम को और अलिक कुशल और आसान बनाने के ललए 
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राज्य सरकार ने उन्हें स्माटयफोन उपलब्ध कराने का 

फैसला लकया है। 

इस कदम से आृंगनबाडी काययकतायओृं के कामकाज में 

तेजी आएगी और योजनाओृं के लक्रयान्वयन में ज्यादा से 

ज्यादा पारदलशयता आएगी। 

113. Answer: (C) 

लडस्कवरी ऑफ इृंलडया भारत के पहले प्रिान मृंत्री पृंलडत 

जवाहरलाल नेहरू द्वारा 1942-1945 में अहमदनगर लकले 

में कैद के दौरान भारत की स्वतृंत्रता से पहले लब्रलटश राज 

के दौरान औपलनवेलशक अलिकाररयोृं द्वारा वतयमान 

भारतीय राज्य महाराष्टि  में ललखी गई थी। 

महात्मा गाृंिी द्वारा ललस्खत कुछ महत्वपूणय पुस्तकें  हैं: 

• लहृंद स्वराज या भारतीय गरह लनयम (1909) 

• दलक्षण अफ्रीका में सत्याग्रह (1924, अृंगे्रजी अनुवाद 

1928) 

• एक आत्मकथा या सत्य के साथ मेरे प्रयोगोृं की कहानी 

(1927) 

• सत्य ही ईश्वर है 

• सभी पुरुष भाई हैं 

• आहार और आहार सुिार 

• गाृंिी की आत्मकथा- सृंलक्षप्त 

 • दलक्षण अफ्रीका में सत्याग्रह 

114.  Answer: (C) 

फासीवाद की थथापना प्रथम लवश्व युि के दौरान इतालवी 

राष्टि ीय सृंघवालदयोृं द्वारा की गई थी, लजन्होृंने वामपृंथी 

सृंगठनात्मक रणनीलत और दलक्षणपृंथी राजनीलतक लवचारोृं 

दोनोृं को आकलषयत लकया था। 1920 के दशक की 

शुरुआत में इतालवी फासीवाद दाईृं ओर चला गया। 

115.  Answer: (C) 

कें िीय सूचना और प्रसारण मृंत्रालय ने मलहला 

सशस्क्तकरण, पयायवरण और स्थथरता, और अन्य सलहत 

लवलभन्न लवषयोृं पर पे्ररणादायक भारतीयोृं की सुृंदर 

कहालनयोृं को सामने लाने के ललए नेटस्िक्स के सहयोग 

से बनाई गई एक लघु वीलडयो श्रृंखला 'आजादी की अमरत 

कहानी' लॉन्च की है। दोनोृं ने वीलडयो के पहले सेट का 

लनमायण करने के ललए सहयोग लकया है लजसमें पूरे भारत से 

सात मलहला चेंजमेकसय शालमल हैं जो काृंच की छत को 

तोड़ने में अपने अनुभव साझा करते हैं। 

सात मलहलाएृं  पररवतयन-लनमायता: 

• लपथौरागढ की पद्म पुरस्कार लवजेता पयायवरणलवद् बसृंती 

देवी कोसी नदी को पुनजीलवत करने में उनके योगदान के 

ललए जानी जाती हैं। 

• 2017 में पाृंच लदनोृं में दो बार माउृंट एवरेस्ट फतह करने 

वाली दुलनया की पहली मलहला होने के ललए पद्म श्ी से 

सम्मालनत अृंशु जमसेनपा। 

• भारत में पहली मलहला अलिशामक हलषयनी काने्हकर भी 

लॉन्च में मौजूद थी ृं। 

• पूनम नौलटयाल, एक स्वास्थ्य काययकताय जो उत्तराखृंड के 

बागेश्वर लजले में मीलोृं पैदल चलकर सभी को टीका लगाती 

है। 

• टेसी थॉमस, भारत में लमसाइल पररयोजना का नेतरत्व 

करने वाली पहली मलहला वैज्ञालनक हैं। 

• तन्वी जगदीश, भारत की पहली प्रलतस्पिी मलहला स्टैंड-

अप पैडलबोडयर। 

• आरोही पृंलडत, दुलनया की सबसे कम उम्र की और 

पहली मलहला पायलट हैं, लजन्होृंने एक हले्क-फुले्क लवमान 

में अटलाृंलटक महासागर और प्रशाृंत महासागर को अकेले 

पार लकया। 

116.  Answer: (A) 

रैले आयोग की लनयुस्क्त सर थॉमस रैले की अध्यक्षता में 27 

जनवरी 1902 को भारत में लवश्वलवद्यालयोृं की स्थथलत और 

सृंभावनाओृं की जाृंच करने और उनके सृंलविान और 

कामकाज में सुिार के प्रस्तावोृं की लसफाररश करने के 

ललए की गई थी। 

117.  Answer: (D) 

कें िीय सूचना और प्रसारण मृंत्री श्ी अनुराग ठाकुर ने हाल 

ही में पहले लहमालयन लफल्म महोत्सव का उद्घाटन लकया 

है। पाृंच लदवसीय इस उत्सव का आयोजन 24 से 28 

लसतृंबर 2021 तक लद्दाख के लेह में लकया जा रहा है। 

शेरशाह फेस्स्टवल की ओपलनृंग फीचर लफल्म है। लफल्म 

परमवीर चक्र पुरस्कार लवजेता कैप्टन लवक्रम बत्रा पर 

आिाररत है। महोत्सव के उद्घाटन सत्र में शेरशाह लफल्म 

के लनदेशक लवषु्णवियन और मुख्य अलभनेता लसिाथय 

मल्होत्रा शालमल हुए। 

118.  Answer: (B) 

2011 की जनगणना के पररणामोृं के अनुसार, केरल राज्य 

का ललृंगानुपात 1084 है। 2001 की जनगणना की तुलना 

में, ललृंगानुपात में 26 अृंकोृं का सुिार हुआ है। उच्चतम 

ललृंगानुपात कनू्नर लजले (1136) में है जबलक सबसे कम 

ललृंगानुपात इडुक्की लजले (1006) में दजय लकया गया है। 

119.  Answer: (D) 

सावयजलनक लवतरण प्रणाली (PDS): 

सावयजलनक लवतरण प्रणाली (PDS) सस्ती कीमतोृं पर 

खाद्यान्न के लवतरण के माध्यम से कमी के प्रबृंिन की एक 

प्रणाली के रूप में लवकलसत हुई। लपछले कुछ वषों में, 

PDS देश में खाद्य अथयव्यवथथा के प्रबृंिन के ललए सरकार 

की नीलत का एक महत्वपूणय लहस्सा बन गया है। 

चूृंलक हररत क्राृंलत के बाद राष्टि ीय कर लष उत्पादन में वरस्ि हुई 

थी, पीडीएस की पहुृंच आलदवासी ब्लॉकोृं और 1970 और 

1980 के दशक में गरीबी की उच्च घटनाओृं वाले के्षत्रोृं 

तक बढा दी गई थी। 

जून, 1997 में, भारत सरकार ने गरीबोृं पर ध्यान कें लित 

करते हुए ललक्षत सावयजलनक लवतरण प्रणाली (TPDS) शुरू 

की। 

पुनोत्थान सावयजलनक लवतरण प्रणाली (RPDS) जून 1992 

में शुरू की गई थी तालक PDS को मजबूत और 

सुव्यवस्थथत करने के साथ-साथ दूर-दराज, पहाड़ी, दूरथथ 

और दुगयम के्षत्रोृं में इसकी पहुृंच में सुिार लकया जा सके 

जहाृं गरीबोृं का एक बड़ा वगय रहता है। . 

120.  Answer: (A) 

लवक्टोररया मेमोररयल: 

लवक्टोररया मेमोररयल कोलकाता के प्रलसि और खूबसूरत 

स्मारकोृं में से एक है। इसे 1906 और 1921 के बीच 

महारानी लवक्टोररया के भारत में 25 साल के शासन के 

उपलक्ष् में बनाया गया था। 1857 के लसपाही लविोह के 

बाद, लब्रलटश सरकार ने सीिे देश के लनयृंत्रण की बागडोर 

अपने हाथ में ले ली और 1876 में लब्रलटश सृंसद ने 

लवक्टोररया को भारत की महारानी बना लदया। 1901 में 

उनकी मरतु्य के साथ उनका शासन समाप्त हो गया। 

लॉडय कजयन, जो उस समय भारत के वायसराय थे, ने 

जनवरी 1901 में महारानी लवक्टोररया की मरतु्य पर उनके 

ललए एक 'शानदार' स्मारक थथालपत करने का सवाल 

जनता के सामने रखा। भारत के राजकुमारोृं और लोगोृं ने 

http://bit.ly/TesMusPrime
https://tesmus.com/


SSC_CGL_MAINS_ 2023                             TEST ID – LBL - 897013232 

 

 

 

App :- http://bit.ly/TesMusPrime                       11 | P a g e                 Web :- https://tesmus.com  

िन के ललए उनकी अपील का उदारतापूवयक जवाब लदया 

और लॉडय कजयन ने इस स्मारक के लनमायण की कुल लागत 

एक करोड़, पाृंच लाख रुपये (1,05,00,000 रुपये) की 

सै्वस्च्छक सदस्यता से प्राप्त की। वेल्स के राजकुमार, लकृं ग 

जॉजय पृंचम ने 4 जनवरी, 1906 को आिारलशला रखी और 

इसे औपचाररक रूप से 1921 में जनता के ललए खोल 

लदया गया। 

121.  Answer: (C) 

पृंजाब लहमालय: 

पलिमी लहमालय, लजसे पृंजाब लहमालय भी कहा जाता है, 

लवशाल लहमालय पवयत श्रृंखला का सबसे पलिमी भाग है। 

यह मुख्य रूप से उत्तरी भारतीय उपमहाद्वीप के लववालदत 

कश्मीर के्षत्र में स्थथत है - लजसमें भारत और पालकस्तान 

द्वारा प्रशालसत भाग शालमल हैं - और लहमाचल प्रदेश राज्य, 

भारत के उत्तर-पलिमी भाग में भी। 

नेपाल लहमालय: 

नेपाल लहमालय, पूवय-मध्य खृंड और दलक्षण-मध्य एलशया में 

लहमालय पवयत श्रृंखला का सबसे ऊृं चा लहस्सा, काली नदी 

से पूवय में लतस्ता नदी तक लगभग 500 मील (800 लकमी) 

तक फैला हुआ है। 

कुमाऊृं  लहमालय: 

कुमाऊृं  लहमालय, उत्तर भारत में लहमालय का पलिम-मध्य 

खृंड, सतलुज नदी से पूवय में काली नदी तक 200 मील 

(320 लकमी) तक फैला हुआ है। 

असम लहमालय: 

असम लहमालय, महान लहमालय का पूवी भाग, लसस्क्कम 

राज्य (भारत) और भूटान में पूवय की ओर, उत्तरी असम 

और अरुणाचल प्रदेश राज्योृं (भारत) में और लतब्बत 

स्वायत्त के्षत्र (चीन) के साथ सीमा पर फैला हुआ है। 

122.  Answer: (A) 

भारत 12 से 15 लसतृंबर 2022 तक लदल्ली में लवश्व डेयरी 

लशखर समे्मलन (WDS) 2022 की मेजबानी करेगा। 

इसका आयोजन अृंतरायष्टि ीय डेयरी महासृंघ (IDF) द्वारा 

'पोषण और आजीलवका के ललए डेयरी' लवषय के तहत 

लकया जाएगा। यह लशखर समे्मलन कोलवड-19 महामारी 

के कारण दो साल के अृंतराल के बाद आयोलजत होने जा 

रहा है। 

नोट: भारत ने लपछली बार वषय 1974 में अृंतरायष्टि ीय डेयरी 

काृंगे्रस की मेजबानी की थी। 

123.  Answer: (D) 

जन गण मन: 

कलवता जनवरी 1912 में तत्वबोलिनी पलत्रका में भारत 

भाग्य लबिाता शीषयक के तहत प्रकालशत हुई थी, जो 

तत्कालीन सृंपादक टैगोर के साथ ब्रह्म समाज का 

आलिकाररक प्रकाशन था। 

124.  Answer: (D) 

सत्यशोिक समाज 24 लसतृंबर 1873 को पुणे, भारत में 

महात्मा ज्योलतबा फुले द्वारा थथालपत एक सामालजक सुिार 

समाज है। 

इसका उदे्दश्य शूि और अछूत जालतयोृं को शोषण और 

उत्पीड़न से मुक्त करना था। 

125.  Answer: (C) 

माउृंट मेरापी, इृंडोनेलशया के योग्याकाटाय प्राृंतोृं के मध्य 

जावा और लवशेष के्षत्र के बीच की सीमा पर स्थथत एक 

सलक्रय स्टि ैटोवोलकानो है। यह इृंडोनेलशया का सबसे 

सलक्रय ज्वालामुखी है जो हाल ही में फटा था। 

 

126.  Answer: (D) 

लवश्व आलथयक आउटलुक (WEO) अृंतरायष्टि ीय मुिा कोष 

(IMF) की एक ररपोटय है जो IMF के अपने सदस्य देशोृं में 

आलथयक लवकास और नीलतयोृं की लनगरानी के प्रमुख भागोृं 

का लवशे्लषण करती है। 

127.  Answer: (D) 

सृंपूणय प्रलतयोलगता: 

पूणय प्रलतयोलगता एक आदशय प्रकार की बाजार सृंरचना है 

जहाँ सभी उत्पादकोृं और उपभोक्ताओृं के पास पूणय और 

समलमत जानकारी होती है, कोई लेन-देन लागत नही ृं होती 

है, जहाँ बड़ी सृंख्या में उत्पादक और उपभोक्ता एक दूसरे 

के साथ प्रलतस्पिाय करते हैं। 

पूणय प्रलतयोलगता सैिाृंलतक रूप से एकालिकार बाजार के 

लवपरीत है। 

चूृंलक सभी वास्तलवक बाजार सही प्रलतस्पिाय मॉडल के 

लवमान के बाहर मौजूद हैं, प्रते्यक को अपूणय के रूप में 

वगीकर त लकया जा सकता है। 

128. Answer: (C) 

एडवडय जेनर एक अृंगे्रजी लचलकत्सक और वैज्ञालनक थे, जो 

चेचक के टीके, दुलनया के पहले टीके के अग्रदूत थे। 

129. Answer: (D) 

फे्रडररक सेंगर एकमात्र ऐसे व्यस्क्त हैं लजन्हें दो बार 

रसायन लवज्ञान में नोबेल पुरस्कार से सम्मालनत लकया गया 

है, और केवल चार दो बार के नोबेल पुरस्कार लवजेताओृं में 

से एक है। 

130. Answer: (D) 

माबयल कैं सर सल्फ्यूररक एलसड और नाइलटि क एलसड की 

लक्रया द्वारा कृं चे से बनी इमारतोृं और मूलतययोृं के क्षरण को 

सृंदलभयत करता है। प्रदूषण में मौजूद SO2 और NOx इन 

इमारतोृं पर जमा हो जाते हैं। ये ऑक्साइड हवा से नमी को 

अवशोलषत करते हैं और सृंबृंलित एलसड में पररवलतयत हो 

जाते हैं और जृंग का कारण बनते हैं।  

Computer Knowledge 

131.  Answer: (D) 

डेटा बस एक कृं पू्यटर या लडवाइस के भीतर एक प्रणाली 

है, लजसमें एक कनेक्टर या तारोृं का सेट होता है, जो डेटा 

के ललए पररवहन प्रदान करता है। 

डेटा को तेजी से थथानाृंतररत करने के ललए लडलजटल 

लसिल के ललए एक बस एक मागय है। 

प्रोसेसर से जुड़ी तीन आृंतररक बसें हैं: डेटा बस, एडि ेस बस 

और कृं टि ोल बस। 

प्रते्यक डेटा बस को एक समय में इतने सारे डेटा को 

सृंभालने के ललए लडजाइन लकया गया है। 

डेटा बस लजतना डेटा सृंभाल सकती है उसे बैंडलवड्थ 

कहा जाता है। 

132.  Answer: (A) 

एक के्वरी डेटाबेस ताललका या ताललकाओृं के सृंयोजन से 

डेटा या जानकारी के ललए अनुरोि है। 

यह डेटा सृंरलचत के्वरी भाषा (SQL) द्वारा लौटाए गए 

पररणामोृं के रूप में या सलचत्र, ग्राफ़ या जलटल पररणामोृं 

के रूप में उत्पन्न हो सकता है। 

कई अलग-अलग के्वरी भाषाओृं में से एक का उपयोग 

सरल से जलटल डेटाबेस प्रश्नोृं की एक श्रृंखला को करने के 

ललए लकया जा सकता है। 
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SQL, सबसे प्रलसि और व्यापक रूप से उपयोग की जाने 

वाली के्वरी भाषा, अलिकाृंश डेटाबेस व्यवथथापकोृं (DBA) 

से पररलचत है। 

के्वरी भाषाएृं  फ़ृं क्शन के अनुसार लवलभन्न डेटा प्रकार उत्पन्न 

करती हैं। 

उदाहरण के ललए, SQL साफ-सुथरी पृंस्क्तयोृं और स्तृंभोृं में 

डेटा लौटाता है और लदखने में Microsoft Excel के समान 

है। 

133.  Answer: (B) 

एक स्टाइलस एक पेन के आकार का एक उपकरण है, 

लजसे ग्रालफक्स टैबलेट या टच स्क्रीन इनपुट का उपयोग 

करने वाले उपकरणोृं के साथ उपयोग करने के ललए 

लडजाइन लकया गया है। इसका उपयोग स्क्रीन पर ललखने 

या डि ा करने के ललए लकया जाता है, ठीक उसी तरह जैसे 

आप कागज की शीट पर करते हैं। स्टाइलस का माउस या 

टचपैड के समान कायय होता है जो पॉइृंलटृंग लडवाइस के 

रूप में होता है। 

कृं पू्यलटृंग लडवाइस में स्टाइलस का पहला उपयोग 

स्टाइललेटर था, लजसे टॉम लडमोृंड द्वारा 1957 में प्रदलशयत 

लकया गया था। 

प्लॉटर एक लप्रृंटर की तरह एक कृं पू्यटर हाडयवेयर लडवाइस 

है लजसका उपयोग वेक्टर ग्रालफक्स को लप्रृंट करने के ललए 

लकया जाता है। 

लप्रृंटर एक पररिीय मशीन है जो आमतौर पर कागज पर 

ग्रालफक्स या टेक्स्ट का लगातार प्रलतलनलित्व करता है। 

जॉयस्स्टक एक इनपुट लडवाइस है जो आमतौर पर गेलमृंग 

अनुप्रयोगोृं को लनयृंलत्रत करने के ललए उपयोग लकया जाता 

है और ग्रालफक्स अनुप्रयोगोृं में उपयोग लकया जाता है। 

134.  Answer: (D) 

Microsoft Excel और अन्य से्प्रडशीट प्रोग्राम में, 'Ctrl + 

Space' दबाने से सलक्रय सेल वाले पूरे कॉलम का चयन हो 

जाता है। 

एक या अलिक पृंस्क्तयोृं और स्तृंभोृं का चयन करने के ललए 

लनम्नललस्खत चरणोृं पर लवचार करें : 

चरण: # 1 सृंपूणय कॉलम का चयन करने के ललए शीषय पर 

अक्षर का चयन करें  या कॉलम में लकसी भी सेल पर स्िक 

करें  और लफर Ctrl + Space दबाएृं । 

चरण: #2 पूरी पृंस्क्त का चयन करने के ललए पृंस्क्त सृंख्या 

का चयन करें  या पृंस्क्त में लकसी भी सेल पर स्िक करें  

और लफर Shift + Space दबाएृं । 

चरण: #3 गैर-आसन्न पृंस्क्तयोृं या स्तृंभोृं का चयन करने के 

ललए, Ctrl दबाए रखें और पृंस्क्त या स्तृंभ सृंख्याओृं का 

चयन करें। 

135.  Answer: (A) 

SMPS,स्स्वच्ड-मोड पावर सप्लाई के ललए खड़ा है। यह 

एक इलेक्टि ॉलनक लबजली की आपूलतय है जो लवद्युत शस्क्त 

को कुशलतापूवयक पररवलतयत करने के ललए एक स्स्वलचृंग 

लनयामक का उपयोग करती है। इसे स्स्वलचृंग मोड पावर 

सप्लाई के नाम से भी जाना जाता है। 

यह लबजली आपूलतय इकाई (पीएसयू) है लजसका उपयोग 

आमतौर पर कृं पू्यटर में वोले्टज को कृं पू्यटर स्वीकायय सीमा 

में बदलने के ललए लकया जाता है। 

इस लडवाइस में पावर हैंडललृंग इलेक्टि ॉलनक घटक हैं जो 

लवद्युत शस्क्त को कुशलता से पररवलतयत करते हैं। 

एसएमपीएस समग्र लबजली हालन को कम करने के ललए 

एक महान लबजली रूपाृंतरण तकनीक का उपयोग करता 

है। लडवाइस स्स्वलचृंग रेगुलेटर का उपयोग करता है जो 

आउटपुट वोले्टज को लवलनयलमत और स्थथर करने के ललए 

लोड करृंट को चालू और बृंद करता है। 

136.  Answer: (B) 

Linux UNIX पर आिाररत एक मुक्त ओपन-सोसय 

ऑपरेलटृंग लसस्टम (OS) है लजसे 1991 में Linus Torvalds 

द्वारा बनाया गया था। 

ललनक्स को आमतौर पर ललनक्स लवतरण में पैक लकया 

जाता है। यह सवयर और अन्य बडे़ आयरन लसस्टम जैसे 

मेनफे्रम कृं पू्यटर पर अग्रणी ऑपरेलटृंग लसस्टम है, और 

TOP500 सुपर कृं पू्यटर पर उपयोग लकया जाने वाला 

एकमात्र OS है। 

ललनक्स का सबसे आम उपयोग सवयर के रूप में होता है, 

लेलकन इसका उपयोग डेस्कटॉप कृं पू्यटर, स्माटयफोन, ई-

बुक रीडर और गेलमृंग कृं सोल में भी लकया जाता है। 

137.  Answer: (C) 

मेश टोपोलॉजी एक नेटवकय  सेटअप है जहाृं प्रते्यक 

कृं पू्यटर और नेटवकय  लडवाइस एक दूसरे से जुडे़ होते हैं। 

यह टोपोलॉजी सेटअप अलिकाृंश प्रसारणोृं को लवतररत 

करने की अनुमलत देता है, भले ही एक कनेक्शन नीचे चला 

जाए। 

यह आमतौर पर वायरलेस नेटवकय  के ललए उपयोग की 

जाने वाली एक टोपोलॉजी है और इसकी लवश्वसनीयता 

सबसे अलिक है। 

यह एक थथानीय नेटवकय  टोपोलॉजी है लजसमें इन्फ्फ्रास्टि क्चर 

नोड्स सीिे, गलतशील और गैर-शे्णीबि रूप से अलिक से 

अलिक अन्य नोड्स से जुड़ते हैं। 

वे आम तौर पर होम ऑटोमेशन, स्माटय एचवीएसी कृं टि ोल 

और स्माटय लबस्डृंग जैसी चीजोृं के ललए उपयोग लकए जाते 

हैं। 

138.  Answer: (A) 

माइक्रोसॉफ्ट ने 24 जून, 2021 को आलिकाररक तौर पर 

अपना नया लवृंडोज ऑपरेलटृंग लसस्टम 'लवृंडोज 11' लॉन्च 

लकया है। इसे लवृंडोज की "नेक्स्ट जेनरेशन" कहा जा रहा 

है। 

139.  Answer: (B) 

बैंडलवड्थ को डेटा की क्षमता के रूप में पररभालषत लकया 

जाता है लजसे एक लवलशष्ट अवलि में थथानाृंतररत लकया 

जाना है। 

यह नेटवकय  या टि ाृंसलमशन माध्यम की डेटा ले जाने की 

क्षमता है। 

यह आमतौर पर प्रलत सेकृं ड लबट्स, मेगालबट्स या 

गीगालबट्स में व्यक्त लकया जाता है। 

दूरसृंचार में, बैंडलवड्थ उस सीमा को सृंदलभयत करता है जो 

आवरलत्तयोृं के एक बैंड के भीतर एक सृंकेत देता है। 

इस प्रकार की बैंडलवड्थ को हट्यज (हट्यज) में मापा जाता है 

और इसकी गणना लसिल की ऊपरी और लनचली आवरलत्त 

सीमा के बीच के अृंतर को ज्ञात करके की जाती है। 

140.  Answer: (D) 

एक जम्पर एक छोटा िातु कनेक्टर होता है लजसका 

उपयोग लवद्युत सलकय ट के लहसे्स को बृंद या खोलने के 

ललए लकया जाता है। इसे दोहरे इन-लाइन पैकेज (DIP) 

स्स्वच के लवकल्प के रूप में इसे्तमाल लकया जा सकता है। 

जृंपसय कृं पू्यटर हाडयवेयर के साथ-साथ अन्य प्रकार के 

इलेक्टि ॉलनक उपकरणोृं में पाए जाते हैं। 

एक जम्पर में दो या दो से अलिक कनेस्क्टृंग पॉइृंट होते हैं , 

जो एक इलेस्क्टि कल सलकय ट बोडय को रेगुलेट करते हैं। 
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यह एक छोटा िातु कनेक्टर है जो ऑन/ऑफ स्स्वच के 

रूप में कायय करता है। 

एक हाडयवेयर लडवाइस के ललए सेलटृंग्स को कॉस्न्फ्फ़गर 

करने के ललए अक्सर कई जृंपसय का एक साथ उपयोग 

लकया जाता है। 

141.  Answer: (A) 

एक अशक्त चररत्र एक ऐसा चररत्र है लजसके सभी लबट्स 

शून्य पर सेट होते हैं। 

इसका सृंख्यात्मक मान शून्य है और इसका उपयोग वणों 

की एक स्स्टि ृंग के अृंत का प्रलतलनलित्व करने के ललए लकया 

जा सकता है, जैसे शब्द या वाक्ाृंश। 

एक अशक्त चररत्र को अशक्त टलमयनेटर के रूप में भी 

जाना जाता है। 

यह अलिकाृंश प्रमुख प्रोग्रालमृंग भाषाओृं और ASCII और 

यूलनकोड सलहत कई प्रमुख वणय सेटोृं में उपलब्ध है। 

प्रोग्रालमृंग भाषाओृं और अनुप्रयोगोृं में नल कैरेक्टर का 

व्यापक कायायन्वयन है। 

व्यावहाररक अनुप्रयोगोृं में, जैसे डेटाबेस और सै्प्रडशीट 

प्रोग्राम, ररक्त वणों को ररक्त थथान के ललए भराव के रूप 

में उपयोग लकया जाता है। 

142.  Answer: (D) 

एक मेटाफ़ाइल एक फ़ाइल है लजसमें लकसी अन्य फ़ाइल 

के ललए लवलनदेश होते हैं। 

मेटाफाइल आमतौर पर लडलजटल ग्रालफक्स, लवशेष रूप से 

वेक्टर छलवयोृं से जुडे़ होते हैं। 

एक मेटाफ़ाइल दो अलग-अलग प्रकार की कृं पू्यटर 

फ़ाइलोृं को सृंदलभयत कर सकता है। 

पहली एक फाइल है जो अन्य फाइलोृं की सामग्री का वणयन 

करती है। 

इस प्रकार के मेटाफ़ाइल में मेटाडेटा हो सकता है, जो एक 

समूह को अन्य फ़ाइलोृं को पररभालषत करता है और यह 

बताता है लक उनमें कौन सा डेटा है। 

दूसरे प्रकार की मेटाफ़ाइल का उपयोग अक्सर कृं पू्यटर 

ग्रालफक्स में लकया जाता है। 

ये फ़ाइलें लनदेशाृंक की सूची का उपयोग करके वसु्तओृं 

और छलवयोृं को पररभालषत करती हैं। 

143.  Answer: (C) 

माइसे्पस एक अमेररकी सोशल नेटवलकां ग सेवा है जो 

2005-2008 तक दुलनया की सबसे बड़ी सोशल नेटवलकां ग 

साइट थी। 

माइसे्पस को पहली बार टॉम एृं डरसन और लक्रस डीवॉल्फ 

ने जुलाई 2003 में बनाया था। 

यह एक ऑनलाइन समुदाय के रूप में बनाया गया था 

तालक कोई भी अपनी पलत्रकाओृं, लचत्रोृं, सृंगीत और रुलचयोृं 

को दोस्तोृं के साथ जोड़ सके और साझा कर सके। 

जुलाई 2005 में नू्यज कॉपोरेशन द्वारा माइसे्पस का 

अलिग्रहण लकया गया था। 

यह वैलश्वक दशयकोृं तक पहुृंचने वाला पहला सामालजक 

नेटवकय  था। 

144.  Answer: (D) 

तीसरी पीढी के कृं पू्यटरोृं में दूसरी पीढी के कृं पू्यटरोृं में 

प्रयुक्त होने वाली टि ाृंलजस्टर तकनीक के थथान पर एकीकर त 

पररपथोृं का प्रयोग लकया जाता था। इसकी समयावलि 

1964 से 1970 के आसपास थी। 

एक एकीकर त सलकय ट एक छोटी सी लचप है जो तीसरी पीढी 

के कृं पू्यटरोृं का टि ेडमाकय  था। 

तीसरी पीढी के कृं पू्यटरोृं में उपयोग लकया जाने वाला 

एकीकर त सलकय ट कृं पू्यटर मेमोरी, माइक्रोप्रोसेसर या यहाृं 

तक लक एक एम्पलीफायर के रूप में काम कर सकता है। 

तीसरी पीढी के कृं पू्यटरोृं में उपयोग की जाने वाली 

तकनीक ने उन्हें पहली और दूसरी पीढी के कृं पू्यटरोृं की 

तुलना में अलिक लवश्वसनीय, कुशल और आकार में छोटा 

बना लदया। 

145.  Answer: (A) 

टि ोजन हॉसय एक प्रकार का दुभायवनापूणय कोड या 

सॉफ़्टवेयर है जो देखने में तो वैि लगता है लेलकन आपके 

कृं पू्यटर को लनयृंलत्रत कर सकता है। 

इसे आपके डेटा या नेटवकय  को नुकसान पहुृंचाने, बालित 

करने, चोरी करने या सामान्य रूप से कुछ अन्य 

हालनकारक कारयवाई करने के ललए लडजाइन लकया गया है। 

यह आपको बरगलाने के ललए एक प्रामालणक एस्प्लकेशन 

या फ़ाइल की तरह काम करता है। 

यह आपको आपके लडवाइस पर मैलवेयर लोड करने और 

लनष्पालदत करने के ललए िोखा देने का प्रयास करता है। 

जब उपयोगकताय प्रोग्राम लनष्पालदत करता है, तो मैलवेयर 

अन्य फ़ाइलोृं में फैल सकता है और आपके कृं पू्यटर को 

नुकसान पहुृंचा सकता है। 

146.  Answer: (A) 

रीसायकल लबन एक ऐसा थथान है जहाृं लवृंडोज 95 के बाद 

से हटाई गई फाइलें या फ़ोडसय माइक्रोसॉफ्ट लवृंडोज के 

हर सृंस्करण में अथथायी रूप से सृंग्रहीत हैं। 

रीसायकल लबन उपयोगकतायओृं को लवृंडोज में हटाई गई 

फ़ाइलोृं को पुनप्रायप्त करने की अनुमलत देता है। 

हटाई गई फ़ाइलें हाडय डि ाइव से थथायी रूप से नही ृं हटाई 

जाती हैं, बस्ल्क रीसायकल लबन में भेजी जाती हैं, जब तक 

लक वे बहुत बड़ी न होृं। रीसायकल लबन में फ़ाइलोृं को 

उनके मूल थथान पर पुनथथायलपत लकया जा सकता है। 

जब वे रीसायकल लबन में होृं तो उनका सीिे उपयोग नही ृं 

लकया जा सकता है। 

147.  Answer: (C) 

एक उच्च स्तरीय भाषा (HLL) एक प्रोग्रालमृंग भाषा है जो 

एक प्रोग्रामर को ऐसे प्रोग्राम ललखने में सक्षम बनाती है जो 

कमोबेश एक लवशेष प्रकार के कृं पू्यटर से स्वतृंत्र होते हैं। 

ऐसी भाषाओृं को उच्च-स्तरीय माना जाता है क्ोृंलक वे 

मानव भाषाओृं के करीब हैं और मशीनी भाषाओृं से आगे 

हैं। उच्च-स्तरीय भाषाओृं को मानव ऑपरेटर या प्रोग्रामर 

द्वारा उपयोग लकए जाने के ललए लडजाइन लकया गया है। 

बेलसक, C/C++, फोरटि ान, प्रोलॉग और जावा उच्च स्तरीय 

भाषाओृं के लोकलप्रय उदाहरण हैं। 

असेंबली भाषाओृं को लनम्न-स्तर माना जाता है क्ोृंलक वे 

मशीनी भाषाओृं के बहुत करीब हैं। 

148.  Answer: (C) 

एक लसृंटैक्स तु्रलट एक प्रोग्रामर द्वारा दजय की गई कोलडृंग 

या प्रोग्रालमृंग भाषा के लसृंटैक्स में एक तु्रलट है। 

लसृंटेक्स तु्रलटयोृं को एक सॉफ्टवेयर प्रोग्राम द्वारा पकड़ा 

जाता है लजसे कृं पाइलर कहा जाता है। 

प्रोग्राम को सृंकललत करने और लफर चलाने से पहले 

प्रोग्रामर को उन्हें ठीक करना होगा। 

लसृंटैक्स तु्रलटयाँ उन तु्रलटयोृं से लभन्न होती हैं जो रन टाइम के 

दौरान प्रोग्राम को प्रभालवत करती हैं। 

लसृंटैक्स तु्रलटयाृं छोटी व्याकरण सृंबृंिी गललतयाृं होती हैं , जो 

कभी-कभी एक वणय तक सीलमत होती हैं। 
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उदाहरण के ललए, लकसी पृंस्क्त के अृंत में एक लापता 

अियलवराम या लकसी फ़ृं क्शन के अृंत में एक अलतररक्त 

बै्रकेट एक लसृंटैक्स तु्रलट उत्पन्न कर सकता है। 

149.  Answer: (D) 

एक िो चाटय एक प्रकार का आरेख है जो लवलभन्न प्रतीकोृं 

का उपयोग करके एक प्रलक्रया का प्रलतलनलित्व करता है 

लजसमें चरणोृं या घटनाओृं के अनुक्रम के बारे में जानकारी 

होती है। 

इनमें से प्रते्यक प्रतीक प्रलक्रया की प्रवाह लदशा को दशायने 

के ललए तीरोृं से जुड़ा हुआ है। 

यह एक प्रलक्रया या काययक्रम का लवशे्लषण, सुिार, 

दस्तावेज और प्रबृंिन करने के ललए उपयोग की जाने वाली 

पिलत है। 

फ़्लोचाटय का उपयोग आमतौर पर व्यावसालयक योजनाओृं 

को लवकलसत करने, एल्गोररदम को लडजाइन करने और 

समस्या लनवारण चरणोृं को लनिायररत करने में लकया जाता 

है। 

िो चाटय का उदे्दश्य लोगोृं को एक पररयोजना या प्रलक्रया 

के साथ काम करते समय एक सामान्य भाषा या सृंदभय लबृंदु 

प्रदान करना है। 

150.  Answer: (C) 

एक पैच एक सॉफ्टवेयर अपडेट होता है लजसमें एक 

लनष्पादन योग्य प्रोग्राम के कोड में डाला गया कोड होता 

है। 

यह सॉफ़्टवेयर का एक छोटा सा टुकड़ा है लजसका 

उपयोग लकसी ऑपरेलटृंग लसस्टम या सॉफ़्टवेयर प्रोग्राम के 

भीतर लकसी समस्या को ठीक करने के ललए लकया जाता 

है, लजसे आमतौर पर बग कहा जाता है। 

इन महत्वपूणय अद्यतनोृं को छोड़ देने से आपका कृं पू्यटर, 

फ़ोन या अन्य उपकरण मैलवेयर के हमलोृं के ललए खुला 

रह सकता है, लजसे रोकने के ललए पैच का इरादा है। 

लवृंडोज में, अलिकाृंश पैच, लफक्स और हॉटलफक्स लवृंडोज 

अपडेट के माध्यम से उपलब्ध कराए जाते हैं। 
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